VARIABLE DISPLACEMENT VANE PUMP

Single pump VP-F8, F15, F20, F23, F26, F30, F40 P 1~5
Double pump DVP-F12+12, F15+15, F20+20, F23+23, F26+26, F30+30, F40+40 P 6~7
Variable displacement vane pump+gear pump VPG-F23~F40+HGP-2A P8
High pressure variable displacement vane pump VP5-F20, F25, F30, F40, F54, F70, F86 P 9~12
High pressure variable displacement double vane pump VP5-F 3¢ + 3% P13
AXIAL PISTON PUMP

V-series V15-V70 P 14~46
VR-series VR15-VR38 Dimensions P 47
Tandem pump V series P 48
AR-series AR16~AR22 P. 49~50
PV-series PV016~PV270 P 51~74
Tandem pump PV series P 75
PVS, PZS-series PVS-0B-8~PVS-2B-45, PZS-3B-70~PZS-4B-100 P. 76~80
FIXED DISPLACEMENT VANE PUMP

Low pressure single pump 50T, 150T P 81~84
Low pressure vane pump+gear pump 50T+HGP-2A(3A), 150T+HGP-2A(3A) P 85
Low pressure single pump HVP-FAI, DS-11~DS-14 P. 86~87
High pressure single pump PV2R1, PV2R2, PV2R3 P 88~90
High pressure double pump PV2R12, PV2R13, PV2R23 P 91
High pressure single pump VQ15~VQ45, SVQ25~SVQ45, DVQ20~DVQ45, HVQ20 P.92~100
High pressure double pump VQ215~VQ435, SVQ215~SVQ435, DVQ425~DVQ435 P 101~107
High pressure single pump KT6C, KT6D, KT6E, KT6DS, KT6GC, KT7B, KT7BS P 108~116
High pressure double pump KT6CC, KT6DC, KT6EC, KT6ED, KT6GCC P 117~123
High pressure triple pump KT6DCC P 124~125
GEAR PUMP

Single pump HGP-05A, HGP-1A, HGP-2A, HGP-3A P 126~132
Double gear pump HGP-22A, HGP-33A P 133~134
Gear pump with relief valve PR1, PR2 P 135~136
Gear pump with relief valve +lift valve PR1+V2064, PR2+\V2064 P 137~138
DUMP HOIST PUMP

KP-35, KP-55, KP-75, KP-1403 P.139~140
HAND PUMP, FOOT PUMP, AIR HYDRAULIC PUMP, HI-PRESSURE HAND VALVE

H-B, H-A, H-A2, H-C, F-B, F-C, AP-801, AP-901, AP-1000, AP-3000, AP-3001, HV-700 P 141~142
SYNCHRONOUS FLOW DIVIDER

DFM-302~DFM-304 P 143
HYDRAULIC MOTOR

Radial hydraulic piston motor B1-MRCN 200~B5-MRCN 3500 P. 144~150
High performance vane motor KVM4C, 4SC, 4D, 4SD P 151~154
Gear motor 2MM2U, 2MM1U RPRI5S
POWER PACK

Manifold functions, DC, AC motors and Specifications P. 156~159
ELECTRIC MOTOR

Hollow shaft type P. 160~164
LUBRICATOR

One-way rotation oil pump ROP 10A~13A, electro-magnetic coolant pump WE, WL P 165
Manual operated lubricator LT series P 166
Motor-type engine oil/grease oiler MSK, KCMM, TM series P.167~175



VARIABLE DISPLACEMENT
VANE PUMP

out

Symbol

%
z

VP-F8, 12, 15, 20

How to order
VP - F 15 - A 3 - 3
1 2 3 4 5 6
1 Variable pump
2 F: Flange mounting type
3 Nominal No-Load displacement
4 A: Sharp cut-off type
5 Pressure adjusting range
6 Shaft diameter:  None: 12.7 (standard) B: 15.88
Specifications
e D opad U place B Pre B Rated NCCU [ & Pre e [e
. A 800 rp AYe R ge (D Max. Min. PDa 0
VP-F8 8 1:3-20 4.8
VP-F12 12 4.8
2:15-55 1800 800 70
VP-F15 15 5.2
VP-F20 20 8:30-70 5.2
Dimensions
PRESSURE ADJUSTMENT Unit:mm
101 &5
26 _
E Shafl Dia. | A B (=] D
Standard |@12.7 | 36 (3175 [143
CASEDRAIN _ : | Btype |@1s8s| 32 | 4« |76
; Prive %\\ .
PT 1/2° I —; PT3/8" E pewy e
S : /mscams PORT ~
g il DU}.\ T +0
g @ @J-: % I . J o —'CI rrl-u
] ' - 2 & o C'
:J.—_.- | . fh 7D Al ?; 7
i | N | ol it
N0/ 9 1]
Lﬂ::r———/ H_ A Iﬂm
106 446 45 B

P1




VARIABLE DISPLACEMENT
VANE PUMP

Symbol

VP-F23, 26, 30, 40

How to order

%

3 5

Variable pump

F: Flange mounting type
Nominal no-load displacement
A: Sharp cut-off type

VP -F 30 - A
1 2 4

1

2

3

4

5

Pressure adjusting range

Specifications

O opad D place P U P C > a °

el D A BOO rp AYe Range (ba Max. Min. of: .

VP-F23 23 1320 9

VP-F26 26 9
2:15-55 1800 800 70

VP-F30 30 9

VP-F40 40 3:30-70 o

Dimensions

PRESSURE ADJUSTMENT )
e Unit:mm
ﬁ CASE DRAIN PT 1/4"
4211
2-M12X1.75P \
:: = {;’\ WODDRUFF KEY
= NO.607
I o — )
g ’@ |@ DISCHARGE 22 476 -0.021
DKL % 4 o
g /‘,‘/’N e of\ "'gg g .[\
- b 3 S
O e 2 2]
Iz ‘ g
5
wse 4 IO , -
SUCTION —\# R - @19.05 .0.021
PORT _J
4
: 35 | 25|
EUD) 615 a7
&0 &0 150

78
[/ VOLUME ADJUSTMENT

P2




VARIABLE DISPLACEMENT
VANE PUMP

VP-F8 VP-F12
8 1800 rpm Q 16
14
———] . 1500
26 M S =1 1400 o 5
g Z g T =
) z E 10 Jé""" 15 2
: \ = i A =
g4 ™ 08 T £ s 2
& wiTEs I\ \| 3 & \\} g
= it /"f;wy 0.6 = 5 6 M/ 1 =
g2 = \ 04 24 |2 g \\ Lin
S ] DR } Lin g, |4 ] PR (kw)
1 \\ 0.2 (1) o e — Y 0.5
= 0 0

0 10 20 30 40 50 60 0 [} 10 20 30 40 50 60 70
Pressure (bar) Pressure (bar)
VP-F15 VP-F20
| 1800 ipm | Q
16 —_ 00rpm | Q i
14
T 1| 150¢rpm = ——“—lsmizm
£ = £ 15 - o
5 N s % = \ £
: N\ & : 0 &
= 8 = 2 10 2 2
:T: 6 \an W 1 g‘ EH-? -““3‘\ AN \\ 1.5 g
g Lin—{zgo rp - 2 Lin (88 A7 "\ \\ o=
B 4 2 | — DR | Lin 5 5|3 s OO B 1 Lin
A \ 05(kw) ° b g 0.5 (kw)
0
0 10 20 36 40 S0 60 70 0 10 20 30 40 50 60 -70 0
Pressure (bar) Pressure (bhar)
VP-F26
ki)
. Q 1800rpm
E yA] ' 6 <
TB/ 2 w\ 4 E
)
= 5 \ 3 &
= 1 - =
= Lin %“Q‘Q//\\\ a
£ 10 G 2 &
S s it -
4 1
2 13 DR N (kw)
0 0 2 0 0 B & D
Pressure (bar)
VP-F30 VP-F40
0 18001pm Q ) 1800rpm|Q
1500; \
% ipm - — OOrm\ \
= ) £ 6 5
2w 4 2 = 5 %
2 s \ 3 & . L L~ , =
=z NI ST !
~ =] =) > =1
E. 10 /,’QQW 2 = é 0 \SQQY‘W‘/ \\ ) =
& 5|4t 1 1 Lin 3 L AY Lin
2 DR (kw) = IR ] \ 1 (kw)
0
0 10 2 3 4 0 & N 0 10 2 3 0 0 & D .
Pressure (bar) Pressure (bar)

P3




VARIABLE DISPLACEMENT
VANE PUMP

VP-F8, 12, 15, 20 cross section drawing

| 19
31 ! | \ /
b 1 ;)
S J[ ;.: | i e : c‘_|_
8 7) (14
Parts list

Specification

P4




VARIABLE DISPLACEMENT
VANE PUMP

VP-F23, 26, 30, 40 cross section drawing

@ . i
(9 : 23 : | 17
1" o 5 |
(L iE ' !
T gt 38, =
5 3 f_
= T I__ |__'_ b P
2 —t— i 26 :EE"
3
2
4
30 L) 3 25 39 8 7) (4
Parts list

Specification Specification

M16xP1.0

P5




VARIABLE DISPLACEMENT
DOUBLE VANE PUMP

Symbol

How to order

DVP - F 1515 - A 1A1
1 2 3 4 5

Variable double vane pump:  weight: 9.5 kgs
Flange mounting type
Displacement

Sharp cut-off type

a & ON =

Pressure adjusting range 1:3-20 bar  2: 15-55 bar  3: 30-70 bar
(As general rule low pressure pump is placed at the cover side and high pressure pump at the shaft side).

Dimensions

PRESSURE ADJUSTMENT Unit:mm
101 &5
26
e £ 2
oR | DR | 210
= | —OH O
PT1/2 PT 3/8" = St
s L | e = = %T
DISCHARGE
i®) @ PORT 3 ﬁ YJ i | _:ﬁg,om
— d:\. - 2 28
/K N | @ SH R o =
4 PN kj X : Q | (L] "2
@ @ . | i} | =il @15.88" 30
106 PT3/8 [ 8 s | s
128 | | l
COVER END 194
PT 1/2° COVER END DISCHARGE PORT

SUCTION PORT

P6




VARIABLE DISPLACEMENT
DOUBLE VANE PUMP

Symbol

DVP-F23+23, F26 +26,
F30+30, F40+40

How to order
DVP - F 3030 - A 1A1

1

2 3 4 5

a & O =

Variable double vane pump: weight: 16 kgs
Flange mounting type

Displacement

Sharp cut-off type

Pressure adjustingrange  1:3-20 bar  2: 15-55 bar  3: 30-70 bar
(As general rule low pressure pump is placed at the cover side and high pressure pump at the shaft side).

Dimensions

P7

PRESSURE ADJUSTMENT Unit:mm

4-011 % CASE DRAIN PT 1/4°
2-M12X1.75P = =

'WOODRUFF KEY
.: FT 12 NO.607
DISCHARGE o
—1\ PORT == o
oy + +!
Py @ 4760020
Lot

+0

@95.02_-0.03

Q T e
ff \:::: @llfrﬁ iy

- = s T
=

ahis
@_\K i
:
€

219.05" 5 59

I’TS.-’Ai"r 36.5 48.5 Zl 36.5 25

SUCTION| %0 1 a7
PORT | 85 ] 41.5
L“‘[:“’* V4
78
VOLUME ADJUSTMENT




VARIABLE
DISPLACEMENT VANE
PUMP+GEAR PUMP

Symbol

VPG-F23 (26, 30, 40) + HGP-2A

How to order
VPG -F30/3-A3

1 2 3 4 5 6
1 Variable vane pump+gear pump
3 Low pressure vane pump displacement: 23: 23 Ipm (6 GPM) Weight: 10 kg 26: 26 Ipm (6.8 GPM) Weight: 10 kg
30: 30 Ipm (8 GPM) Weight: 10 kg  40: 40 Ipm (10.5 GPM) Weight: 10 kg
5 Sharp cut-off type

Dimensions

PRESSURE Unit:mm
ADJUSTMENT SCREW

NO.607
WOODRUFF KEY

142

=) T

©95.02 fn
213

@ﬂ:-o m
T

!;__

VOLUME
ADJUSTMENT SCREW 61.5 a7

P8




HIGH PRESSURE VARIABLE
DISPLACEMENT VANE PUMP

1 !
Q :Characteristics !
I

P—»

fJ

VP5-F20, 25, 30, 40, 54, 70, 86

How to order

VP5-F30-AS5
1 2 3 45

1 High pressure variable displacemnet single vane pump

3 Displacement

5 Pressure adjusting range  2: 15-35 bar  3: 20-70 bar  4: 50-105 bar ~ 5: 70-140 bar

Specifications

No-Load Displacement Pressure Rated Speed (rpm)  pMax. Pressure Weight

Ipm At 1800 rpm Adj. Range (bar) ((£:19) (kg)
VP5-F20 20 95
VP5-F25 25 » 1535 95
VP5-F30 30 5 5070 05
VP5-F40 40 1800 800 140 95
VP5-F54 54 490105 25
VP5-F70 70 5:70~140 25
VP5-F86 86 25

P9




FEATURES:

1. High efficiency and high stability even on high pressure operation.

2. Vibration free with low noise level.

3. Sensitive responses and actions to on-off and changing loads.

4. Constant output on high pressure operation.

5. High operational efficiency with hores power saving.

6. Easier control on the adjustment of the pressure and oil flow.

VP5-F20, 25, 30, 40

PRESSURE ADJUSTMENT

183

El

139
f 59 37
{
_%_’ PT alsoR 22.5
@ | L4
B )
0| % | i i
) S
N = ] ﬁFi}: i SE
4 8
18] s
- )
12 4
S LAV FLOW ADJUSTMENT
MAX 205
VP5-F54, 70, 86
224.8
PRESSURE ADJUSTMENT
204
160 98 48
f
148 PT3/8(DR) . 31
) 42.5
]
2 Fmy
| ml l i S| l[eo] 52 =
ol % .7-10'
I KN g 3 ] = SN 3
| ‘ | =Ny =
: s
‘3 [ —
PT1/4(DR 16, 4
167 FLOW ADJUSTMENT
130 MAX 139.5
MAX 269.5

113
090

Unit:mm

PT 1/2

DISCHARGE
PORT
4.7638:%

PT 3/4
SUCTION PORT

219,05 F.e1

124 20.2

4.76%%: 018

0150

SUCTION PORT PT 1" ’

124 4.2
150

2

DISCHARGE PORT PT 3/4"

P10




HIGH PRESSURE VARIABLE
DISPLACEMENT VANE PUMP

VP5-F20 VP5-F40
20} i 40 fa2do0y o)
. & _ ™
£ = = —
S 15 3 2 830 \l 6 =
e £ > 5 c
Q = - [14] . —|
= 10 P 2 = Zi 20 Ly 45
] . a @ o
s i@ o 10 28
I " \ :
o 1o
(] 0 0
10 20 30 40 50 60 70 0 10 20 30 40 50 60 70
Pressure (bar) Pressure (bar)
VP5-F25 VP5-F54
e 60 |
25 T i a
= = = 50 Q )
5 20 B 5 E
> £ > 0 s
@ 1 | 14} = Tl
% 15 Tl 4 - % 30 Lin | A 6=
9 10 P 3 E‘ (=] B 5 E
& e 20 4 o
Y 2 Q @
52 3 10}~ 52
S| 8 e 2§
0 0 0
0 10 20 30 40 50 60 70 10 20 30 40 50 60 70
Pressure (bar) Pressure (bar)
VP5-F30 VP5-F70
30 3 ; o g —— 74 1
= 25 o = 60 /2 10 ~
£ S E il 3
=3 = = & =
; 20 /ﬁ 4 - = 50 ‘59 8 <
L —_— . = i P
o = / - © = / Lin p
2 15 Lina 35 = 40 6 5
[ v o (5 Vi o
2 10 = = Tl =2
o P 30 4
% 2 g
B 20
5 F— g 10 G
0 0 0
10 20 30 40 50 60 70 10 20 30 40 50 60 70
Pressure (bar) Pressure (bar)

P11




HIGH PRESSURE VARIABLE

DISPLACEMENT VANE PUMP

® O eOEEA® ®

I I I I
Item No. Description Item No. Description Item No. Description Item No. Description

1

© 0o N o o & W N

- SN . EEEN . =
o A O N = O

Pump Body
Back Cover
Cover

Side Cover
Body

Shaft

Cam Ring
Vanes

Port Plate
Thrust Plate
Piston
Piston

Slide Screw

Spool

Holder

16
17
18
19
20
21
22
23
24
25
26
27
28
29
30

Spring Retainer
Screw

plug

Piston

Piston

Spring

Spring

Engine Bush

Pin

Woodruff Key
Retainer Ring

Shaft Seal

Endless Back-up ring
Endless Back-up ring
O-Ring

31
32
33
34
35
36
37
38
39
40
41
42
43
44
45

O-Ring
O-Ring
O-Ring
O-Ring
O-Ring
O-Ring
O-Ring
O-Ring
O-Ring
O-Ring
O-Ring
Socket Head Cap Screw
Socket Head Cap Screw
Socket Head Cap Screw
Socket Head Cap Screw

46
47
48
49
50
51
52
53
54
55
56
57
58
59
60

Socket Set Screw
Socket Set Screw
Socket Set Screw
Socket Set Screw
Socket Set Screw
Plug

Plug

Hex Nut

Hex Nut

Hex Nut
Nameplate

Cap

Plug

P12




HIGH PRESSURE VARIABLE
DISPLACEMENT DOUBLE VANE PUMP

<
U
o1
1
o
1
[ b
1
N
1
(98]
o
1
~
o
1
o>
1
~ 1IN
1
2
1
©|N

Flange mounting type

Series number  1: 20, 25, 30, 40 lpm  2: 54, 70, 86 Ipm

Cover side pump delivery lpm

Shaft end pump delivery Ipm

Cover side pump control type A: Sharp cut-off type

Cover side pump pressure adjusting range  2: 15-35 bar  3: 20-70 bar  4: 50-105 bar  5: 70-140 bar
Shaft end pump control type A: Sharp cut-off type

© o N OO a s 0NN =

Shaft end pump pressure adjusting range  2: 15-35 bar  3: 20-70 bar ~ 4: 50-105 bar ~ 5: 70-140 bar

VP5- F- 1 1 PRESSURE ADJUSTMENT 259 51

MAX 113 ; 92 Unit:mm
130
ar'13

-
; 5%3 | 476 801
¥ fa

@ =

53

[ 1

7
N

i

(OUT)
143 4-g1n
. MAX 139.5 130
VP5' F' 1 2 PRESSURE 145 107
ADJUSTMENT g5
130 150 s Al
ares ot By PT%(DR) IN/OUT

Y,

476881

K

Sk
i

AL - i _
e 1 QB

Y Re 1(IN Re 3/
R 3/4(IN Vi —or (SU{")
Re 1/2(0UT) ot o124 £02

4-013.5 0150
VP5-F-22
PRESSURE ADJUSTMENT 9 60
107 < 1905 A 158

I£3

36!
28 28 MAX 139.5 4 130
PT3(DR) [— PT3 DR)‘GF HesoT
e
e | iy ; @ —_QF 4.76 38%

B : . 4 01N / \ I

@@ d 7 27, i &\ JITe
b .

o §8is d 2~Rc 1(IN : y‘ﬁ
\J_—E:: 190.5 I 42.; o ‘ s 0124 +02 _e%. e
4~@13.5 a1s0

P13




V SERIES AXIAL PISTON PUMP
FEATURES:

1. Combining special internal designs and strict engineering disciplines has
reduced noise level to new lows in whole pressure zones.

2. Depending on variety of application needs multiple optional unique control
methods are available. It does not only reduce a number of unnecessary
hoses, pipes and control valves but also increase efficiency and save
horsepower, and cost.

3. Less capacity reservoirs can be selected and applied because of performances
of low pressure loss and less head generation.

4. Wide application ranges: it is very suitable for machine tools, plastic injection
molding machines, forging machines, other industrial machines and so on.

S
PN
V-15A- 1-R-§-§-Q—Q— -0-0
1 2 3 4 5 6 7 8 9 10 11 12
1 V: Variable displacement type VR: For Axial port-pipe type VR15 VR18 VR23 VR38 (see page 47)
2 Displacement: 15, 18, 23, 25, 38, 42, 50, 70 (cc/rev)
3 Control types: A,B,C,CG,D,DG,E,EG,F, Code  Spring * This spring code is useful for HL, HK, HQ types.
N :
FG,G,GJ,GM,HLD,HJ,HKD,HQD one St.andard pressure: 7 bar
Middle pressure: 14 bar
C High pressure: 21 bar
4 Pressure adjusting 1:8-70 bar 2: 15-140 bar  3:20-210 bar  4: 20-250 bar
5 Shaft rotation (Viewed from shaft end) R: Clockwise  L: Counter clockwise
6 Direction of pipe connections:  None: Side port  B: Axial port
7 None: S: SAE. J498b Code  Type Number of teeth  Pitch Code |Type Number of teeth | Pitch
S 13 S va23,v25 (13
e — ’ DP
-@4 s1 ue s 16/32DP ST vagvaz |15 1e/s2
1
S2 11 S V50 14
o1 V70 P 12/24 DP
8 Voltage: ~A: AC 100V (50/60Hz) B: AC 110V (60Hz) C: AC 200V (50/60Hz) D: AC 220V (60Hz) E:DC 12V F: DC 24V
9 Threads Code Code Port Threads Code Port Threads Code Port Threads
10 PT Pipe type 50 NPT Inch 70 M Metric
40 BSPP (G) Metric 60 SAE (O-ingring) Inch
10 Thru drive & 2nd pump:
None: Single pump  C: SAE AA, 650.8 mm  D: SAE A, 82.55 mm E: SAE B,g101.6 mm  F: SAE C, 9127 mm
|: Metric, 263 mm  J: Metric, 280 mm  K: Metric, 2100 mm  L: Metric, 125 mm
11 Design number:  X: Standard  X1: Low Pressure  Z: Idling Relief
12 Links type (For V15,V18): None: Standard  A: SAE A 2 bolt

Specifications

Displacement Unloading (Condl)tnons (Ipm)  pressure Adij.

cc/rev
(in3/rev)
V15A 15 (0.90)
V18A 17.8 (1.09)
V23A 23.0 (1.40)
V25A 25.0 (1.52)
V38A 37.8 (2.31)
V42A 42.0 (2.56)
V50A 51.5 (3.14)
V70A 69.7 (4.25)
V15A-V15A 15/15
V23A-V23A 23.0/23.0
V15A-V38A 15/37.8
V38A-V38A 37.8/37.8
V15A-V70A 15/69.7
V38A-V70A 37.8/69.7

1500 rpm

1800 rpm

225 (5.78)
26.7 (7.05)
35.4 (9.11)
37.5 (9.66)
56.7 (14.98)
63.0 (16.23)
77.2 (20.37)
104.5 (27.60)
225/225
35.4/35.4
225/345
56.7 /56.7
225/104.5
56.7 / 104.5

27.0 (7.05)
32.0 (8.45)
41.4 (10.94)
45.0 (11.60)
68.0 (17.96)
76.0 (19.58)
92.7 (4.49)
125.4 (33.13)
27 /27
41.4/41.4
27/68
68 /68
27/125.4
68 /125.4

Range
bar (psi)

1: 8-70 (115-100)

2: 15-140 (210-2000)

3: 20-210 (280-3000)

4: 20-250 (280-3500)

Max.

Pressure

bar (psi)

250 (3500)

210 (3000)
250 (3500)

210 (3000)

250 (3500)

210 (3000)

Input Speed

Range

rpm)

500

1800

Weight
(kg)
13
13
22
22
26
26
55
56
28.5
46.5
415
54.5
71.5
84.5

P14




V SERIES AXIAL PISTON PUMP
Control Types

Control Types JIS Symbols Characteristics Feature

A: Pressure 1. When system pressure increase and reach preset
pressure the flow decrease automatically and
Compensator Control pressure maintain without changing.

N

. Power and pressure can be adjusted manually.

o—>

—ry

. Flow can be adjusted from 0 to maximum and
pressure can be maintaining at preset pressure.

H = P == =
stage Pressure Control Type ouT
(With Cylinder) ; T
I/—\ . Absorbing impact and vibration which are produced
Q by up and down motions of actuators. It is suitable
for lifting equipment etc.

. Low consumption electric motor can be selected to
save energy because of the functions of high flow
at low pressure and low flow at high pressure.

B: Multi-stage Flow & Single

N

-

C: 2 stage Pressure &
Flow Control Type

T 2. When pressure increase and reach preset pressure
QCIL - - - "PH", flow is reduced to "QL".

3. Pressure "PH"PL", and Flow "QH"'QL" can be
adjusted optionally.

H

. It is applied to actuators requiring long unloaded
or short loaded strokes. Speedy and horsepower
efficient.

Y= = = =

P

-

CG: 2 stage remote Pressure & . The same function of "C" control type.

Flow Control Type

2. The pressure and the range can be adjusted
remotely by the integrated remote pressure control
valve.

Pl 3. Proportional Electro-hydraulic pressure control can
be applied with HYDROME proportional valve.

- - = =
-

©
o
b= =

-

D: Solenoid Controlled . Same as type A and unloading function added.
Pressure Compensating

Type with Unloading Device

2. It is applied to systems requiring long term
unloading operation.

SOL OFF SOLON

3. When solenoid is turned off, pump operation under
unloading condition maintains low noise level and
oil heat generation.

P—
DG: Solenoid Controlled 1. The same function of "C" control type.
Pressulre Comper?satlng = I 2. The pressure and the range can be adjusted
Type with Unloading & H remotely by the integrated remote pressure control
Remote Device Q|| soLoFF  soLoN valve.
1
'} 3. Proportional Electro-hydraulic pressure control can
| B be applied with HYDROME proportional valve.
i
1

P15




V SERIES AXIAL PISTON PUMP

Control Types

E: Dual Pressure Control

EG: Dual & Remote
Pressure Control

F: 2 flow-2 pressure p.c.by
solenoid operated valve

FG: 2 flow-2 pressure p.c. by
solenoid operated &
remote valve

G: Remote pressure
compensator control

GJ: Proportional Pressure
with interface

Q SOL OFF SOL ON
PL PH
P —
Q SOL OFF SOL ON
- |
PL PH
P—
SOL OFF
T SOL ON
aL
Q
PL PH
P—
TG:: SOLOFF
QL SOLON
Q
- |
PL PH
P—

I
Feature

Control Types JIS Symbols Characteristics

=

—y

=

-

2.

. Preset high and low pressure can be controlled

by switching directions of solenoid control
valves.

This type is applied to actuators requiring 2
stage pressures with single speed.

. One of "PL" and "PH" can be optionally be high

pressure.

. The same function of "E" control type.

. The pressure and the range can be adjusted

remotely by the integrated remote pressure
control valve.

. Proportional Electro-hydraulic pressure control

can be applied with HYDROME proportional
valve.

. Actuators can be shifted slowly (high pressure

low flow) and quickly (low pressure high flow)
by switching directions of solenoid control valve.
When solenoid valve turns on, pressure increase
to "PH", and flow decrease to "QL".

Pressure "PL", "PH" and flow "QL", "QH" can be
adjusted optionally.

This type is applied to actuator requiring
operations of shift speed from high to low or low
to high.

. The same function of "F" control type.

. The pressure and the range can be adjusted

remotely by the integrated remote pressure
control valve.

. Proportional Electro-hydraulic pressure control

can be applied with HYDROME proportional
valve.

. The same function of "A" control type.

. Pressure can be adjusted remotely by the

integrated remote pressure control valve.

. Same as Type "GM" and proportional valve

added.

The proportional valve is installed on the NG 6
interface to reach Proportional Electro-hydraulic
control to save energy.

P16




V SERIES AXIAL PISTON PUMP

| Types JIS Symbols Characteristics Feature

-

. GM control with a NG6 interface, supply an
installation for pilot valve to prove the operating
T pressure. The pressure setting can be set
directly from the control panel of the machine.

GM: Remote Interface
(Not include pilot valve)

2. The remote pressure compensator responds
faster and offers more stable pressure.

3. The adjustment can also be manual or
P—> proportional pressure control.

-

. The pump outlet can be controlled by the setting
pressure value of flow control valve. An ideal
energy conservation system can be configurated
by combining the proportional directional
control.

HL: Load Sensing
Compensator

o—»

2. When setting pressure value, flow is changed
depending on throttle valve. The sensing flow
feedback function can reach to low oil heat

P—> generation and saving energy.

-

Same as Type "HL" and proportional pressure

—1—f—ﬁ ’ function added.

HJ: Load Sensing & Proportronal

Electro-hydraulic Pilot T
Relief Valve

Q

l‘——-.. 2. Supplied with proportional Electro-hydraulic
pilot relief valve can reach to horse-saving and
-« | energy-saving.
P—>
Eleclricity

-

. HK type supplies the system pressure and flow
depending on the proportional pressure and
flow, voltage, and load value to save the energy.
When in waiting circle, the outlet displacement
and horse power loss are colse to zero. When
pressure reaches to preset value, the flow
decrease to the min., and the pressure is
constant to reach low oil heat generation and

| > energy loss.

2. HK type can save 30%~50% energy compare to
P—> vane pump and gear pump+PQ valve. It is an
energy-saving and environmental design.

HK: Proportional Electro-
hydrauic Load Sensing
Type

O—»

-

-

. Same as Type "HL" and proportional flow

HQ: Load-sensing
function added.

Proportional Flow control W

ﬁ_ 2. The proportional flow control allows the
adjustment of the pumps output flow with an

v —_———— electrical input signal. Supplied and adjusted the
displacement by the electronic control module.
o

s
D-—h-

P17




V SERIES AXIAL P

ISTON PUMP

MEASURING CONDITIONS

ROOM TEMPERATURE:20+2°C
SPEED OF ROTATION:1800 rpm
OIL:ISO VG 32-68

OIL CAPACITY:40 Ipm

ADOPTS SEALED CIRCUIT:70 bar
ADJUST PRESSURE:35 bar

V23, 25 Series

100 e
%0 — .
) /"_ I i
sof—17
> 70
2 ik
@ 60 /
(5]
= 50 Ji Digy it
W 40
W]
1 30 /I:a
20 i
10
i Cﬂe'.a_“?[?"_
o A—ifley

0 103 137 172 206 24.5:l

34 69 1
(3as} (70) (105) (140) (175) (210) (250]
— Pressure Mpa (bar)

V15, 18 Series

———» DISPLACEMENT (Ipm)
—— SHAFT INPUT (kW)

100 I T
‘--.N [ s ‘T e
280t =
gu; 20 // _ | Overall efficipney .
= A
gmif Displacement 20t
& 50 : 1 25410
W 40 i &— 208
f 30 o 1 15716
20 / 10 4
10 __mum 2t — 545
0 e odo
o] 34 62 103 137 172 208
(35) (70) (105) (140) (175) (210)
—= Pressure Mpa (bar)
£, g,
= = i
[ = =
* o . E =
g 3 V38, 42 Series 0
z e
2 S
g & 00 5 %
i w I Volumetricefficidncy a o
x I = _,/ (verall|efficics ‘ I
Sw v ; r_q_
& a?{) £ = ; frent 70435
- R
50 25 2 50 ’ e 50 25
4 E j A i
401 20 40 . 0 401 20
30415 T 30 /I/ — 30115
25410 20 /r 25110
1045 10 ad 104 5
=] L‘th@i"—"‘?dﬁ
04 0 e 040

0 34 €9 103 137 172 206 245
(35) (70) (1085) (140) (175) (210) (250

— Pressure Mpa (bar)

= =
= =
V50 Series g5 V70 Series g5
= z
S E g £
100 5 % 100 G £
Vol |melr|+ effickency o @ o Volume(lr% efficiency N
90 — — [— ]
5\380 ] }\m# efficiency ‘ I o L— )vergli efficibncy | | I
< )4 == - i
g?n 7 T ? I idplacement 140
3 60 1 & 60 ~r = 1207
% 50 ! ot T 1004 50 ;;:) 50 [ - 100 50
W 4ol Al 80 40 W 40 = 80 40
T 30 o i 2 e T 30 gf‘/\“ A 60430
“ -
20 e 40420 20 404 20
o e | 10 o i 2110
=l bl I T o | =l el — T ]
037 65 103 17 172 208 °°° g 72 206 °°°

35) (70} (105) (140) (175) (210)
—Pressure Mpa (bar)

34 69 103 137
(35} (70) (108) (140) (175) (210)
—*Pressure Mpa (bar)

P18




V SERIES AXIAL PISTON PUMP

P19

V15, 18

V38, 42

V15, 18

V38, 42

— Drain volume (lpm)

75
an/“‘/'
70
L .
3 W& \fmﬂf“""_'
z “@F / -_.
D 65 - '_.II E
5 /‘/ 1
@ . | 5
@ \
éso | » Ho-out-bitpenbe
35
00 34 63 103 137 172 206 245

(35) (70) (105) (1400 (175) (210} (250)
— Pressure Mpa (bar)

e

3

b
o

T

g /ﬂr"‘""-’: Al , *
==
D cul-ofl period
@ 3
Seo
f

55

% 3 103 137 172 20

(35) UO} (108) (140} (175) l21nl
— Pressure Mpa (bar)

Drain volume characteristic

= 20}
_E. 23 [Type
4}
S —_\-1'P()pcriod
2 1 Type mmmrmm
= =
@ 10 3 ' 3
o PC peyjod
fos ) s
0

0 34 69 103 137 172 206
(35) (70) (105) (140) (175) (210}

—* Pressure Mpa(bar)

Drain volume characteristic

16 PC
234 Types PCperlod | period
f
12 ] PC perdod Mac ndriot
1
(Y| N
PC period

="

04
2

0 34 69 103 137 206 245
{35) (70) (109) (140) {1?51 (210) (250)

—* Pressure Mpa (bar)

V23, 25

V50, 70

V23, 25

V50, 70

— Noise level (dB-A)

-
=

3

—= Drain volume (lpm)

—=Noise le\éei (dB-A)

o &

—+ Drain volume (lpm)

(=]
n

75

-
o

&

@ FIC cut-off peded

2

o &

o

34 103 137 172 206 245
35) rml (105) (140) (175 (210) (250)

— Pressure Mpa (bar)

P el e P T
b e

whal
0'/ | s
o,//‘!r P cut-dif pericd

0 103

34
{35} {?m (105) mu] 11?51 :2101
* Pressure Mpa (bar)

Drain volume characteristic

@

3
:

%?i

I

0 34 69 103 137 172 206 245
(35) (70) (105} (140) (175) (210) (250}

—* Pressure Mpa (bar)

0

Drain volume characteristic

45 APC
40 23Types| PCjperiod ﬂperlod

35 PC pefod

S

8 &

15
10 L

05 —
e

0 34 69 103 137 172 208
(3s) (700 (105) (140) (175) (210)

— Pressure Mpa (bar)




V SERIES AXIAL PISTON PUMP

V15A, V18A Pressure Compensator

()

INC.
Flow Adi ity 196.8 445 Pressure Adjustment

L [4.76:8 "**x32
Drain Port:G 3/8° 1

Filling Port

2-M12xP1.75

©21.15-8.15

—
D19

= 5 ,
S Qe T Bl
13 9o \
105.6
Outlet ®25 ::; __I_n_lg_l_ﬂB_S
V15A, V18A Pressure Compensator (SAE A 2 bolt)
@DDDDD _Dl:”:”:, Prassl:(:ﬂd'uslment
Flow Adj | 196.8 4,
el [04.763§ ***x32 Eilting Bort
] i

-
=
w
it
o
e

©19.05 B2

l f7 4§|
1
W
T IS A
| |
82.55-H0s

-/ e
T 4-MBx20 105.6
@25 Ll ]35.1 13 131
147 Outlet ©2 _Inlet 025

V15B, V18B Multi-stage Flow & Single-stage Pressure
Compensator Control (With cylinder)

INC.
374 44.5 Pressure Adjusiment

= D4.7648 *xa2

Filling Port

4-011

8,
IIE
RC1i/4 ]

2-Mi12xP1.75

T

=tyEEl :
JolEH] RO

I Clgo |
35.1 105.6
147 131
173 Outlet @25, 165 Inlet @25

"

{=1]
mgm
©21.15-815

'

ES

915

160

57.45
--—-t
ol

82.55-8.0s

®25

60

4-M8Bx2

=
k

P20




V SERIES AXIAL PISTON PUMP

V15C, V18C 2-stage Pressure & Flow Control Type

2-M12xP1.75 ()
INC.

FC Differential Pressure
Adjustment

44.5

Filling Port

——— [14.7618 "**x32

|m
©21.15-815
+
<

®18.

211

FF

(®) 025—/ 3§

T 1
4-MBx20 | o L ueg_l
131 5.1 e 105.6
147 =
185 Outlet @25 Inlet ©25

165

V15CG, V18CG 2-stage Pressure & Flow Control Type with
Remote

FC Differential Pressure Adjustment

Warning: don't adjust PC Pressure Adjustment ;
O Low Flow Adjustment Remote Prassure Port:PT1/4 ng L J

Seo 270
: 445 Filling Port
High Flow Adjustment Drain Port:G 3/8° e \ \97
48,
[14.76:8 ‘“"x.'j;
- 14
4-01

1

o

2-M12xP1(75

251
©19.05-f02s

©21.15-81s
251
L
141.6

|
=
=AY -
0=
at !
_||IF
|
_a:ss.aos
U
11

i

© ®25— :l )
4-Max20-] 1
35.1 |_13 (790
I 147 1056 _|
e
Oullet ®25

13
185 :2; inlet ©25
V15D, V18D Solenoid Controlled Pressure Compensating 2-M12«P175
Type with Unloading Device FG Diferental resue
usimen
DQ FosAdusinen Dmin:::l:ﬁa.fs‘ Filling Port PC Pressure Adjustment

[4.76:8 ***x32

Solenoid control valvep\

HIHYDROME O

INC

©19.05-8 028
©21.15.8.1s

£

]

e

211 /2
T 1

" ]

g

® o 25 — |

T 4-MBx20—

i 090 l

105.6 |
Outlel @25 L1 Inlel ®25

165

P21




V SERIES AXIAL PISTON PUMP

V15DG, V18DG Solenoid Controlled Pressure Compensating

Type with Unloading Device & Remote o Dl Pressure
- v B
Flow Adjustment Remale Pressure Port:PT1/4 Filling Port
DEC. rain Port:G 3/ PC Pressure Adjustment
Solenoid control val T 1 4 Warning:
olenoid control valves O o 48 | 44.5 (74,7618 2530 - : ¥ don'l adjust

75

L]
/
@6
5k
2115815
R

©19.

1056

- | 131
131 185 Qi‘l*’_l,?ii/ L.__._.

4-MBx20- ot ! '3 ‘M
. A_Lr

T Inlet @25

V15E, V18E Dual Pressure Control

FC Differential Pressure
Adjustment
276

O Flow Adjustment
DEC.

Filling Port

G oaat
Solenoid control valves 48 | 445
\ I [J4.76:8 “*5x32

4-011

PC Pressure Adjustment

©19.05-802s
®21.15-81s

75

&

&
{ s
L
LI
e Tl
|
25500
[t
|

=)
©

!
= q
4-MBx26- ; i \
35.1 13 L Liso J
- 1056
185 Outlet @25 L Inlet @25

V15EG, V18EG Dual & Remote Pressure Control

FC Differential Pressure
Adjustment
O Flow Adjustment L 276 Filling Port
- Remaota Pressure Porl:PT1/4 T
DEC rain Port:G 3/8" \ f C_I_ES_EH@_@:I_Lstmenr
Solenoid control valves o w | ans Wa'nin_g:
O - [J4.7618 **x32 = don't adjust
o [8 al - A
° 4-m11
\ 6 | /= =
L e |/ 3] s
=
o = -
) ]{‘{_ —— 8 S EHE
o [ i - — -
~ | }' o
u, - o
PN j —| 3
B ] b, o P
o025 — V1L :
4-M8x20 i r
\ 35.1 13 Lig0
f 147 _1056
131
185 -l Qutlal @25 165 Inlal @25
- e e

P22




V SERIES AXIAL PISTON PUMP

V15F, V18F 2 Flow-2 Pressure Control by Solenoid Operated Valve

FC Differential Pressure
Adjustment

PC Pressure Adjustment

[4.76:8 "*"x32

DEC.

48

O 3/]; +9=

High Flow Adjusiment

olenpid control v e = =
% Drain Porl:G 3/8 Filling Port
O Low Flow Adjustmen] | 216\ LI

9,05 85
©21.15-81s
£
|
-]
o | 1
o —
=
O

210.6

57.45
L
|
e
o1

R
©25— | /| _q

4-MBx20——

35.1
147
185

\ Inlat_®25

V15FG, V18FG 2 Flow-2 Pressure Control by Solenoid Operated & FC Difrertil Pressiure

Adjustment
Remote Valve Filling Port

Remote Pressure Port:PT1/4

PC Pressure Adjustment

O Low Flow Adjustmenl  }= e

Warning:
04.76:8 "**xa2 don't adjust
S0

e A-011
=gl = 2-M12xP1.F5
o - w

S -] :
o - =
e 3 b i
el 8 = i

-
2

@
Q)
251
112
57.45

0;,_ L ol
4-MBx2 ——l

| Ll90
. 35.1 =
| alliss o 13 105.6
" TR E Qutlet ©25 a1 Ll

V15G, V18G Remoted Pressure Compensator Control

®
©
on |
===
2
N
ﬂ
|
Lz 55805
Ty

Drain Port:G 3/8°
O T a Pressure Adjusiment
: | 1968 445 Warning don'l adjust

DEC.

Flow Adjusiment

[04.76:8 "™x32

1
ms.osﬁl
21,1535

i
J‘
—

"

=

n

k3

e

oy

"

g 2
= = I E ] w Ll
B o
= = |
[ gy
4-MBx20— e
i ¥ ' 13 | : _|
= o i 147 105.6
185 Outlet ©25 191 inlet ©25
165

P23




V SERIES AXIAL PISTON PUMP

V15GdJ, V18GdJ Proportional Pressure with Interface

196.8 44.5

48, Proportional Solenoid )40
DEC Flow Adjustment 18 Pressure Compensator

Pressure Adjustment
- Warning:don't adjust
N | Drain Port:G 3/8" ||
J 1 ll J—j/ [14.76:8 “*x32) ()L Filling Port

4-011

2-M12xP1.75

Sl 5‘ :
- ==
< _4*( 3 |ma P = .
ol la. J
47 2. i e o l
_/ !
4-Max20 190 I
131 ®25 35.1 13 105.6
147 Outlet ®25 131 Inlet ®25
173

©19.05 -5 o2s
®©21.15-81s
253.5

©
&

91.5

57.45

3

60

aa|

165
V15GM, V18GM Remote Interface (Not include valve)
ee :Gf * Pressure Adjustment
Drain Porl:G 3/8" fo+ ¢

Warning:don't adjust

" 196.8 _, 445

+Q 025
[14.7618 "*°x32 40 Filling Port
g = 4-®11
o = B 2-M12xP1.75
L=] -
ol
e ®
L] )
- d
. ~| 3 N =
o3 % i
o 5
wn
H #’
o d
1 el
T
190
105.6
13
Oullet ©25, Inlet ®25
LHE 165

V15HL, V18HL Load-sensing Compensator

FC Differential Pressure
Adjustment

! /8"
Drain Porl G.3 8 196.8 L Load sensing Port:PT1/4

O 96.5
Flow Adjustment »
L3ss i 48 ([4.7613 "*x32

1 4-011

PC Pressure Adjustment

Filling Port

2-M12xP1.75

1=
n
©21.15 415

@19

206

4-MBx2 —/ :I_-‘:

T
0_/ | L&_”
131 @25 | ool 35.1 47 .13 oite
173 Outlet_ @25 131 Inlet ®25

164.6

57.45
[, ] *
& ¢
!
82.55-5 05

|

P24



V SERIES AXIAL PISTON PUMP

V15HK, V18HK Proportional Electro-hydraulic Load Sensing Type

FC Differential Pressure

Adjustment
Proportional Solenoid Drain Port: G 3/8" Drain Port:PT1/4 PC Pressure S
O Fressure Compensalor 578 4 Adjustment d::{::".ﬁ Isl
DEC. i !
Flow Adjustment Filling Port
| g 2 2-M12xP1.75
cal eg ol I
@ o @ “1 A :
@5 ko ol -
- (4] b d - |
u e e q 3 Ea 4
i = = Ll [
o (©)] | (Clbe; 3 '51 3 =
™~ , o
w0 b =) é’ 7
-1+ -1e : | .
o
w w0
® © =l LR ] @ .
T Qutlet - |.125.5 | __,.J
13 g0
131 76.2 Threads code 105.6
10:PT(RC)1/2" 140 76.9 131 Inlet ®25
40.G1/2" 173 -t D
50:NPT1/2% 224
V15HQ, V18HQ Load-sensing Proportional Flow Control
FC Differential Pressure
Adjustment
Froportional Flow Control Drain Porl:G 3/8"
O 4. ;g’ P[emlra Warning:
DEC f— o [04.7618 “*x32 4-011 JEsaner) don't adjust
: 44.5 =
Flow Adj. I Filling Port
| F ool = S X" 2-M12xP1.75
g o 5 .
5 b 3 o
= Ll 2 H
E 3 el 8 o =] ‘HD =5
el o
uwy = 3' =B B
o 8
SRS il
. = i L]
Qutlet 13 -‘i-[
131 85 Threads code - *L"‘— 105.6
10:PT{RC)1/2 85 131 Inlet 25
40:G1/2" 173 ™
SO:NPT1/2% 233
V15, V18 Splined Shaft Type V15, V18 Hydraulic Flange
37.5 311
5 . & Cutlet Inlet Inlet
| ] [J35.1 50.8
= - UEES
. 2 ) ® _ ¢ [_
\ipey O B
w i i 2
w =2 o uy
Sl s &I &
= e
a &) D i K
reads code reads code o
- 135 Threads cod Th d 24
10:PT{RC)314" 10:PT(RC)3/4"
40:BSPP(G)3/4" 40:BSPP(G)3/4" PT{RC) 3/4"
251 50:NPT3/4" 50:NPT3/4"
5:13T DP16/32 51:9T DP16/32

P25




V SERIES AXIAL PISTON PUMP

V15, V18 Prepared for Thru Drive (SAE AA350.8)
V2 e N 3 O

Drain Port:G 3/8"

()

INC.

()

O)

Thru Drive Option

185 44.5 Pressure Adj
oEC. 42 [14.7618 °**x32
ow Adjustment 18, Filling Port
9T DP 16/32 8 & = 4=l ] = 2-M12xP1.75
l i sl 2 -
I o e| © L
P o & E
Fo €T IZILL pP{IRE é =
AT o ki
35.1 *L..ﬁ —
146 105:2 Inlet
Outlet 131
185 D2 165 =
LINKS C:SAE AA D508
Typel A | B | C |CG| D |DG| E |[EG| F [FG GJ |GM| HL | HK|HQ
O

G
O

V15, V18 Prepared for Thru Drive (SAE A82.55)
Vs OO0 —00bIn0

Drain Port:G 3/8°

()

INC.

()

185 44.5 Pressure Adjustmant
DEC, L D4.76:§ x32
Flow Adjusiment 1
9T DP 16/32 e |/ B =
HARL Al tedt o:; I:E 2-M12xP1.75
] 'ﬁ—ﬂ| IRE
I Y <
] T 10 T\ i | ®
B ol
A T q— L
\
i, A N P =2
2-M10xP1.5 S PR Outlet 131 Inist
{a ©25 165 \ @25
LINKS D:SAE A ©82.55
Typel A | B | C |CG| D |DG| E |[EG| F [FG| G |GJ |GM|HL |[HK|HQ
0] ONNONNORNG® ONNONNONNORNNORNG

Thru Drive Option

P26




V SERIES AXIAL PISTON PUMP

V23A, V25A Pressure Compensator

Flow Adjustment

DEC.

Drain Port:G 3/8"

223

58.5

INC.

[16.3520 % x40

B
&

Pressure Adjustment

39

| @222 0
| ©2508-8

110

193

Laa_g

170

:

e

200

101 6-8_0.5_|

‘.—l Filling Port

]
el
w
«)

-]
AN =
S i
L
Oullet ©25 146 Inlet ®25
182

V23B, V25B Multi-stage Flow & Single-stage Pressure
Compensator Control (With Cylinder)

DEC.

Prassure Adjusiment (>

INC.

rain Por
i 420 , 585 16.35:8 §8x40
RC1/4 31 g = )—L‘ Filling Port _
18 =
u._l_. L é » L f
ol o
als
T%l_@_ —F g ) e
° 25 P f @
1S % S|== ;" =
- 4 =
=t (=]
% ﬁfl [ I
Acuel STt 8.2 = Outlat ®25 146 \_lInlet ©25
S 170
182
200
V23C, V25C 2-stage Pressure & Flow Control Type e
Adjustment
O Low Flow Adjusiment oo
High Flow Adjustment Fitling Port Adjustment

P27

I

226

i*f

[16.35:§ §ix40 \

©22.2 3028
®25.08 815

226

i

—

®
i

182

4-M10x16/

52

£

=

©101.6-80s

33

110

]

QOullet @25/

Inlet ©25

)

INC.




V SERIES AXIAL PISTON PUMP

V23CG, V25CG 2-stage Pressure & Flow Control Type with Remote

FC Differential

Pressure Adjustment
O Remate Pressure Port:PT1/4 3 290.5
) ) PC Pressure  Warning:
Low Flow Adjustment Filling Port ¢ A i
DEC. Drain Port:G 3/8" [16.35_3 x40 Adjustment _ don't adjust
High Flow Adjustment!
; o) 51 | 58. 1
| o Ak og 2 L
f [Le ¥ 92
T [ .
| v
w 4 8‘ 0
PN ol 7l = ] 8o
OAS=(C) © N# %
4 — f -
— — D25 _§— WE{ - S Y
| o Bt — Hg——
o P
® ® k0 I
2 ‘.L..ﬁ
4-M10x/6 2052 outlet 25/ | Fe——148 i | \ iniet 025
182 e
205 182

V23D, V25D Solenoid Controlled Pressure Compensating Type
with Unloading Device

FC Differential
Pressure
Adjustment

INC.

Solenoid Control Valves Drain Port:G 3/8~ - PC Pressure
. 297\, 585 [76.35°8 §xa0 Mg Port e i
DEG. Flow Adjustment [ ; 51 - -
_ ) g = n |
- O 8 T o |||| @
i HYDROM 8\0 9 i I H |
r 8 g
e| © o
- — - <o
‘_I | — LI = o 4=
“) 9 =z &
HRIEN / = e
025 41T 5
< e @
o Wl —
26.2 «—-L-—“
4-Mi0x16 170 Outlet ®25 148 Inlet 25
G 182
V23DG, V25DG Solenoid Controlled Pressure Compensating Type _
with Unloading Device & Remote Rassure |
Remote Pressure Port:PT1/4
i 297 PC Pressure Warning:
O Solenoid Control Valves| 06.358.%X40  Fiing Port Adjustment  don't adjust
Flow Adjustment Drain Porl:G 3/ \
DEC. ] \@ O o 51 | _58. dl8 L
i HYDROME o i"B - q
& 9 ol 3
I . d
N 8 g
') 8| 6
© S - !
& = = T M =
o] @ |© wI % &
[N 1 HFE <&
_ __l_ _ 025 4170, 5
&
| ol i | S
® T @® g2 ~t=
26. L. 14
' 4-M10x16 &2 Outlet®25 146 Inlet 925
182 205 182

P28




V SERIES AXIAL PISTON PUMP

V23E, V25E Dual Pressure Control

297

_Drain Port:(G 3/8"

(o}

|
ol
0|

16.35:§ §ix40

Filling Part

FC Differential
Pressure
Adjustment.

PC Pressure
Adjustment

4-M10x16/

V23EG, V25EG Dual & Remote Pressure Control

@, \
DEC. Filow Adjustment

Solenoid Control Valves

297

Remole Pressure Port:PT1/4

Drain Port:G 3/8°

[16.35 2§ §ixa0

Filling Porl

g =
s o
B
9 &
e Lie)
o
8 o~
ﬁ C
= —&iD 5
2 b :
a\ ‘“l
NS =\\
Ouliet 25/ 146 Inlet ©25
182
FC Differential
Pressure
Adjustment

PC Pressure

Warning:
Adjustment

don't adjust

n
4-M10x16,

O o 51 8.5
o 8 § =
Sl R
ol v
o e el & o
o) e @ .
o = m &lo
| - —_— CE -
::[1 r'?] % - ©
o025 —“1Tats == 5
<t — 5

Qullel @25/

V23F, V25F 2 Flow-2 Pressure Control by Solenoid Operated Valve

P29

()

DEC.

Solenoid Contrel Valves

M \

High Flow Adj

297

Drain Port.G 3/87

182

t
i

O..

©22.2 Boas

[06.35-3 Bix40

Filling Port

e Iniet ©25
182
FC Diftzrential
Pressure

Adjustment ING.

PC Pressure
Adjustment

©25.08-fo1s

1

H]

=
o
)

226

A-M10x16/ -

Dutlet @25/ ‘

©101.6-80s

1 y_Inlet @25




V SERIES AXIAL PISTON PUMP

Dimensions

V23FG, V25FG 2 Flow-2 Pressure Control by Solenoid

Operated & Remote Valve At ™ Pressare
Solenoid Control Valves Remote Pressure Port:PT1/4
297/

PC Pressure  Warning:
Low Flow Adjustment

Adjustment  don't adjust

[16.35:8 3840

\ Drain Port:G 3/8”

Filling Port
@ O 58.5 0
1 o] o N
~ ol o
9 o
X o &
o / e
;] ] :
=
— ©
©25 41— )
— -
b _r i e 8
o & =4
14
/ 146 N
4-@/ Oullet ©2 Inlet ©25
1 182

V23G, V25G Remoted Pressure Compensator Control

Remole Pressure Port:PT1/4

- : e Warning: Pressure Adjustment
i don't adjust
DEC. Flow Adjustment 116 /] 39
58.5

[16.35:8 §2x40

©22.2-802s
©25.08-81s

Filling Port

2385
108

s [
yIG:
-*_ )
|
©101.680s

14
— 14 \
182 4-M10x18; = Outlet @25 & Inlet ®25
170 —_ 182
200
V23GJ, V25GdJ Proportional Pressure with interface
O 223 Froportional Solenoid
Flow Adjustment 51, Pressure Compensator .
: Drain Port:PT3/8 18 Pressure Adjustment
I Warning:don't adjust
16.35:8 x40
g = Filling Port
= [
o 8
8l v
| H A,
e 2 ]
L @ -
D25 114 §
q - =i
l o AN
146
182 | 4-M10x16/ Outlet®25/ Inlet ©25
182

P30




V SERIES AXIAL PISTON PUMP

V23GM, V25GM Remoted Interface (Not include valve)

NG6
00 + , +

»
00 + " +

Pressure Adjustment
Warning:don't adjust

(16.35:8 §E x40

Filling Port

\_Inlet 25

V23HL, V25HL Load-Sensing Compensator

Load Sensing Port:PT1/4

FC Differential
Pressura Adjustment

Drain Porl:G 3/8™

DEC. Flow Adjustment

©22.2 foas

238.5

©101.6-8,

¥ y ﬂ
146
Outlet 25 \_Inlet ©25

200 182

FC Differential
Pressure Adjustment

Proportional Sols id
Prassure Compensator

V23HK, V25HK Proportional Electro-hydraulic Load Sensing Type
f 284 .

Drain Port: G 3/8" .
[16.35 3 & x40 3 PC Pressure  Warning:

116 Adjustment  don't adjust
Filling Port
g \l|
N -
w| Of
1 erd-don ol @
® ® @ : "~
1% || -
o o ¥ @
! [ NN
| 23
} 247 180 14 |
Outlet 200 75 148 Inlet
Threads code 247
135;5:‘9 1314 Proportional Flow Control
S0:NPT3/4"

P31




V SERIES AXIAL PISTON PUMP

V23HQ, V25HQ Load-Sensing Proportional Flow Control

FC Differential

272 Pressure Adjustment
= 06,355 Ji x40
O F— Drain Port:G 3/8' 116 3 PC Pressure Warning:
Adjustrment don't adjust
- 5-
DEC. 51 : w
Flow Adjustment § |" 14 o3| od { Filling Port
ol B 2
3 =] 8 s %
J £ s | ° §
i t 5
N H =T & 2
© ® @ 5 i
D e @
H =
J e
. 248.2 QL Firp )
Qutiat __L..._‘.i
Threads code 160
10:PT(RC)3/4" 200 76.2 146
40:G3/4°
50:NPT3/4" Proportional Flow Gontrol 248.2

V23, V25 Prepared for Thru Drive (SAE Ag82.55)

VeBOoooo-0ogd e e ()

9T DP 16/32 51 z [J6.35:5 §Ex40
Drain Port:G 3/87 18
Flow Adjustment 4]

DEC. i
I
® {‘4 -
o)

INC.

38

Filling Port

ozz.zm

©25.08-41s

@
w8255 2-M10xP1.5

I 14 U
106 26.2 146

Links D:SAE A ©82.55 232 182

|
Jar s
Ry
[
oL,
©101.8-J0s
193 ;
I\,_U_V__‘
13.5%°
93

52
L
1
re=|
k_!\_
68

V23, V25 Prepared for Thru Drive (SAE Bg101.6)
MezODO0OO0-00E00

8.5
9T DP 16/32 51 16.352 §ixa0 INC.
Drain Port.G 3/87 44 F @ :
DEC. Flow Adjusiment . 1 9 ‘5 E@I Filling Port
{ § §' c
LTI .
He B e
= aNan g 8
as| 2 — —_— é 1
91011:1 2-M12xP1.75 23_2‘?0 _l_..ﬁ 1'45
Links E:SAEB ©101.6 232 182
Type| A | B | C |CG| D |DG| E |EG| F |FG| G |GJ|GM|HL |HK|HQ
O O/0|0|O (ORNORNORNORNORNG

Thru Drive Option

P32




V SERIES AXIAL PISTON PUMP

V23, V25 Axial Port

VEOOOEO-00000 ) e

223 58.5 [6.35:5 §ix40
@ Flow Adit Drain Port:G 3/8° l""é'];g j “? Filling Port
—+ O N ;
? | Fepean / el 5
o ' DEC. —
= O L
Jl I R =R IR S T
i | P f S
= 5} L U ©
(@) ‘-T—“ (@) §
Intat 26.2 26.2—Oullet i i
Threads code ' ERIeAcs pOCA) |
10:PT(RC)1" 66.6, 10:PT(RC)3/4 ‘ 14 i
40:G1* = 40:G3/4" 200 ——i:--—
SONPTI® b 50:NPT3/4 l 146
B:axial port 2o RS
V23, V25 4 Connections for Axail Port Crossure Aoysiment O
2. = N "
Cover Plate I = 58. SRR 39 :
51 . Fllling Port
Rers Flow Adjust t Drain Porl:G 3/8" 4] = 2
fLi: o | [
| @
() =5 WANCY - :
DEC. °l e o £
'R 2l ol 8
ETE R @ i
Inlet %u:tleld = 1 T _@“ —] g Bl 2
Threads code reads code = = ——] b—i—
10:PT(RC)1" 10.PT(RC)3/4™ < a
40:61{' / 210 40:(.;3::r4- o Lh‘ i o t _A
50:NPT1* { SO:NPT3/4*
] _ | | 262 l 14 146
Pipe code B2:4 connections for axial port 200 o
intarchangeable for side and rear port) 224 210
Type] A [ B | Cc [cG| D [DG| E [EG| F [FG| G [GJ |GM[HL [HK[HQ
Axial Port Option
V23, V25 Splined Shaft Type V23, V25 Hydraulic Flange
42.5
QOutlet Inlet
9
| 26.2 kT 26.2 32
_: L= =t b
=1 5 < @ 3 @
e
._"_ Threads code Threads code
22 10:PT(RC)3/4" 10:PT(RC)1*
40:BSPP(G)3/4° 40:BSPP(G)3/4"
33. 50:NPT3/4° 50:NPT1"

S5:13T DP16/32

P33




V SERIES AXIAL PISTON PUMP

V38A, V42A Pressure Compensator

INC.

O I 232 283 Pressure Adjustment
e (A
B it [16.35 4 fix40 20 Filling Port
g =
Lhoo |5 =
ol @
ey o g
o & .
e i | =
| i - =[S : @
oo o~ -
- COH R E ) alie=H
4) - I
@31 1— 3
/ 30.2 H..L..._l-!.é 146
4-M10x16 179 Qutlet ©31 160 Inlet ©31
209 198.6

V38B, V42B Multi-stage Flow & Single-stage Pressure
Compensator Control (With cylinder) O

428.5 , 58. INC.

Pressure Adjustment
= - B x40
Drain Port:G1/2" 5 016.35:5: sa i Filling Port
RC1/4 [T e {5
r 2 |
o i
~ P “q
@ - =

il

30.2 _..I..._ 146
4-M10x16,

179 Outlet ®31 160 Inlet @31
209

mzz.m

©25.08-81s

121

L\

Lme_ﬁnl
210
|
|] 13.53°
72 ' 113.5

.
™~
o

198.6

V38C, V42C 2-stage Pressure & Flow Control Type

INC.
. FC Differential
Low Flow Adjustment Pressure Adjustment
\ 294 S58. Filling Port
DEC. High Flow Ad'!ust enf

[16.35-3 8Ex40 PC Pressure Adjustment
Drain Porl:G1/2 ’

]
@ 9
(en
F -
o
©25.084
33

243
122

243

13.5°%°

T, 4

@31~ 3
/ | 14.5 146
198.6 4-M10x1 0.2 Outlet ©3

. 160 Inlet ©31

=218
T4
I
®101.680s
|
72

209 198.6

P34



V SERIES AXIAL PISTON PUMP

V38CG, V42CG 2-stage Pressure & Flow Control Type with Remote

Filling Part FC Differential

Pressure Adjustment
O Low Flow A I 283

sa.s Remote Pressure Port:PT1/4 PC Pressure Adjustment
DEC. Drain Port:G1/2* - ing:
High Flow Adjustmeant 51 d:v:t‘::;‘ig:sl
8 e [16.35:8 Bixa0 =F
8 ]
o &
a2
o Led Iﬂ “
e "g 2 o | e o
0 N - 2
8§ o ] 3 y
. B < -
>4 = ™
e i ¥
@31 |
6
| 14.5 / L——L‘i—~
e 30.21?9 Outlst ©31 e0 | Inlet @31
209 198.6

V38D, V42D Solenoid Controlled Pressure Compensating Type O
with Unloading Device FC Differential

Pressure Adjustment  INC.
: 301 58.5

Solenoid Control Valves PC Pressure Adjusiment

|

51 .35:8 fixqq  Filling Port
Drain Port:G1/27 D8.35:3 &x40
Flow Adjustment a

O o \ 9

o

ceostm |
©25.08.8.15

|
i ] ! ;" o
b n| 9
1 i =] o
L] P ! ] T
"‘1_ A | —— @ é_._
“ > |4 & o
b = ~
@31

/ |____1,§_6__,_..
A-Mioxd 30.2 *L-—“—“s Outlet®31 Inlet @31

178 160
209

V38DG, V42DG Solenoid Controlled Pressure Compensating Type
with Unloading Device & Remote

Filling Port FC Differential
Pressure Adjusiment
Solenoid Contral Vaives d am
e Remote Prassure Port:PT1/4 PC Pressure Adjustment
) Drain Port:G1/2° Warning:
Flow Adjustment 51 Armning:

33

o] 16.35:3 3ixd0 don't adjust
N \CRL [ |
o o | = = -
X :
i o)
o
‘ 5

h: i Ym 5“ =
©31
0. ..l o145 l 146 |
4-M10x16/ 3_21 79 Outlet ®31

160

209

198.6

162

-'_'——-___
©25.08-0.1s
283
132

©101.60s
|
13.5%7
72

Inlet @31

P35




V SERIES AXIAL PISTON PUMP

V38E, V42E Dual Pressure Control

Solenoid Control Valves

301

Drain Port:G1/2"

[16.353 8840 Filling Port

o)kt
oF
e o
)
30.2
4-M10x16/
209

)

INC.

FC Differential
Pressure Adjustment

PC Pressure Adjusiment

V38EG, V42EG Dual & Remote Pressure Control

O Low Flow Adjustment

DEC.

DEC.
T
rl l-HYDROlIE

L —e. .

Solenoid Control Valves

Flow Adj

301

Pressure Port:PT1/4

High Flow Adjusimant

243

% 1 %
1o @
0 i (‘I_
o | =l
o in] o
g & ol 7
y ©
? o
&
146
Outlet ©31 Inlet ©31
v 160
198.6
Filling Port FC Difierential

Pressure Adjusiment

56.5 PC Pressure Adjustiment
Drain Porl:G1/2* - Warning:
51 16,3573 8x4 o don't adjust
18 a9 . Ll
o | = =
o 2
ol o wn
e g | o B
Sl g | =l
o oy &
P~ ~ ® @ : %
wl =
9 M (N
31 L™
/ 30.2 __l_...M 146
A-M10x1 179 Outlet®3 160 inlet@31
209 198.6
V38F, V42F Flow-2 Pressure Control by Solenoid Operated Valve
INC.
FC Differential
Solenoid Control Valves Pressure Adjustment
r[— a01 , 58.5 Filling Port
5 PC Pressure Adjustmant
Drain Port:G1/2* E8.35:3 8 x40
= e R E " =
o wEE 3
o o ﬁ L
8 g .
| > o
<+ o
) a -
o Fan = =
et il g
|9 o
@31 L
/ 30.2 __L________M_s 146
4-M10x16 = Outlet @31, inlet®31
179 = 160 — e
209 198.6

P36




V SERIES AXIAL PISTON PUMP

V38FG, V42FG 2 Flow-2 Pressure Control by Solenoid Operated & Remote Valve

FC Differential
Pressure Adjustment
Soleneid Control Valves il
5 : Filling Port
O Low Flow Adi 1 301 Remote Pressure Porl:PT1/4 9 PC Pressure Adjustment
DEC.

Drain Porl:G1/2* gy \ Warning:
don't adjust
06.35:F fixa0

High Flow Adjusiment

51
18 2 . S
Ll ol = =
d 3
ol 2
of o ] o
® e B o | e
1 ol ™ by
- i
MT 1 - )
b A _L :5 1]
[ x —
; A - 3
4 S [="F = h
o o)
5| = S
B L -
31 T[]
/ 146
30.2 Q.L..J"_ﬁ
4-M10x16 Outlat ®31 e Inlet ®31
179
209 198.6

V38G, V42G Remoted Pressure Compensator Control

Remole Pressure Port:PT1/4

Pressure Adjustment
Drain Port:G1/2%

232, Warning:
O | 5B.5, don'tadjust
Flow Adjustment 39

[16.35:8 §ix40

i

o
©25.08-§.15

- Filling Port

a [
wl - o |
) | / i ?.Z_'|9
d o: (:_, Tl
Fdiail= —L ") = =1
S==! 5 ]
| : . i
31 .:Jr“'
/ I 14.5 / L—”ﬁ_—l
4-M10x16 30.2 = Outlet @31 Inlet @31
179 160
209 198.6

V38GJ, V42GJ Proportional Pressure with Interface

2323 |
O Flow Adjusiment 51 / Proportional Solenoid Pressure Adjusiment

Pressure Compensator : ==
DEC. Drain Port:G1/2" - Warning:don't adjusi
| [16.35:8 x40
A Filling Port
58.5 3
__ { EE :

£ w
J 5 =
| =%
o B
o
| w
) o o]
-] o - i
- S — / = “l o I ?: :
oy - ] = ]
~ + I
h ~ A g o, i ot :
: - = o = 5 ] o
& ) &
(]
@31 | X

146
a0.2 A_I,..M Oullet ®31 Inlet ©31
4-M10x1 179 160

209 198.6

P37




V SERIES AXIAL PISTON PUMP

V38GM, V42GM Remote Interface (Not include valve)

NGB
20 + , +
[ £ Pressure Adjustment
°0 + ¥ Warning:don't adjust
[16.35:8 8ix40
.,$ ,';‘ = Filling Port
o 2
o] e
el & l
A 7] w
o o o
o & =
: -~
] o
~
30.2 _"I_ 14.5 145
198.6 4-M10x16, 179 Quilet @3 160 inlet®31
209 198.6
V38HL, V42HL Load-sensing Compensator
FC Differential
Pressure Adjusiment
Load Sensing Porl:PT1/4
Drain Port:G1/2" PC Pressure Adjusiment =
I 232 58.5
Flow Adjustment 119 ag
i [16.35:8 8 x40
- Filling Port
of 8 ]
) g ) 1 -
a o
i - | o wi
1] B oo a
wf o o I
'l l 3 Y& Slis
S AN - P ! P
4f S b |
(=] P
©31 -m’
/ 30.2 __l_...ﬂ 146
4-M10x18, 179 Qullet @3 160 Inlet ©31
209 198.6
V38HK, V42HK Proportional Electro-hydraulic Load FC Difterential
S . T Pressure Adjustment
ensin e A
g yp Drain Port G152 PC Pressure Adjustment ~ Warning:
202 1 don't adjust
Proportional Sclenoid t - 58.5 a9
O Pressure Compensalor \119 [16.35:3 8 x40
- 21 T
DEC, 18 g = Filling Part
Flow Adjustmant =s| oo &
of 2 8 Ml |
B 8 o r
o8| -
3 =4 s = ' s
|} ERNELS 2"
P ) ) a1
t:' 5 : 3
(=]
o\——ﬂ‘__;_.
262.3 14.5 146
} SELAE
Oultet Drain Port:PT1/4 140 Intet
Threads code D31
10:PT(RC)1" 75 160
40:G1* Proportional Flow Control 262
S0:NFT1"

P38




V SERIES AXIAL PISTON PUMP

V38HQ, V42HQ Load-sensing Proportional Flow Control

FC Differential
Pressure Adjustment

280 PC Pressure Adjusiment Warning:
58.5 39 don't adjust
O ) Drain Port:G1/2" % [16.35 -3 $2x40 _
18, 2 W 5 Filling Port
DEC. & &
Flow Adjustment L2 o'; gg 2
® € 8l g ) _
3 I ° 3 5 o @
o o) o )
o ® | © [ = o) ©
5 EB_ ® ¢ Y o -
©w pu— O -
- - kD : :
| —’e'_ ~
© | ® 1 5 O~
2623 Outlet e 146
' TopT RO — 15 160 a1
40:G1" Proportional Flow Control 262.3
50:NPT1"
V38, V42 Prepared for Thru Drive (SAE Ag82.55)
vieg [ IOO—OCBIEE O
O { 232 8. Pressure Adjustment
) 51 INC.
A0 .65 oEC. Flow Adjustment Drain Port:G1/2" 7 06.353 Exd0 " S
el y
b 3 2 )
ol w
o o 3 g S < | ‘:' g
ol ‘Q]j I 3 =i o -
oUJ) BN 4= & _
1 $ﬂ § Nr
\ SO at R
40.0f - [Ts]
$82.55%¢ 2-M10xP1.5 oo -__1] 14.5
106 174 I 148
Links D:SAE A ©82.55 231 195.6
V38, V42 Prepared for Thru Drive (SAE Bg101.6)
MeEaOOOOO—-0O0E00 e () prssue rgrmen
. . 51 INC.
VYIS Flow Adjustment Drain Port:G1/2"* . 06,353 x40 " Filling Port
DEC. + 9 /_z °
2| e
o o 3 )
W
(] I e e = | o o
5 ; e 78 N
b BE PN EYELaN==2 3 N M !
: ] %ﬂ l 2 hy
E P S — -1 R
©101.639% 2-Mi2xP175 5 I
: 30.2 | | 145
146 174 | 146
Links E:SAEB ®101.6 231 198.6

Type] A | B | C [CG| D [DG| E [EG] F [FG
0] ONNONNONNG

Thru Drive Option

GJ |GM|HL [HK|HQ

oo
O
O
O
o
o

P39




V SERIES AXIAL PISTON PUMP

V38, V42 Axial Port

Pressure Adjustment
INC.

E0-00000

7 <F: |

A 51 Filling Port
—— A% O . Ry 16.35:9 $x40 39
: T DEC. Drain Port:G1/2 1 ) )
) Flow Adjustmem - :3 : B
fHé @ | @& &g ol S 5
o 4 5 o § & i
FAN j | 9 = ? >
i ST b3
. . o ° L
oL » P
Ve - £
gl:;mm 30.2_ 30.2| Outlet = H— -F f ~
0PTRO)1- 14 TOPTRON" 2
40:G1-1/4" ~88.0] e ey
S0:NPT1-1/4" 204 SO:NPT1" | 14 146
= | 2 5
B:axial porl ' t 209 1898.6
241
r
V38, V42 4 Connections for Axial Port O
MesDOORO-— 00000 | . e o ez Adusimns
Cover Plate 51 [16.35-3 2 x40 a9 Filling Port
M @ I Drain Port:G1/2* 8l -
DEC. o3| = ] S
Flow Adjustment 9 o = u
O @ ] I
2l el o b
Infet — —1{ Outlet o| 7
Threads code | Threads code - &
Sresbiied 0 10:PT(RC)1" 2 _L I,
:G1-1/4" 40.61° 7
S0:NPT1-1/4* ‘m:mpn- —( H— e
= L
. 224 | E = =
30.2 = | 14.5 146
Pipe code B2:4 connections for axial port 179 198.6
interchangeabie for side and rear port) 209
241 224
Type| A | B | C [cG| D [DG| E [EG]| F [FG| G [GJ[GM[HL[HK[HQ
Axial Port Option

V38, V42 Splined Shaft Type

425

9

[T

|
.

=

]
N

[T

©101.6-80s

S:13T DP16/32

51:15T DP16/32

V38, V42 Hydraulic Flange

Qutlet
30.2

32

-

D @

58.7

:

Qutlet

50:NPT1*

58.7

inlet

30.2

©.©

-

@ @

Inlet
- l—- Threads code Threads code
! 23 L 27 10:PT(RC)1* 10:PT(RC)1-1/4"
axs 2R 40:BSPP(G)1" 40:BSPP(G)1-1/4"

50:NPT1-1/4"

P40




V SERIES AXIAL PISTON PUMP

V50A, V70A Pressure Compensator

INC. Prassure Adjusiment
O . 306 57
[O7.94:§ §ixas
e Flow Adjustment 73, b8
DEC. _ p .
Drain Porl:G 3/4° A 74, Filling Port
] idf °%| =5
2 8
Lt
a 3 |
o ]
2 0l ~ 2
o o
== N :
o =
i g
24 i
| 0115
181
300 Outlet®3s/ [ | 208 Inle! ®38
261.5

V50B, V70B Multi-stage Flow & Single-stage Pressure
Compensator Control (With cylinder)

()

57 Prassure Adjustment  ING.
|y
L] [17.94 4% x45
Drain Port:G 3/4° = g . 74 Filling Port
T 1
28
=l w
@ =
2] el e |
A o)
2 : 0 e
@ . =
; =1 5 &
8 8
©38 1 i
/ | 24
4-M12x2, ! 35.7 e 115
256.5 181
300 Outlet® 208 Inlet ©38

261.5
V50C, V70C 2-stage Pressure & Flow Control Type
INC.
T4a FC Differential
Low Flow Adjustment = /MMLM
409.4 57 PC Prassure Adjustmea
High Flow Adjustmant = /—[—w
Drain Port:G 3/4* [17.94 28 §ixas -
33 § ¢ Filling Port
[Ehdl = = &
| 2 @ b ;
= v
o } 8l 8 o o o0 0
o L o = 22| o
2 o D @] O
] o = ® © = L] I -
©, 3‘ T .__.} Y -
9 B =)
©38 N =
! 24
4-M12x2 | 35.7 i Ot
256.5 181
300 Outlet® 3| 208 _ Inlet 938
261.5

P41




V SERIES AXIAL PISTON PUMP

V50D, V70D Solenoid Controlled Pressure Compensating
Type with Unloading Device

()

DEC.

Flow Adjustment Solenoid Conlrol Valve:

306 161

57

Pressure Adjustment =

Drain Port:G 3/4"

[17.94:8 §ix4s 1

©31.75 -Boas
035.35 -f2

325

Filling Port

1842

©38 i J:' i / ey
M | N
e Outlel ©38, Inlel 38
300
V50F, V70F 2 Flow-2 Pressure Control by Solenoid S
Operated Valve Herentia

Prassure Adjustment
Solenoid Control Valves

408

Low Flow Adjust

()

PC Pressure Adjusiment ING.

57 229
DEC. High Flow Adjustmen 84
Drain Port:G 3/4" [17.94:3 % x45 Filling Port _
oy 8 . i
10lf =5| = =
gl o -
= oo
o & © o | i
© o e Al E 5| 8
o 1 I =1 hd It
= g
L] - — -
= Y
o (=1
o =
©38
24 11
4-M12x25/ ! L:Ei*s
256.5 Inlet
300 Qutlet ©38, 208 D38
261.5
V50G, V70G Remoted Pressure Compensator Control
: Warning:
Drain Port:G 3/4* don't adjust Remote P Porl:PT1/4
i 306 Prassure Adj
BT S S Filling Port
g =
=5| o
28
= w
Q| u w| o e 50
LI o 2l 5| &
3 o
o 5
e ) 2
by b =
D38 -4 |
.24
4-M12x25,
Outlet 38 208 Inlet ©38
261.5

P42




V SERIES AXIAL PISTON PUMP

V50GJ, V70GJ Proportional Pressure with interface

Proportional Solenoid I 306
Pressure Compensator

73 : ;
33 don't adjust Prassure Adjustment S
[17.94 5 Bixds _
g 2 1 g Filling Port
== =2
Flow Adjustment D - r‘f‘. .."',
ol 9 f
el 8 .
al= ad
]I el T H = O
s B nE h - 7
o } L ~ |53
o
e, e 1 _8_“
3B |
24
4-M12x25/ —mt-pa22T —=teat i
256.5 181
e Qutlet®38 208 _Inlet®38
261.5
V50GM, V70GM Remote Interface (Not include valve)
NGE
Prassure Adjustment
1 306 Warning:don't adjust
() K
Filling Port
i 33 O7.94-3 Bxas 74
e Flow Adjustment Drain PortG 3/4" = : )
| 8 i
1of Tl =
f ol 9 o 0
| 5 @ 4 b
Lo ] | | |
a2 a g 1
o =
o CE ) | d .,‘r". % o
- b — ™~ L=
—? D l:i Y g
2|9 e
©38 115
4-M12x25/ 35.7 _-I_...Eﬁ 181
256.5 _Outlet®38 208 Iniet ©38
300 261.5
V50HL, V70HL Load-sensing Compensator
FC Ditferential
Pressure Adjustment
Drain Port:G 3/4" _PC Pressure Adjustmant P e s s
e 306
O ’
Flow Adjustment
REC: C7.94:38ixd5 Filling Port

P43

8 .
wJa ) =5 e
| el 8 g .
.. il B
o o )
o 8 3 2 3
o ]
2 o
J :
iz o
2 =
[
@38
24 (
o 115
a-mizxzs/ Jol e 35. . Ot1s |
256.5 181
300 Outlet ®38, 208 Inlel ©38
261.5




V SERIES AXIAL PISTON PUMP

FC Ditferential
Pressure Adjustment

V50HK, V70HK Proportional Electro-hydraulic Load
Sensing Type

Drain Port; G 3/4" PC Pressure Adjustiment  Warning:

Proportional Solenoid : 454 don't adjust
O E o 180.5 57
DEC. . = [07.94:8 8x45 Filling Port
Flow Adjustment -39 "
[l 1df =| =
! 2l 8 f
o 8 o
& 1 | bl 5. @
. 596 r
= — — - L
o
2 9 8
|24
Qutlet
Threads code 00 :
I 10:PT(RC)1-1/4" 321.4 Drain Porl:PT1/4
40:G1-1/4" 80,
S0:NPT1-1/4" Proportional Flow Control
V50HQ, V70HQ Load-Sensing Proportional Flow Control
FC Diff
Pmssu?ée::’?.:stmnm
Drain Port:G 3/4" 5
PC Pressure Adj ing:
O don't adjust
[17.94:3 8x45 184
DEC. " .
Flow Adjustment f eg ;‘; Elling Eod
e - a
o =l A =
ol &
af o el e i N0
® b 1 ] it | .8—
| g —
;". e 5
8 o
.'L 5 - $ 5 B
5
104
Outlet BELs
314.8 Threads code 321.4 181
F 10:PT(RC)1-1/4 208
40:G1-1/4"
S0:NPT1-1/4" 314.8
V50, V70 Splined Shaft Type V50, V70 Hydraulic Flange
55.5
10 Outlet Inlet
35.7 |__g2__| 35.7 I__g_l
D) @ D ©
o o)
“+— |- | w
Threads code Threads code
10:PT(RC)1-1/4" 10:PT(RC)1-1/2"
22.9 40:BSPP(G)1-1/4" 40:BSPP(G)1-1/2"
S0:NPT1-1/4" SO:NPT1-1/2"
45.5

S5:14T DP12/24

P44




V SERIES AXIAL PISTON PUMP

V50, V70 Prepared for Thru Drive (SAE Ag82.55, SAE Bz101.6)

MEOOO00—-00B00
MEOODOOO—O0EDD @)

Pressure Adjustment
O L 306 57 , INC. I
73 — [07.94-
Flow Adjustment 5 [07.94:8 fEixd5

DEC. Drain Port:G 3/4"

® ® QI
©101.6 4% | l| 2-M12xP1.75 *L

s
(=]

14T M1.25 14T M1.25

®31.75 -Bo2s
©35.35 .82

©

Ty
L
|
| |
©127-80
233.5

wlj ._—-—-“‘_-':'

+0.08 _ﬁ
©82.55"8 | 258.5
146
| 1SS
MIGRERIED Links D:318
Links E:323
Links D:SAE A ©82.55 E:SAEB ©101.6

Typel A| B | C |[CG| D |[DG| E [EG| F |FG
O ORNONNONNO)

Thru Drive Option

GJ |GM|HL |HK|HQ

o®
O
O
O
o
o

V50, V70 Axial Port

V2 3 O | O

Pressure Adjusiment
3086 57
Inlet Qutiat INC.

Threads code Threads code Flow Adjustment 73, -
10:PT(RC)1-1/2"  10:PT(RC)1-1/4" C17.84 8 Bx45

Drain Port:G 3/4"° 33 o 74 il
40:G1-1/2" 40:G1-1/4" -t H ] Filling Port
50:NPT1-1/2" 50:NPT1-1/4" oe
\ DEC. M . ’ :

® e
N
L

©35.358:

18+ 3
133.5

U
| VEnY
[ESee—

012?305
233.5
11
j‘
A\
=i
[ELIa
= L™
100

w _ﬁ_'_Ew
l 269 ’ 0115
357 axial porl 295.5 181
' Pipe code Baxialport 300 261.5
357
Type| A | B D|F GJ |GM|HL [HK|HQ

O|o
o
o

00

Axial Port Option

G
0/0|0|0O

P45




V SERIES AXIAL PISTON PUMP

No. Description No. Description No. Description

1 Bolt 18 Shaft Key 35 M snap ring 52 Valve plate

2 Port plug 19 Bearing of shaft 36 Plug 53 Snap ring

3 Pressure compensator 20 Bearing of shaft 37 Bolt 54 Washer cylinder block
4 O-ring 21 Servo spring washer 38 Flange 55 Retainer spring

5 Gasket 22 Servo spring 39 O-ring 56 Washer cylinder block
6 Lock nut 23 End cover seal 40 Bolt 57 Cylinder block

7 O-ring 24 Pump body 41 Roller 58 Roller

8 Control compensator shaft 25 Drain plug 42 Roller 59 Cylinder block holder
9 Spring washer 26 Filling screw 43 End cover 60 Slipper retainer

10 Control spring 27 O-ring 44 Roller 61 Pistons

11 O-ring washer 28 O-ring 45 O-ring 62 Piston head

12 O-ring 29 Swash shaft 46 Flange 63 Flow screw

13 Lock nut 30 Bolt 47 Bolt 64 O-ring

14 Screw 31 Bolt 48 Plug 65 Sleeve piston

15 Slipper plate 32 Swash shaft 49 Washer cylinder block 66 Servo piston sleeve
16 Swash 33 O-ring 50 Bearing of pump cover

17 Shaft 34 Shaft seal 51 Bearing of pump cover

P46




VR SERIES AXIAL PISTON PUMP

VR15A 3% % B-3¢ Axial Port

B 3 Pressure Adjustment
OUTLET PORT
BSPP Gi(Threads code 40) = Case Drain Inlst
SAE 1 116(Threads code 60) . 5
04.76 13 X32
N uT!
n ".: 3
il e 8
==} W
INLET PORT 872 g
BSPP G1(Threads code 40) 95'5 I I & INLET®25
- = — "
SAE 1 1/16(Threads code 60)| 131 4-Mex2ol 21.15.8
168 70 ©19.05_§ 023
169.5
184
) 9, H -
VR23A 3¢ % B-%%¢ Axial Port (Pipe type)
221 58,5
Pressure Adjusiment
Drain PT(RC)3/8
QUTLET PORT Lase iniBTARG) B 39 Case Drain Inlet

BSPP G1(Threads code 40) Flow Adjusiment

52 MI

9 : ®
SAE 1 1/16(Threads code 60) 06.35:3°7° X35 L
/ e = A =
= f\‘ _:E- 2
ﬂ'—h @11z
- AN LI
l/l|°g OUTLET®2 \)19: 2
“i % b
|1 8 @172
INLET PORT, e e
BSPP G1(Threads code 40) @25 25085 146 LNLEI D
0 025 180
SAE 1 1/16(Threads code 60) < I_‘LQ |022,2 b
189
VR38A 3¢ ¢ B-%%¢ Axial Port (Pipe type)
221 58.5
Pressura Adjusiment
OUTLET PORT Case Drain PT(RC)1/2 48, Case Drain Inlet

BSPP Gi(Threads code 40)

SAE 1 1/16{Threads code 60) 1 Flow Adjustmant

121

51 | 9 . E5
o7 | D63:3%°x3s "’

110

INLET PORT
BSPP G1(Threads code 40)

SAE 1 1/16(Threads code 60)

P47

] 5
-|/ s OUTLET®31 f@ ) j i

o1

6
T8
=]

D25

11.2

| 25.08 82
D222 0

|
~

146 INLET®25

180




V SERIES TANDEM AXIAL PISTON

PUMP

V15(vV18) V23(V25) V23(v25) V38(vV42) V38(V42) V38(v42) V50(V70) V50(V70) V50(V70)
vV1i5(v18) V15(V18) V23(v25) V15(Vi8) V23(V25) V38(V42) V15(Vi8) V23(V25) V38(V42)
A G 3/8" G 3/8" G 3/8" G 3/8" G 3/8" G1/2" G 3/8" G 3/8" G1/2"
B G 3/8" G 3/8" G 3/8" G1/2" G1/2" G1/2" G 3/4" G 3/4" G 3/4"
(o] 57.45 57.45 61 57.45 61 73 57.45 61 73
D 35.1 35.1 52.4 35.1 52.4 58.7 35.1 52.4 58.7
E 35.1 35.1 26.2 35.1 26.2 30.2 35.1 26.2 30.2
F 35.1 52.4 52.4 58.7 58.7 58.7 69.9 69.9 69.9
G 35.1 26.2 26.2 30.2 30.2 30.2 35.7 35.7 35.7
H M8x20 M8x20 M10x16 M8x20 M10x16 M10x16 M8x20 M10x16 M10x16
| M8x20 M10x16 M10x16 M10x16 M10x16 M10x16 M12x25 M12x25 M12x25
J 147 147 170 147 170 179 147 170 179
K 147 170 170 179 179 179 256.5 256.5 256.5
L 332 369 402 378 401 410 464 493 502
M 382 419 455 428 454 465 515 546 555
N 48 48 51 48 51 51 48 51 51
(o] 48 51 51 51 51 51 73 73 73
P 6 9 9 9 9 9 10 10 10
Q 4.76x32 6.35x40 6.35x40 6.35x40 6.35x40 6.35x40 7.94x45 7.94x45 7.94x45
R 13 14 14 14.5 14.5 14.5 24 24 24
S 019.05 022.22 022.22 022.22 022.22 022.22 031.75 031.75 231.75
T 21.15 25.08 25.08 25.08 25.08 25.08 35.35 35.35 35.35
U 082.55 0101.6 2101.6 0101.6 0101.6 2101.6 0127 o127 0127
Vv 025 225 025 231 031 231 238 238 238
w 225 225 225 231 031 231 238 238 238
X 106 146 146 146 146 146 181 181 181
Y 131 146 146 160 160 160 208 208 208
z 165 182 182 198.6 198.6 198.6 261.5 261.5 261.5
Al 44 39 39 39 39 39 74 74 74
A2 31.2 31.2 31.2 31.2 31.2 31.2 40 40 40
A3 5 5 5 5 5 5 8 8 8
A4 84 110 110 121 121 121 119 119 119
A5 11 13.5 135 13.5 13.5 135 18 18 18
A6 445 58.5 58.5 58.5 58.5 58.5 57 57 57
A7 160 193 193 210 210 210 233.5 233.5 233.5
A8 91.5 93 93 113.5 113.5 113.5 133.5 133.5 133.5
A9 60 68 68 72 72 72 100 100 100
Pump 2 Pump 1
O Drain Port B O ., A6,
i Drain Port A N b Pressure Adjustment
. 2 < Filling Port G
Flow Adj -
SISk 3=
— = | I fmm |3 . 2
(& ® © (& & _L = 0
3
1D T =3 1g |4 (D) s=+
914 \¢|¢ :
§ | - 3
: J K _-L*ﬁ Q!‘-'ﬁ'-!'/ : \mlst_\oL
L z
M

P48




AR SERIES AXIAL PISTON
AR Control Type (see page. 15,16,17)

01: Pressure Compensator
G: Remote Pressure Compensator
GJ: Layer Porportional Pressure Compensator

PUMP

out
GR: Electrical Unloading
GB: Dual Pressure Control
GC: Dual Pressure+Electrical Unloading &
GM: Remote Pressure Compensator allows a pilot valve w” 1IN
HL: Load-sensing Compensator
xStandard
R 0 0
. . Pres. Adj.
OC . Direction Control Port Shaft Threads .
Mounting | ¢ Rotation Type Ra(rlivglggal):ar Position | Extension  Code Deslgn
AR1 Viewed from 01: Pressure *K: Keyed *10: PT(RC)
6 Shaft End Compensator G: 16/32 theard
(15.8cc/rev) * R: Clockwise Type B:12~70 DP-13T 40: BSPP(G)
— ] E FI Mt (Standard) HL: Load Sensing (1.2~7) None: Axial Port T: 16/32 theard X
- rlange Vig. L: Counter Compensator C:12~210 S: Side Port DP-9T 50: NPT *Y
AR22 Clockwise G: Remote (1.2~21) theard
(22.2cc/rev) Pressure
Compensator
Filling Port
RC 9/16 " -18UNF RC ¥/8" (PT 3/8") MAX 165.5 Luk Nut
MAX 185 / 44.5 MAX 100.5 Pressure
+ Adj. Screws [~ ——————
68 65 4.76'5" |
T2s . | I |
& I © = . I |
T °%| o5 iC l—- |
Y - § & IS 2 2 : ¢ e
h1—-g - b= X
{ ) p— oo o | I-—-i:
S d = L e e o - 41
g (L g = '[ [
] |
ection / - 4 |OPTIONAL SPLINE |
/il / RE |
10 Outlet AC 1/2* ; 113 To0TH 18/320p |
147 (for Side Port) 108 | N\e inlet RC /4* | 9 TOOTH 182 DR |
e - & (lor Side Pon) | |
| P e 4

AR-16 Input Speed:1800 rpm/min Fluid:Standard Hydraulic Oil ISO VG32 @50°C

ES Noise Level (1m horizontally away from pump head cover)
Performance Characteristic -g E
P Vol. Effi i
90 =
% Quergll Efficieficy (=] E‘ Em
g & -
5 Full Flow - -
560 L 0 42 §eo e ;
§5° 10 3 % A [ []
o . 1|
b o 1=z 2 i £l rucpon
J/’gt 6 ? 50 &
20 /, he 10 4
10— A0} £
£ r P i 8y 4 12 7
(o8 816 (122 (163 @408 (818 (1220 (163

—* Pressure Mpa (bar)

AR-22 Input Speed:1800 rpm/min

—* Pressure Mpa (bar)

Fluid:Standard Hydraulic Oil ISO VG32 @50°C

EE Noise Level (1m horizontalty away from pump head cover)
Performance Characteristic § 5
100 " Eha = o
s e -
L etd I8 - s 3 70
80 40
e Qutput Figw T T g
g |1/ I E PN ot —T" |
7 = 12 80 |- . . ¥
50 < 10 : z .
“ - 2 18 g i H—Ful cyton
i — 6"'@ . foola
20 ///w P 0 14
10 A 2
% 1 o e 0 40 y [ 12 6
@8 ®B18 022 (163 s  (B18 (22 (83

—*Pressure Mpa (bar) —*Pressure Mpa (bar)

P49




AR SERIES AXIAL PISTON PUMP

No. Description No. Description No. Description No. Description

1

© 0o N o o B W0N

B . BN . .
o o N = O

—_
~

Pump body

Swash

Swash shaft

Swash plate

Body seal

Servo piston sleeve
Servo spring washer
Swash spring

Pump body / end cover
Sleeve piston

Flow bar

Seal

Valve

Screw M5x25L

6305 bearing front

18
19
20
21
22
23
25
26
27
28
29
30
32
34

35

C snap ring 1-1/2
1715 bearing rear
Shaft seal

Screw M10x40L
R62 snap ring

Plug, feeder

Key

Locator pin, body
Locator pin, cradle
Locator pin, 26x12.8
O-ring P8 70°
O-ring P7

O-ring S11

Cylinder block holder

Roller

36
37
37A
38
39
40
41
42
51
52
53
54
55
56
57

Slipper retainer
Piston

Head of piston
Cylinder block

Valve plate

Snap ring for bore R28
Washer cylinder block
Retainer spring

Screw M10x30

Lock nut M10

Control lock nut
O-ring P14 70°
Control washer
Control spring

Spring washer

58
61
62
63
64
65
66
67
68
69
70
71
72-73
74-75

Control compensator shaft
Flange 506A (6”)
O-ring G30

Pipe plug 1/2
Pipe plug 3/4
NPT 1/16

Screw M8x35
Screw M10x35
Lock nut M8
Body seal
Plastic plug 3/4
Plastic plug 3/8
Name Plate

Description label

P50




PV SERIES AXIAL PISTON PUMP
FEATURES

1. New type of swash plate and large servo pistons with
strong bias spring achieve fast response, reduce the
noise due to active decompression of system at down
stroke. out

2. Nine piston and new precompression technology
(precompression filter volume) result in unbeaten low
outlet flow pulsation.

i Rigid and FEM-optimized body design for lowest noise
level.
4. Thru drive for 100% nominal torque.

5. Pump combinations (tandem pumps) of same size and
model and mounting interface for basically all metric or
SAE mounting interfaces.

&
NRILY

Continuous: 350bar
Intermittent: 420bar

Quick Reference Data Chart

Pump Delivery (7 bar) 100 PSI

Displacement

1200 RPM 1500 RPM 1800 RPM
cc/rev In’/rev LPM U.S. GPM LPM U.S. GPM LPM U.S. GPM
PV016 16 0.98 19.2 5.1 24 6.3 28.8 7.6
PV020 20 1.2 24 6.3 30 7.9 36 9.5
PV023 23 1.4 27.6 7.3 34.5 9.1 41.4 10.9
PV032 32 19 38.4 10.1 48 12.7 57.6 15.2
PV040 40 2.4 48 12.7 60 15.9 72 19
PV046 46 2.8 55.2 14.6 69 18.2 82.8 21.9
PV063 63 3.8 75.6 20 94.5 25 113.4 30
PVO71 71 4.3 85.8 22.7 107 28.3 128.7 34
PV080 80 4.8 96 25.4 120 31.7 144 38
PV092 92 5.6 110.4 29.2 138 36.5 165.6 43.8
PV140 140 8.5 168 444 210 55.5 252.1 66.6
PV180 180 11 216 57.1 270 71.3 324 85.6
PV270 270 16.5 324 85.6 405 107 486 128.4

APPROX. Noise Levels

Db(A) Full Flow and 1500 RPM

Input Horse Power,
Max. Displacement &

Operating Speed

345 bar (5000PSI)

70 bar 207 bar = 343 bar | 1500rpm | 1800 rpm

(1 KPSI) (3 KPSI) (5 KPSI) KW(hp) KW(hp) RPM RPM kg b
PVO016 15.5 (20.8) 18.5 (24.8)
PV020 56 60 68 19.5 (26.1) 23.4 (31.4) 2750 19 41.8
PV023 225 (30.2) 25.1 (33.6)
PV032 31 (41.6) 35.1 (47.1)
PV040 59 62 69 39 (52.9) 46.5 (62.3) 2400 30 66
PV046 45 (60.3) 50.2 (67.3)
PV063 61.5 (82.4) 70.1 (94) 2100 300
PV071 70 (93.8) 80 (107.2) 2100

— 66 70 74 60 132

PV080 78 (104.6) 89.2 (119.6) 2000
PV092 89.5 (120) | 136.8 (183.4) 1900
PV140 70 74 76 136 (182.3) | 149.4 (200.3) 2200 90 198
PV180 71 75 77 175 (235) 210 (282) 2200 90 198
PV270 77 79 81 263 (353) 298 (400) 1800 172 378.4

1. Installation outlet port top, the pipe have to less than 2 bar.

2. The use of max. pressure override 6 min, hydraulic oil clean that see General Installation Information.

3. Hydrome offer tandem pumps, and other pumps connection, the connection type use metric version and
SAE version dimensions.

P51




PV SERIES AXIAL PISTON PUMP

PV-063-GT-R-M-1-A -3 - 3% -
4 5 7

1 2 3 6 8 9 10

1 Series  Axial piston pump variable displacement high pressure version
2 Size and Displacement
Code Displacement cc/rev (In*/rev) Code Displacement cc/rev (In°/rev) Code Displacement cc/rev (In°/rev)
016 16 (0.98) 046 46 (2.8) 140 140 (8.5)
020 20 (1.2) 063 63 (3.8) 180 180 (10.9)
023 23 (1.4) 071 71 (4.3) 270 270 (16.5)
032 32 (1.9) 080 80 (4.8)
040 40 (2.4) 092 92 (5.6)
3 Control Types
Code \ Compensator Code Horse PVO16~ | PV032~ | PV063~ | PV140 | PV180 | PV270
LS Standard Type Pressure Compensator power PV023 PV046 PV092
A2 10~140 bar A 3KW [ J
A3 40~210 bar B 4 KW [
A4 70~350 bar C 5.5 KW [ J [ ]
Remote Type D 7.5 KW (J [ ]
* GT Remote pressure compensator E 11 KW [ [ J [ ]
% GM Remote pressure compensator allows a pilot valve F 15 KW [ (J
GA Remote pressure compensator allows a pilot valve G 18.5 KW [ [ (J
(valve included) H 22 KW (] [ ] () (]
GJ Layer proportional pressure compensator | 30 KW [ ] [ ] [ ]
(valve included) J 37 KW (J (J [ ] [ J
Electrical Unloading Type K 45 KW J (J [ ] (J
GR Electrical unloading L 55 KW [ ] [ L J
GB Dual pressure control M 75 KW [ ] [ J
GC Dual pressure+electrical unloading N 90 KW [ (J
Load-sensing Type 0 110 KW [ ]
¥ HL Load-sensing type P 132 KW (J
HM Load-sensing type
HJ 2-valve load-sensing type (valve included)
HA 2-valve load-sensing type
HK Proportional electro-hydraulic load sensing type
HQ Load-sensing & Proportional flow control
Proportionable displacement Type
FV Proportionable displacement control
FR Proportionable displacement control with pressure
FG Proportionable displacement control with pressure
control
Horse Power Type
PAL] Horse power compensator
- PML ] Horse power compensator, pilot flow internal
pressure pilot valve (valve included)
PG[ ] Horse power compensator, pilot flow internal
pL] Horse power compensator, load-sensing
compensator
PH[ | Horse power compensator, pilot flow external for
load-sensing
4 Rotation (Viewed from shaft end)
Code Rotation
#% R clockwise )
L counterclockwise (.,

P52




PV SERIES AXIAL PISTON PUMP

PV-063-GT-R-M-1-A- 3 -3 -
4 5 6 7

1 2 3 8 9 10
5 Mounting
Code Mounting Code Mounting
% M (standard) Metric ISO 3019/2 Cylindric, key N Inch ISO 3019/1 Cylindric, key
K ISO 3019/2 Splined, DIN5480 D ISO 3019/1 Splined, SAE
Shaft Flange Mounting
Code Model A B c D E
PV016~PV023 025 8x7x40 2100 9 2125
PV032~PV046 232 10x8x56 0125 9 2160
LS M Metric PV063~PV092 240 12x8x80 2160 9 2200
PV140~PV180 250 12x8x80 2160 9 2200
PV270 265 12x8x80 2200 9 2250
PV016~PV023 W25x1.5x15x8f DIN5480 2100 9 0125
PV032~PV046 W32x1.5x20x8f DIN5480 0125 9 2160
K Metric PV063~PV092 W40x1.5x25x8f DIN5480 2160 9 2200
PV140~PV180 W50x2x24x9g DIN5480 2160 9 200
PV270 W60 x2x28x9g DIN5480 2200 9 2250
PV016~PV023 o1" 0.25"x0.25"x1.6" o4" 3/8" 25"
PV032~PV046 o1-1/4" 5/16"x5/16"x2.2" 25" 1/2" 26.37"
N Inch PV063~PV092 o1-3/4" 7/16"x7/16"x3.15" 06" 1/2" 29"
PV140~PV180 02" 1/2"%x1/2"x2.95" 06" 1/2" 29"
PV270 @2" 1/2"x1/2"x2.95" 26.5" 5/8" 212.5"
PV016~PV023 Splined 15T 16/32DP ANSI B92.1 4" 3/8" 25"
PV032~PV046 Splined 14T 12/24DP ANSI B92.1 5" 1/2" 26.37"
D Inch PV063~PV092 Splined 13T 8/16DP ANSI B92.1 06" 1/2" 29"
PV140~PV180 Splined 15T 8/16DP ANSI B92.1 06" 1/2" 29"
PV270 Splined 15T 8/16DP ANSI B92.1 26.5" 5/8" 212.5"
B
M,N /
@ K,D
4 O ﬁ &
—1 o
H: DA Splined
1 I Qe
| D Cylindric
—--—I--—
6 Threads
Code Threads
% 1 (standard) BSPP (G)
2 PT (RC)
3 UNF
4 NPT
7 1ISO 6149

P53




PV SERIES AXIAL PISTON PUMP

PV-063-GT-R-M-1-A - %-3%-3%
1 2 3 4 5 6 7 8 9 1
7 Thru drive & 2nd pump
Code Thru drive & 2nd pump
LS A (standard)  Single pump
% B Prepared for thru drive
With adaptor for 2nd pump
c SAE AA, 02" (950.8mm) H
D SAE A, 93-1/4" (982.55mm)
E Inch SAE B, 04" (2101.6mm)
F SAE C, 95" (8127mm)
G SAE D, 96" (152.4mm) E
H SAE E, 96.5" (9165.1mm) H
I Metric, 063 \
J Metric, 280
K . Metric, 2100 Couplin
L Metric Metric, 125 P
M Metric, 2160 Adapter
N Metric, 2200
Other pump are acceptable order
Code Model oA oC D E F G H
c SAE AA, 02" (950.8mm) 22" (950.8) 3.25" (82.55mm) 5/16'-18 | 9T 20/40 DP
D SAE A, 23-1/4" (282.55mm) | @3-1/4" (282.55) 4.188"(106.3mm) | 3/8-16 | 9T 16/32DP
E Inch SAE B, 94" (2101.6mm) 24" (2101.6) 3.536" (89.8mm) 1/2'13 | 5.75" (146.05mm) 1/2'13 | 13T 16/32 DR, 15T 16/32 DP
F SAE C, 05" (@127mm) 25" (9127) 4508" (114.5mm) | 1/2'13 | 7.125" (180.98mm) | 5/8"-11 14T 12/24 DR, 15T 16/32 DP
G SAE D, 26" (@152.4mm) 06" (9152.4) 6.364" (161.6mm) | 5/8'11 | 9" (228.6mm) 5/8"11 13T 8/16 DP, 15T 8/16 DP
H SAEE, 96.5" (9165.1mm) 06.5" (9165.1) 8.839" (224.5mm) | 3/4"-10 15T 8/16 DP
| Metric, 263 063 085 M8 100 M8
J Metric, 280 180 2103 M8 109 M10
K Metric Metric, 100 2100 2125 M10 150 M12 W25x1.5x15x8f
L Metric, 2125 2125 2160 M12 180 M16 W32x1.5x20x%8f
M Metric, @160 2160 2200 M16 224 M20 WA40x1.5x25%8f, W50x2x24 x99
N Metric, 200 2200 2250 M20 W50x2x24x9g
Coupling Coupling Coupling
Code pump H Code pump H Code pump H
A-D1 D1 9T 20/40 DP C-D5 D5 14T 12/24 DP D-W2 PV140~ W2 W32x1.5x20x8f
A-D2 PVO16~ D2 9T 16/32 DP C-D6 D6 13T 8/16 DP D-W3 PV180 W3 W40x1.5x25x8f
A-D3 PV023 D3 13T 16/32 DP C-D7 PV0B3~ D7 15T 8/16 DP D-W4 w4 W50%2x24X9g
A-D4 D4 15T 16/32 DP C-W1 PVOg2 W1 W25x1.5x15x8f E-D2 D2 9T 16/32 DP
AW1 W1 W25x1.5x15x8f C-W2 W2 W32x1.5x20x8f E-D3 D3 13T 16/32 DP
B-D2 D2 9T 16/32 DP C-W3 W3 W40x1.5x25x 8f E-D4 D4 15T 16/32 DP
B-D3 D3 13T 16/32 DP C-W4 W4 W50x2x24x9g E-D5 D5 14T 12/24 DP
B-D4 PV032~ D4 15T 16/32 DP D-D2 D2 9T 16/32 DP E-D6 D6 13T 8/16 DP
B-D5 PV046 D5 14T 12/24 DP D-D3 D3 13T 16/32 DP E-D7 PV270 D7 15T 8/16 DP
B-W1 W1 W25x1.5x15x8f D-D4 PV140~ D4 15T 16/32 DP E-W1 W1 W25x1.5x15x8f
B-W2 W2 W32x1.5x20%8f D-D5 PV180 D5 14T 12/24 DP E-W2 W2 W32x1.5x20%8f
C-D2 PV063~ D2 9T 16/32 DP D-D6 D6 13T 8/16 DP E-W3 W3 W40x1.5x25x8f
C-D3 V092 D3 13T 16/32 DP D-D7 D7 15T 8/16 DP E-W4 w4 W50Xx2x24X9g
C-D4 D4 15T 16/32 DP D-W1 W1 W25x1.5x15x8f E-W5 W5 W60x2x28x9g
8 Voltage
Code Voltage Code Voltage Code Voltage
0 None C AC200V (50-60Hz) F DC24V
A AC100V (50-60Hz) D AC220V (60Hz)
B AC110V (60Hz) E DC12v
9 Seals
Code Seals Code Seals
# N NBR E Ethylen-propylen
\ FPM
10 Design No.  Not require for order

P54




PV SERIES AXIAL PISTON PUMP

Standard Type

A: Standard pressure compensator

remote type

GT: Remote pressure compensator

GM: Remote pressure compensator allows a pilot valve

GA: Remote pressure compensator allows a pilot valve (valve included)
GJ: Layer proportional pressure compensator (valve included)

Electrical Unloading Type

GR: Electrical unloading
GB: 2 pressure electrical selection
GC: 2 pressure + electrical unloading

P55

A: Standard Pressure compensator

The standard pressure compensator adjusts the pump displacement
according to the actual need of the system in order to keep the
pressure constant. As long as the system pressure at outlet port P is
lower than the set pressure (set as spring preload of the compensator
spring) the working port A of the compensator valve is connected
to the case drain and the piston area is unloaded. Bias spring
and system pressure on the annulus area keep the pump at full
displacement.

GT: Remote Pressure compensator

While at the standard pressure compensator the pressure is set
directly at the compensator spring, the setting of the remote pressure
compensator can be achieved by any suitable pilot pressure valve
connected to pilot port PP. The pilot flow supply is internal through
the valve spool.

Remote pressure
compensator

Relief valve
Supplied by client)

Load-sensing Type

HL: Load-sensing compensator

HM: Load-sensing compensator

HJ: 2-vavle load-sensing compensator

HA: 2-vavle load-sensing compensator (valve included)
HK: Proportional electro-hydraulic load sensing type
HQ: Load-sensing & Proportional flow control

Horse Power Type

PA: Horse power compensator

PM: Horse power compensator, pilot flow internal pressure pilot valve included
PG: Horse power compensator, pilot flow internal

PL: Horse power compensator, Load-sensing compensator

PH: Horse power compensator, pilot flow external for load-sensing

When the system pressure reaches the set pressure the compensator
valve spool connects port P1 to A and builds up a pressure at
the servo piston resulting in a down stroking of the pump. The
displacement of the pump is controlled in order to match the flow
requirement of the system.

Standard pressure
compensator 172

135

The pilot flow is 1-1.5 Ipm. The pilot valve can be installed remote from
the pump in some distance. That allows pressure setting e.g. from the
control panel of the machine. The remote pressure compensator and
is able to solve instability problems that may occur with a standard
pressure compensator in critical applications. The pressure pilot valve
can also be electronically controlled (proportional pressure valve) or
combined with a directional control valve for low pressure standby
operation.

P




PV SERIES AXIAL PISTON PUMP

Remote Pressure compensator allows pilot valve

Version GM of remote pressure compensator provides on its top side offers a variety of these compensator accessories ready to install. All
an interface NG6, DIN24340 (CETOP 03 at RP35H, NFPA DO03). This remote pressure compensator have a factory setting of 15 bar differential
interface allows a direct mounting of a pilot valve. Beside manual or pressure. With this setting, the controlled pressure at the pump outlet is
electro hydraulic operated valves it is also possible to mount complete higher than the pressure controlled by the pilot valve.

multiple pressure circuits directly on the compensator body. HYDROME

GM: Remote Pressure compensator
allows a pilot valve

Proportional Pilot
Relief valve (250bar) a
HYDROME GJ
(Supplied by client)
Relief valve(350bar)
HYDROME GA
(Supplied by client)
Remote Pressure
compensator allows i 5
a pilot valve(Modular)
L . _ =included
GA: Remote Pressure compensator allows a pilot valve (valve included)
12 Relief valve (350bar) 5
135
Remote Pressure
SR compensator allows
il —=r g pilot valve (Modular)
e &
TR, - ,,
g §----Opr—t
.. .=included
GJ: Layer Proportional pressure compensator (valve included)
Proportional Pilot
Relief valve (250bar)
87 Remote Pressure Q
compensator allows
a pilot valve (Modular)
b g -
{ e
included

P56




PV SERIES AXIAL PISTON PUMP

Electrical Unloading Type

PV pump with fast response remote pressure control, relief valve with 2 pressure
stages, electrical pressure selection, nitrile seals, spindle adjustment, 24 VDC ! 02-2838
solenoid, plug to DIN46350 accessories fitted. !
Usable for horsepower control and proportional volume control, too. : ' 2

1 1

GR: Electrical unloading type

Directional Control Valve
Relief valve(350bar) .~

Remote Pressure
compensator allows )
a pilot valve(Modular) wg

GB: Dual pressure control

Directional Control Valve

Relief valve(350bar)

Remote Pressure
compensator allows
a pilot valve(Modular)

soL s0L
"OFF* on
222
PL PH
P—>
‘. =included
Low Pressure High Pressure

GC: Dual pressure + electrical unloading

Directional Control Valve

Relief valve{350bar)

Remote Pressure
compensator allows
a pilot valve(Modular) %

Low Pressure High Pressure .=included

P57




PV SERIES AXIAL PISTON PUMP

Load-sensing Type

HL: Load-sensing compensator
The load-sensing compensator has an external pilot pressure supply.
Factory setting for the differential pressure is 10 bar. The input signal
to the compensator is the differential pressure at a main stream
resistor. A load-sensing compensator represents mainly a flow
control for the pump output flow, because the compensator keeps

Load-sensing
compensator

—
g

HM: Load-sensing compensator
Shown above is load sensing compensator code HM with an NG6
interface on top of the control valve. That allows direct mounting of
a pilot valve for pressure compensation. This version includes the
pilot orifice. Due to the interaction of flow and pressure compensation

(Supplied by client)

Relief valve(350bar)
(Supplied by client)

Load-sensing
compensator

——
_’{_

HJ: 2-valve load-sensing compensator
If a more accurate pressure compensation is required, the 2-valve
load-sensing compensator code HJ can be used. The circuit diagram
of this version is shown left. Here the interaction of the two control

Relief valve (350bar ﬁ&%ﬁ Proportional Pilot
HY[I)R(\)'M‘IFE I-‘A ) or RBIIFE‘!f valve(250bar)

(Supplied by client)

(Supplied by client)

2-Valve Load-sensing |
compensator

Qil pipe,extend

Proportional Pilot
@ Relief valve(250bar)

Qil pipe,extend

the pressure drop at the main stream resistor constant. A variable input
speed or a varying load (pressure) has consequently no influence on
the output flow of the pump and speed of the actuator. By adding a pilot
orifice (80.8mm) and compensation can be added to the flow control
function. See the circuit diagram below, left.

w : 5 3

this package has not the “ideal” control characteristic. The deviation is
caused by the pilot valves characteristic.

=
' .
' [}
Sed e
al [
i 0

functions is avoided by using two separate control valves for flow and
pressure compensation. The 2-valve compensator is equipped with an
interface NG6 on the compensators top side.

. Z=included

P58




PV SERIES AXIAL PISTON PUMP

HA: 2-valve load-sensing compensator (valve included)

Relief valve

2-vavle Load-sensing
compensator

The hydraulic-mechanical horse power compensator consists of a
modified remote pressure compensator (Code PG* ~ PM*) or of a
modified load-sensing compensator (Code PH*) and a pilot valve. This
pilot valve is integrated into the pump and is adjusted by a cam sleeve.
The cam sleeve has a contour that is designed and machined for the
individual displacement and the nominal horse power setting.

At a large displacement the opening pressure (given by the cam sleeve
diameter) is lower than at small displacements. This makes the pump
compensate along a constant horse power (torque) curve.

PA: Horse power compensator

Relief valve
HYDROME FPM.
(Supplied by client)

&

Horse Power
control

Horse Power
compensator

PM: Horse power compensator, pilot flow internal pressure pilot valve included

Relief valve

Horse Power
compensator

Horse

P59

control I

==
4

For all nominal powers of standard electrical motors HYDROME offers
a dedicated cam sleeve. The exchange of this cam sleeve (e. g. : to
change horse power setting) can easily be done without disassembly of
the pump.

On top of that an adjustment of the horse power setting can be done
within certain limits by adjustment the preload of the pilot control
cartridge spring.

That allows an adjustment of a constant horse power setting for other
than the nominal speeds (1500min-1) or for other horse power.

Horse Power
coptrol

)

Horse Power
control

Power




PV SERIES AXIAL PISTON PUMP

PG: Horse power compensator, pilot flow internal

Horse PDW9F®

compensator

Horse Power
compensator

Qil pipe, extend
Horse Power

control

Relief valve
(Supplied by client

A1,

PL: Horse power compensator, Load-sensing compensator

Horse Power®

control

Horse Power
compensator

)|
|
= [} =
! &3
Horse Power
control

PH: Horse power compensator, pilot flow external for load-sensing

Horse Power@

control

Relief valve

Horse Power
compensator

=

Qil pipe, extend

Relief valve

Qil pipe, extend

(Supplied by client)

:.P_-tE. .-. i ST

N

| Lot T m

included

P60




PV SERIES AXIAL PISTON

P61

PUMP

Horse Power Compensator, diagrams

Flow - Ipm (GPM)

Flow - Ipm (GPM)

Flow - Ipm (GPM)

PVO23
35
©2) [ -
| | 20
a0
(7.9)
& 3
(66) C
20
(53) E—
15 -
(3.9) g
o
i
(2.6) s
5 “'~\
(1.3) s
n 1
50 100 150 200 250 300 350
(725) (1450) (2175) (2600} (3623) (4350) (5070)
Pressure - bar (PSI)
70
(18.4) =~ I
60
{15.8)
50 i
(132 T 3 oy N
RN s
o a f.gk §
(11.6) i B [
\ ‘5\ ~ =
30 \ i e I Bt g-
(7.8) NN N
. & -\‘:‘:\.\,\_‘\,‘ 3
62) T 9 2
I~ h""?:""““a:..: -
10 a A
26 1
(26) = i‘:‘“-:J._._.
0
50 100 150 200 250 300 350
(725) (1450) (2175) (2900) (3623} (4350} (5070)
Pressure - bar (PSI)
PVO92
140
F==F~F T=¥--X-1
(36.8) \.rnsn‘r'r:“ o I
PR AN
120 -
@18 L \K'“\“\ N
W 3 8 N
2‘6004 PVOE3 \. “ _ .\' \jz‘rg‘,
A ERRRRRERS =
80 AWEAAAN B 2N : 5]
232) R \ INLa NIV 2
60 NNE RN A T Y B S g
(15.6) NN %\ e el B
RN S e :
5 :\(‘:&,?\ R - [~ 3
(10.4) S e e ey =
20 | RS e 2 L) [ 008 i
(5.2) ] [ R e
; f e

50 100 150 200 250 300 350
(725) (1450) (2175) (2900) (3623) (4350) (5070)

Pressure - bar (PSI)

The diagrams shown are only valid for the following working conditions:
speed:n=1500(- -)and 1800(—)rev/min

temperature:t=50C

fluid:mineral oil HLP, ISO VG46

viscosity:v=46mm/s at 40°C

(57.6)

200
(52.4)

180 .

(47.2)
160
(42.0)
(36.8)

120
(31.6)

80
(23.2)
60
(15.8)
40
(11.6)

20
(5.3)

300
(79.0)
270
71.1)
240
(63.2)

210
(553)

180
(47.2)

150
(39.5)

120
(31.6)

80
237)
80
(158}

30
(7.8)

400
(105.6)
350
(92.4)
300
(79.0)
250
(66.0)
200
(52.4)
150
(39.5)
100
(26.4)

50
13.2)

J

-

=i |

/,'
P

A T AT

A 7L

50 100 150 200 250 300 350
(725)  (1450) (2175) (2900) (3623} (4350) (5070)
Pressure - bar (PSI)

Ll
IRRENR
IVRVANLY
SVRVATAN
AN R
SNAANEEN
NSRS -
RN
! —=

50 100 150 200 250 300 350
(725)  (1450) (2175} (2900) (3823} (4350} (5070)
Pressure - bar (PSI)

0 4
.

W,

| 1

K

HITAATN

50 100 150 200 250 300 350
(725) (1450) (2175) (2900) (3623) (4350) (5070)
Pressure - bar (PSI)




PV SERIES AXIAL PISTON PUMP

Efficiency And Case Drain Flows tPhIFOUQh thte_PTUr:“P- ves shown bel v valid for stati
PV01 6-PV023 ease note: € valves snown below are only valid Tor static

operation. Under dynamic conditions and at rapid compensator of the
The efficiency and power graphs are measured at an input speed of N pump the volume displaced by the servo piston also leaves the case
= 1500 min”', a temperature of 40°C and a fluid viscosity of 46 mm?/s.  drain port.
Case drain flow and compensator control flow leave via the drain port  This dynamic control flow can reach up to 40 Ipm.
of the pump. To the valves shown are to be added 1 to 1.2 Ipm, if at Therefore the case drain line is to lead to the reservoir at full size and
pilot operated compensator (code G*, H* horse power compensator without restrictions at short and direct as possible.
and P/Q-control) the control flow of the pressure pilot valve also goes

PV016~PV023 PV016~PV023
3
(0.79) | | | 7
70 ‘ td dI11 f /V
= lat deadhe:
_ 5 P
& E 2 A
e = (0.53) /
% at full{flow - = 1
-_— = -~
2 60 N = [ 1 P
3 g, 1 e p
w - 1
Py ¢ (0.26) L =]
B — at deadhead & | L~ 1]
L~ T at full flow
L
50 /] o LLTTTT | |
bar 0 100 200 300 bar 0 100 200 300
PSIO 1450 2900 3451 PSIO 1450 2900 3451
o8 20 PV016@1500 RPM 29 19 PV016@1800 RPM
= - 100% N o . . 100%
(6.60) (15) o I — 1 —1+——1 volefficiency (10} (25) —vol-efficiency. .
< = tputflow ——1——1 R ; = = = — g
T 20 | £ 16 F — 80% T b | £ 15 4+~ overjall.efficiency, 80% ©
O (5.28) z (12 ég o0 (8 2 (20 \f__‘___\l 4 E
i = 1 utpu 74 =
£El 15 | 'al'; 12 ;:-e ot // aon = E 23 | 5 M put flow Y I 60% E
;@90 [ £ © 2 ) s ;@[ 309 ‘ A =
B Ju i T ] & ]
= 10 5 g D A > = 15| 3 7 & =
2 (264 [ E () 3 .\@M" e & s [ 8o [ \@*Q ao% S
E g 5 4 =
5 5 | 4 P ) w & ° 8 | 4 L) 4002 o0, ©
(1.32) @) - '\nDU\vaeratdeadﬁéa,___.- 20% 2 @ (s) = i‘-‘;,/_" g
T L
L O PJAI/ 0% vk o 0%
Pressure D3 O 100 200 300 Prossurg D3r O 69 138 207 275 345
fESSUre og1 o 1450 2900 3451 PSI 0 1000 2000 3000 4000 5000
30 25 PV020@ 1500 APM e 39 30 PV020@1800 RPM o
(7.93) (19) [ output fioy ———vol efficiency | _ (10) (40)  ——T—————volefficiency] _
S 2 | B o2 ,~ [over of efficiency ] g a0 0s | OUtPuLfiow — e
= - = 80% @ = F g & 80% T
$ 639 309 = g e Eae g
= 2 5] 3 / 2
E Bl 6% > g B L 5 18 5 60% >
L@ [ gan [ \\s\\w/ = E®@[ 5@ \\‘\‘/ =
& 1 a 10 \“‘/ g 15 g 2 <'}/ g
= 2 | 5 O\l‘e ] 40% & g 1 - 8 ! 40% o
sl g m Se~ S 2@l s $ &
o : 1 g 3 g c%/ 3
= C. (=% = =
° (1.29} B [2? .// dnead 200 ; ‘g (g) T (:} " ] dnead e ..qé
0 L V] 0% (V] ] 0%
Prassure P 0 100 200 300 Prossur DA 069 138 207 275 345
PSI 0 1450 2900 3451 PSI 0 1000 2000 3000 4000 5000
40 25 PV023@1500 RPM oo ‘5 a0 PV023@1800 RPM
_ (08 [ _ 09 P o ——T—(orefitioncy] g (12.5) {40) — Tolefiviency] '°%%
= — ] ) - )
o3 | f 20 P R A wow = 39 | = 24 [outpitiion —overall efficiency =
Cas [ 209 3 = *E Eool & / oL 8% &
= - o = z =
T o2l g o g &‘wﬂ/ oo 5 =28 | i % 60% >
z (834} | g (1) / F & It / = E (7.5) 5 (24) { a\“y 5
= S & €T ' @
= 16 | 8w | /S ,ﬁpf o 5 29| & w2 | o e B
% (423)| = M \t\/ ‘éj <= (5) 3 (16) &3\“/ © g
a2 = = = / c
el @ - ks 18 fes e f g 2% ¢
input poyer 2 —1 ® input power W 5
0 L 0 0% o L 0 |l o
Pressure 2ar @ 100 200 300 ’ p bar O 69 138 207 275 345
PSI 0 1450 2900 3451 fOSSUI® bsi 0 1000 2000 3000 4000 5000

P62




PV SERIES AXIAL PISTON PUMP

EfﬁCiency ) e i e tPhIrough thte p_lyr:np. I h below are only valid for static
note: The valves shown w vali i
PV032-PV046 O Y

operation. Under dynamic conditions and at rapid compensator of the
The efficiency and power graphs are measured at an input speed of N pump the volume displaced by the servo piston also leaves the case
= 1500 min”', a temperature of 40°C and a fluid viscosity of 46 mm?/s.  drain port.
Case drain flow and compensator control flow leave via the drain port  This dynamic control flow can reach up to 60 Ipm.
of the pump. To the valves shown are to be added 1 to 1.2 Ipm, if at Therefore the case drain line is to lead to the reservoir at full size and
pilot operated compensator (code G*,H* horse power compensator without restrictions at short and direct as possible.
and P/Q-control) the control flow of the pressure pilot valve also goes

PV032~PV046 75 PV032-PV046
_ (1.98) y
70 z 4
3 : 7
T at fulljflow L (132) atideadhead|
@ (=] I
- = = ) pd |
S 60 — 8 LA
2 A =
== - 2 25
pa at|deadhead & (0.66) //
7
§ [
i
e nARRRLLLa
50 0 i |
bar 0 100 200 300 bar 0 100 200 300
PSIO 1450 2900 3451 PSIO 1450 2900 3451
so 4o PV032@1500 RPM 100% 57 37 PV032@1800 RPM
= (132 [ 5 (30) —] Tolefic b — T o= ———— 100% —
% g o o vol-efficiency. g = (15) 2 (50) output flow vol:efficiency. g
2 40 [ & 32 _srciency £ ] z — ey, g
£ (108 [ 7 (24) D loraveffice 80% 5 =85 2 p—T eficien, 80% 5
8 5 oy S E (2 [ 1 (40) over v 2
: %0 L 2 - ] 0% = Lo | o \\"K‘V -
] (7.93) £ (18) l a\‘“\\\/ = a; é © §{30) ‘Q}-\v 60% g
2 20 | & 16 w@dﬂ‘/ _ P EL— o g
3 628 (12) w7 g S o I$ 0% &
P SR - 20% & 1 7 2
(2.64) (6) 5 P 20% £
// input power at deadhead @ (3) (10) Lt power atldead ead @
o L o T | - o 1L 5 inpy oo
Pressure 03 0 100 AL 300 Prossurg Dar O 69 138 207 275 345
PSI 0 1450 2900 3451 PSI 0 1000 2000 3000 4000 5000
60 40 PV040@ 1500 RPM p— 76 a7 PV040@1800 RPM
= 059 & @O ouptfon ——Volefiiciency] '°°* S o =60 — ——volefficiency)] '%9% T
= anC © o = output flow > =
8 48 | 2 32 call efficiel Y 8o% E Q61| 2 a0 | officiency £
£ (127) 1 (24) T = - all-@ B0% =
s 5 f A s B[ e ovea " Y 3
36 | 2 24 RO = T : / K\Q/ =
H 2 3 60% ® . 45 | 2 22 & =
S Bsu =2 08 / (B 5 5 (12 & (30 £y S
i 2 ef = =
2 24 | £ 18 &Qﬁ*‘/ = 3 23 g 15 [ “*é &
S (6.34) (12) W 0% = | E < e
2 2 3 (@) (20) S g
L] o @ & £
i = {gl = 20% £ 15 7 o
: . deadhead 2 @[ oo ghead—] 0% %
input power at Lt | er at dea!
o L 0 / _+-___.__ - . . lnput pow
Pressure ga’ 0 100 200 300 Pressure Par O 69 138 207 275 345 0%
ShC TeE 2900 3451 PSI 0 1000 2000 3000 4000 5000
80 5n PV046@ 1500 RPM 100% 76 37 PV046@ 1800 RPM
= @[ 3 @n F——F——ol-efficiency ) — (0 [ & (50) [— vol-effic] 100% o
= § output flow _,.._-—U“er-a".efﬁciency-m 5 = @ £ 0 oulpUt flow " =
C 64 | E 40 . E 61 | 3 a0 iciency B
=069 1 @0 [/ N > 8% 3 %[16; < ) = a\\-eﬂ\cl SF 80% %
i=3 @ o = e f
48 | 2 30 ,‘\\\\\V co% B S| 2 o2 / ‘-ct}\/ Z
Z02n [ 2 2 el % o z (12) 2 (a0) 32 60% ©
i= a2 N 2 & 5 S 9
3 3 | £ 20 e i o = 23 2 35 3R 0% =
5 (8.45 15 ° 2 = - &
= (8.45) (15) / g 5 (8) (20) = %
( 16 | 10 L e 15 | 7 =
4.32) (] d [ (4) (10) head ] 20% 3
v 'an_Lﬂ"E\'Ert,dE‘TiﬂE—- {nput pOWe" at dead °
o L 0 o L 0 =
0%
Pressure bar 0 100 200 300 Pressure Dar O 69 138 207 275 3as 0%
PSI 0 1450 2900 3451 PSI 0 1000 2000 3000 4000 5000

P63




PV SERIES AXIAL PISTON PUMP

Efficiency And Case Drain Flows
PV063, PV080, PV092

The efficiency and power graphs are measured at an input speed of n
= 1500 min™', a temperature of 40°C and a fluid viscosity of 46 mm?/s.
Case drain flow and compensator control flow leave via the drain port
of the pump. To the valves shown are to be added 1 to 1.2 Ipm, if at
pilot operated compensator (code G*, H* horse power compensator
and P/Q-control) the control flow of the pressure pilot valve also goes

through the pump.

Please note: The valves shown below are only valid for static
operation. Under dynamic conditions and at rapid compensator of the
pump the volume displaced by the servo piston also leaves the case
drain port.

This dynamic control flow can reach up to 80 Ipm.

Therefore the case drain line is to lead to the reservoir at full size and
without restrictions at short and direct as possible.

PV063~PV092
| —
at full{flow —
70
e 1
g >
] ,
2 A1 atdeadhead
= /
5 60
2 7
w
50
bar 0 100 200 300
PSIO 1450 2900 3451
100 _ 70 PVO063
= (264} | F(52.5) T ol.efficienc
= 27 owput e ——— T
G 80 | z 56 ===
RN Rt & N
= = )
T 60 | 2 42 %
g = R
2 (159) [ &(315) 3 ‘&&
b L d 39
3 40 | 2 28 & o
< (103) (21) 3| /
20 | 14 1
(5.26) (10.5) / input power aldi_ad%ei‘d',*
o L 0o E—T—T1 |
Pressure bar 0 100 200 300
PSI O 1450 2300 3451
120 so PVO0BO
= (31.7) g (60) | output flow ﬁ—l"vcr,efﬁcj_e_ngy
= £
¢ 9% | = 64 ovenall_efficiency e
£ (254) [ 7 (48)
= & 49}
~ 72 | 3 48 )
2 (19.0) [ 2 (36) I Sy
= a
3 a8 | & a ___\QQQ"V
S (12.7) (24)
(=]
24 | 16 »
6.34 12
©:34) (12 input power at|deadhead
o L 0 — 1|
Pressure Par 0 100 200 300
PSI 0 1450 2900 3451
150 100 PV092
- [ = T oL
s (39.6) 5 (75) __‘g_utp'u%;t:"—_—*'————\'ﬁr,efﬁcleﬂcy_
© 120 | 2 8O over all efficiency
g (31.7) | (60)
=3 5 ot
¢ % | = 60 L
g (238) [ 2 (45 / &
b =
= 60 | 2 40 .“Q\"\QO
S (15.9) (30) /
30 | 20 //
(7.93) (15)
/ input POEG_’E,E‘E@-‘—EL
o L 0 =
Pressure bar 0 100 200 300
PSI 0 1450 2900 3451

100%

B0%

60%

40%

20%

0%

100%

80%

60%

40%

20%

0%

100%

60%

40%

20%

0%

efficiency (overall, volumetric)

efficiency {overall, volumetric)

efficiency (overall, volumetric)

PV063~Pv(92
9
{2.38) I —~
§ /
S 6 @‘@dhe dl |/
£ (1.59) 17
é 17
L
< P,
g )
g (079 T
S 7111
| Fhful
o e L1 T TT1 11
bar 0 100 200 300
PSIO 1450 2900 3451
1a _ 75 PVO063@ 1800 RPM 100%
g OO = (100) | outpuf fiow vol.efficiency] "5
o = s
91 L 60 o all efficiency] /
Senl £ e i LA =
£ ! 28 ]
=3 5 & 4
- 68 | § 45 N =
= ] ¥ 60% =
Z 08| 8 (60) { r?“é :
= 5 ES
24| 2 30 &S <
£ 12 (40) N Led 5
=] ©
23 15 S
- 20% £
(6} (20) dhead T
input P"iﬁiﬁj’e‘a’]/
o L 0 0%
bar 0 69 138 207 275 345
Pressure pg) 97000 2000 3000 4000 5000
151 112 PV0B0@ 1800 RPM
@0y [ __(150) ——Volefiiency] 'O
s B B output flow,] - —e;f_;ﬂ_‘ﬂn_w_ =
121 89 | effic
L = 1.2
E. @ [ £ 20 / ove 80%
[=% 4 g
T oo | 2 e P4 =
z (24 [ 8 (90) 7 6% m
= 5 $& :
56| B 4 A <
S8 | = (60 & 0%z
o y ©
0 | 22 2
@ (30) head | 2% %
/ input power 3t de2E2
o L 0 1| 0%
Pressure Dar 0 69 138 207 275 345
PS5l 0 1000 2000 3000 4000 5000
170 112 PV092@1800 RPM
_ e 100%
= (45) ausm oulput fiow vol:efficiency =
£ i =
13| = a9 Gver all efficiency 7 T
Q @e) [ E (120) ‘ & 4 SO
= ! 5
S 91| & e7 @\Q// =
: (29[ 3 (0 / N 0% 5
E ® ]
5 68 | g 45 Q\‘i{/ o 8
= g >
g () 60) S =
© 5
3 | 22 3
(@ (30) ]| %% g
{ deadne @
ioout powe(a
o L o inp'
o bar 0 69 138 207 275 345
fESSU'® pgi 0 1000 2000 3000 4000 5000

P64




PV SERIES AXIAL PISTON PUMP

Efficiency And Case Drain Flows through the pump. , ,
PV140. PV180 Please note: The valves shown below are only valid for static
’ operation. Under dynamic conditions and at rapid compensator of the

The efficiency and power graphs are measured at an input speed of N pump the volume displaced by the servo piston also leaves the case
= 1500 min”', a temperature of 40°C and a fluid viscosity of 46 mm?/s.  drain port.

Case drain flow and compensator control flow leave via the drain port  This dynamic control flow can reach up to 120 Ipm.

of the pump. To the valves shown are to be added 1 to 1.2 Ipm, if at Therefore the case drain line is to lead to the reservoir at full size and
pilot operated compensator (code G*, H* horse power compensator without restrictions at short and direct as possible.

and P/Q-control) the control flow of the pressure pilot valve also goes

PV140~PV180 PV140~PV180
80 _
= g
£ [pvis0 at full|flow &
T [PVI40 at fullfflow———— E
g = <
o - z
570 L] &
a podbr-d E
/ N\, "PV140| at|deadhead 5
AT 2
PV180 | at|deadhead 2
(&)
|
60 |
bar 0 100 200 300 bar 0 100 200 300
PSIO 1450 2900 3451 PSI0 1450 2900 3451
250 150 PV140@1500 RPM 005 284 186 PV140@1800 RPM 100
(66.0) (112) T ———Tvol.efficiency] _ (75) 250) [outpullion | ——J-Voeficiency] °
N outputflow =N 7 s—T — 5
S 200 | 7 120 . S22 | T 149 o
&5 (52.8) 5; (89) 2 « L~ = &5 (60) 3 (200) !.(. =
£ = K S > £ < o S :
§ w0 | 1 90 g .‘}\\‘:\\/ con B S| 1 o | 8 & o T
L (396) g (87) e @V ° e L (45) 2 (150) £ &3 60% 3
=] =] i = =] = =
S 100 S 0 & D% = 114 & 85 | & &Qﬁ‘\/ Ry
g -2 4% E 3.0 F 2 & " a0% 2
£ (264) | E (45) 5 £ (30 £ (100) |3 L 2
a 2 a / 2
50 | 30 e 57 43 @
(13.2) (22) - input power at deadhead 20% (15) (50) i dhuad Shae
: /T,J input power at deadnhedt—
LA . 0% L L 0%
Prossue DAT 0 100 200 300 Prossure DAr O 69 138 207 275 345
PSI 0 1450 2900 3451 PSI O 1000 2000 3000 4000 5000
a0 175 PV180@1500 RPM 100 3 185 PVIB0@1800RPM oo
(79.3) (130) | output, ———+—vol.efficiency. ° (90) (250) ——val.efficiency,/_|
| Oulput flow — Yy 3 oulpu|fiow > g
S 240 | @ 140 Z i s 2 S 2B @ 149 / g0% &
5 (634) [ < (109) g . "5 & ] 3 o g S ° 5
= ] S 9 = = = o S s
E 180 | ! 108 i A 60% T §20af 1112 S 57 60% ©
L @78 | 2 (78) 5 o 5 L B4 $ (150 = | 5
s g 3 QV 5 3 2 5| & 3
S 120 |5 70 S w wpl 3 18L 3 8 gl & s
£ @7 [ £ (2 / 5 2 @[ 2 (oo i
[=] E [=] E
60 | 35 e i = 43 1 20%
(15.9) (26) - deadhead ° (8) (50) d °
input power at deaTeT” | input power at deadhead _—
1] - 4] 0% o L 0 . 0%
Pressure Par 0 100 200 et Pressure 22 2 ol B o Pl Sl
PSI 0 1450 2900 3451 PSI 0 1000 2000 3000 4000 5000

P65




PV SERIES AXIAL PISTON PUMP

Efficiency And Case Drain Flows through the pump. _ _
PV270 Please note: The valves shown below are only valid for static

operation. Under dynamic conditions and at rapid compensator of the
The efficiency and power graphs are measured at an input speed of n -~ pump the volume displaced by the servo piston also leaves the case
= 1500 min”', a temperature of 40°C and a fluid viscosity of 46 mm?s.  drain port.
Case drain flow and compensator control flow leave via the drain port  This dynamic control flow can reach up to 120 Ipm.
of the pump. To the valves shown are to be added 1 to 1.2 Ipm, if at Therefore the case drain line is to lead to the reservoir at full size and
pilot operated compensator (code G*, H* horse power compensator without restrictions at short and direct as possible.
and P/Q-control) the control flow of the pressure pilot valve also goes

PV270 PV270
18
' (4.76)
80 at full flow _ ’,]
z . z
8 ) 12 P
3 e 1 LEl (3.17) atjdeadhead| ~
>
2 =
€70 2
E &
2 g 6
3 (1.59)
m
Q
60 0
bar 0 100 200 300 bar 0 100 200 300
PSIO 1450 2900 3451 PSIO 1450 2900 3451
0 250 PV270@1500 RPM o ses _ 208 PV270@1800RPM 00% &
5[132]  (188) Vol-eficiency] 1mE . (150) (400) outp |Iﬂ ol efficiency 3
E = _ ut flow-] E
% 400 | T 200 | OUtPULAGH // - G4 | T 20 7 £ . —§
£ (05 [ 3 (149) > = 8% 7 T w20 3 (20 5 & =
=t k- = 9{\0‘* m =3 | Ec/ \% it
T30 | 5 o150 | § .\\s\\/ w2 LM |5 19| 8 Y o B
2 (79.3) ez [ 5 ot 2 3 0 (240) | & & 2
be 2 5 qu 5 = 5 o 3
5 5 o & = 5 oy Al =
o200 [ 2 10 | & ) o g2 | 19 | @ o k7
Se28) [ £ g5 [5 e 2 g 60y [& | X g
100 50 pd 14 | 60 A
@4 [ @D ” 20% (30) (80) 20
" r at deadnead input at deadhead
IM‘{‘LS_T’F" input powe
o L 0 o o L 0 E=
- bar © 100 200 300 prossurg DA O 69 138 207 275 345
’ PSI 0 1450 2900 3451 PSI 0 1000 2000 3000 4000 5000

Pump Accessories

Bell housing, coupling and foot flange

Welding flange, Threaded flange

SAE-flange connections, pipe
connection in accordance to
DIN-2353

Elbow SAE-flange conncetion WFS

Straight SAE connection GFS

P66




PV SERIES AXIAL PISTON PUMP

Mounting: M,N
mounting hole, for horse power drain port L2:G1/2 optional M22 1.5;1SO 6149-1 gage port M:G1/4 optional M12 1.5;ISO 6149-1
compensator pilot or displacement /(threads options 7) or 7/8-14 UNF (threads options 3) (threads options 7) or 7/16-20 UNF (threads options 3)
feedback LVDT
— @ e
:% 5 c ! (3.5():
% '—CDA
120 rﬂ: |
e I P72 !
P . } @17 (1'.?9) 5
083 r s 14 { * I|
J 13 ||D (0"?9} —p
drain port L1: C[S i H X '¢' hd
| I E] dimensions see Ldaz —_— 5
1975 (1267 T L e
@78 s
AX. - 6.38]
MAX. (§.35") _.l_l_u s
(6. ?1]
Mounting: K,D
mounting hole for horse power drain port L2:G1/2 optional M22 1.5;1SO 6149-1 gage port M:G1/4 optional M12 1.5;ISO 6149-1
compensator pilot or displacement (threads options 7) or 7/8-14 UNF (threads options 3) (threads options 7) or 7/16-20 UNF (threads options 3)
feedback LVDT
= @ — 89
] —{ ’ y @5)
w op 120 ]—‘_‘I_‘&: é ]
) {4.72) 55 48
24T 1.89]
il 7! %_ l @17) (149 {44
= i) i © Fall Y
N
13 ||D 'fg)
) JU'E'TT e \ Sy &l ¢ u
L1 hal
]! El girra;:gn%?ons see L232 X —
(1.26) s 127
197.5 —a
!2?‘-;51 (6.38)
170.5
S0y (6.71)
m it
I 1 | |
140 1
(5.51)
¢ g‘% y Outlet: E O Inlet:
2 flange according 1SO 6162 ﬂangie according 1SO 6162
DN 19;PN 400 bar DN 32;PN 250 b:
NN {el¢ T[EIF] oy asos
1 M _¢~ 8 Val 58.7 D 32
o {i} & (2-f1l \T—126
19 |6 |—— 4 M10, 18 deep
$3:45) ®0.75) i | - optional 3/8-16 UNC-2B
l 4 M10, 18 deep 3.8 30 (threads options 3 and 7)
i optional 3/8-16 UNC-2B 947 s R
132 5 24} (threads options 3 and 7) (0.67)
5 2) flushing port L3; G 3/8
Ulew X optional M18 1.5;1SO 6149-1
(threads options 7) or 3/4-16
Shown with standard pressure compensator UNF (threads options 3)
PV016~PV023 Dimensions
Mounting oA oB C D oE F H
. ISO 3019/2
M (standard) Metric Splined, DIN 5480 025 0100 h8 8x7x40 9 125 12 52
N Inch 1SO3019/2 025.4 (1") 21016 (&) | 6.35x6.35x40 (1/4") | 9.4 (0.37") | 127 (5") | 12(0.47") | 50 (1.97"
Cylindric, key ) ) ) ) T ’ ’
Mounting Shaft oB D oE F H
. 1ISO 3019/2 Splined W25x1.5x15x8f
K (standard) Metric Cylindric, key DIN 5480 2100 h8 9 125 12 43
1ISO 3019/1 Splined 15T 16/32 DP, flat root, " " i " "
D Inch Splined, SAE side fit ANSI B92.1 0101.6 (4") 9.4 (0.37") 127 (5") 12 (0.47") 46 (1.81")

P67




PV SERIES AXIAL PISTON PUMP

Mounting: M,N _ ) gage port M:G1/4 optional M12 1.5;ISO 6149-1
mounting hole for horse power drain port L2:G1/2 optional M22 1.5;1SO 6149-1 (threads options 7) or 7/16-20 UNF (threads options 3)
compensator pilot or displacement (threads options 7) or 7/8-14 UNF (threads options 3)
feedback LVDT 22

\ 0.87) — o8
1 {3.86)

i

[:%a i E
iﬁ & N - "3(3?1} {266)(21351 "'|; l
f |

17
AN {0.67)— %
22(0.87) — 41 X & |_
drain port L1: 0.5
d ns see L2 =]
207 (146) o 146
Heowmd ——{5.75)——=
(8.94) 188
MAX. B —— | I (7.28)
| 2 %
Mounting: K, eatis options 7 b1 7176-20 UNE (threads options 3)
. I -, [
mounting hole for horse power drain port L2:G1/2 optional M22 1.5;1SO 6149-1 P ¥
compensator pilot or displacement (threads options 7) or 7/8-14 UNF (threads options 3)
feedback LVDT 22
(0.87) 98
= y [ (3.86)
I — S
b | N S %%)‘ 28)(236) ILP e
i7aN J 551 bl ofeo
& 17 .
‘r { (0.67)— & H o
]
22(0.87)— | hdd X
drain port L1: —} 0.5 \_Shgﬂ - /
dimensions see L2 =3 1
po7 _ (1:46) D —— (b R ——
(8.94y He 75)
iy 245 (7.28)
; """“-{9.55} 197

(7.76)

t@ Fi Inlet:
) flange according 1ISO 6162
Outlet: DN 32;PN 250 bar

&3 flange according ISO 6162
DN 19;PN 400 bar 35.7
€52, 07 : 278 E (t41)
(4.21) - [ (1.09) @E
+ 98 b & R
| [ 7N Sy *
< 57.2 \$ £9.9
! &J & i ‘2}?1 — o3
o | ]
(3:62) €3 _;'? ¢ -
l \% i 4M12, 18 deep
133 optional 7/16-14 UNC-28 gp’\t/!;r%aﬂ?/g—e%pUNC—ZB
1"5—'-'“"'"")‘- 5.24) IeaEh ERiinis S el 7) — 28 (threads options 3 and 7)
Ee(6.44) a.1

View X flushing port L3; G 1/2

Shown with standard pressure compensator 8?#223; héISt%oL'ss;;)Soor g}g_%_j

UNF (threads options 3)

PV032~PV046 Dimensions

Mounting oA oB C D oE F H

M (standard) | Metric SDIEG% 38?,\?/52480 232 2125 h8 10x8x56 9 160 14 68
N Inch C'f“?] o glgy #31.75 (1.25") ‘ 0127 (5" 7'9‘(‘;‘/71'23"% 12.7 (05" | 161.93 (6.38") | 14 (0.55" | 68 (2.68")

Mounting Shaft oB D oE F H

K (standard) | Metric Cls?lg o1 glgy Splined HNazx 1 2x20xBl 0125 h8 9 160 14 47
D Inch S';% g’gngE Splined 147 12/24 DF Yt root, 0127 (5") 127 (05" | 161.93 (6.38") | 14 (055" | 56 (2.31")
D1 Inch S'g’"on 2&12QE Spiined Jﬂtf’{f‘sﬁ Doat root, 0127 (5") 127 (05" | 161.93(6.38") | 14 (055" | 56 (2.31)

P68




PV SERIES AXIAL PISTON PUMP

Mounting: M,N drain port L2:G1/2 optional M22 1.5;1SO 6149-1 gage port M:G1/4 optional M12 1.5;1SO 6149-1
mounting hole for horse power (threads options 7) or 7/8-14 UNF (threads options 3) (threads options 7) or 7/16-20 UNF (threads options 3)

compensator pilot or displacement

feedback LVDT 31
1(1.22) ] -

[P el _
] [ f h 126 —C
E TI - o 192 86 ! (4. aa}/
(7.56) (3:39) 515
ran i\
%)) {_ﬁt_{h 1
1 d e -
1.227— N ?@)- N
%ﬁirain port L1: ——/('5?? ) 3 X d} &
dimensions see L2 D e
435 -1
A R
: 192
G e L-— —~
MAX. {12.05) 252(7.56}
D 253 (9.92)
(9.986)

Mounting: K,D drain port L2:G1/2 optional M22 1.5;1SO 6149-1 gage port M:G1/4 optional M12 1.51SO 6149-1
mounting hole for horse power (threads options 7) or 7/8-14 UNF (threads options 3) (threads options 7) or 7/16-20 UNF (threads options 3)
compensator pilot or displacement
feedback LVDT 31

] (1.22)—]
%ﬁ T \? b
86
192 80 (4.96)
% ES 9B (756) (3:39)575)
g L Hele
1 = 4 d Y
) b TP
: —_ /20 | &
'drain port L1: X
dimenps?nns see L2 (0.22) LShBﬂ
287 3P|
X 192
MAX. 135 252(7:56)
253(9,92)
(9.96)
== Inlet:
Outlet: . U flange according ISO 6162
flange according ISO 6162 j DN 32:PN 250 bar
DN 19;PN 400 bar s18 " 42.9
=1 (1.25) (1.69)
Pl
—1elel o2 Sl 50
ses | A C01:28) 77.8 | /] ®(1.87)
(2{2) 2 (3.06) /
b dhd 4
4 M20, 20 deep —/
optional 1/2-13 UNC-2B 4 "{!12 f?/gi%puNc o
threads options 3 and 7 optionalilizs A
EEO_MAX'(Q%?‘ ) ( P ) QA 32) (threads options 3 and 7)
(7.87) flushing port L3; G 1/2 A
View X optional M22 1.5;1SO 6149-1
Shown with standard pressure compensator (threads options 7) or 7/8-14

UNF (threads options 3)

PV063~PV092 Dimensions

Mounting oA oB Cc D oE F H

M (standard) | Metric | 'S0 30192 Spined, 040 0160 h8 12x8x80 9 200 18 92
N Inch C'flﬁ gr?g’glgy '?f_‘;g‘.? o524 @) | ' “‘(17}1'16])X8° 127 (05" | 2286 (9") | 20.6 (0.81") | 90 (3.54"

Mounting Shaft oB D oE F H

K (standard) | Metric C'flg o glgy Splineq W01 Sx25x8t 0160 h8 9 200 18 56
D Inch S';% 30190 Splined 18T 16/32 DF fat root, 0152.4 (6") 127 (05 | 2286 (") | 20.6 (0.81") | 75 (2.95

P69




PV SERIES AXIAL PISTON PUMP

PV140~PV180

Mounting: M,N

drain port L2:G1/2 optional M22 1.5;I1SO 6149-1
(threads options 7) or 7/8-14 UNF (threads options 3)

gage port M:G1/4 optional M12 1.5;ISO 6149-1

(threads options 7) or 7/16-20 UNF (threads options 3)

(threads options 7) or 7/16-20 UNF (threads options 3)

mounting hole for horse power
compensator pilot or displacement
feedback LVDT
I
& g:=!
’ — A T |/
* I 200 106
4 oB 417
|LTe AR (7.87) @i 4
AR %) i b
:1 Z 1 \uy
& lé
= e
i N
drain port L1: 02?0 Ll :
dimensions see L2 (. 9? X
48 L D L
(1.89) e [
e o {13.‘;:}5 I 233)
. | I = Lo [S.17
MAX. (15.16) D re port: 295 (11.61)
suclion port: 305 (12.01)
Mounting: K,D gage port M:G1/4 optional M12 1.5;1SO 6149-1
mounting hole for horse power drain port L2:G1/2 optional M22 1.5;ISO 6149-1
compensator pilot or displacement (threads options 7) or 7/8-14 UNF (threads options 3)
feedback LVDT
|
b I
. o S 200 108
@B(7.a7) (4.17) J
L } |
=
—7 \
drain port L1: 20 1L
dimensions ses 12 0.79)
48 D Shaft Dby
350 (1.89) < !
(13.78 b
38! 233
MAX.(15.16) L— (gg!gz T

pressure port: 11.61)

suction porl: 305 (12.01)

= Inlet:
Outlet: flange according ISO 6162
flange according 1SO 6162 DN 32;PN 250 bar
DN 19;PN 400 bar = 50.8
) 5 +| @
i T | o 64
R e o3 % 2 /b( ®2.52)
2.62) S
B {sTe LS
B’
4 M12, 20 deep —/ \
optional 1/2-13 UNC-2B 4 M12, 20 deep
(threads options 3 and 7) optional 1/2-13 UNC-2B
(threads options 3 and 7)
e (7.87)
View X flushing port L3; G 3/4
Shown with standard pressure compensator optional M27 2;1SO 6149-1
(threads options 7) or 1 1/16-12
UNF (threads options 3)
PV140~PV180 Dimensions
Mounting oA oB C oE H
. ISO 3019/2
M (standard) Metric Splined, DIN 5480 250 2160 h8 14x9x75 9 200 18 92
N Inch C'alcr’] o %gy 050.8 (2") o152.4 (6" 12'7"212/'27..’)(75 127 (05" | 2286 (@) |20.6 (0.81") | 99.4 (3.91")
F Inch | o pli'r?fdsgrﬁ/g‘wo 044.45 o152.4 (6") 11.11x11.11 127 (05" | 2286(9) | 20.6 (0.81") | 75 (2.95"
Mounting Shaft oB D oE F H
. ISO 3019/2 Splined W50x2x24x8f
H (standard) Metric Cylindric, key DIN 5480 2160 h8 9 200 18 78
1ISO 3019/1 Splined 15T 8/16 DP, flat root, " . " W "
D Inch Splined, SAE <ido it ANS] B2.1 2152.4 (6") 12.7 (0.5") | 228.6(9") | 20.6(0.81") | 88 (3.46"
1ISO 3019/1 Splined 13T 8/16 DP , flat root, " i " W "
G Inch Splined, SAE Side fit ANS) BS2.1 2152.4 (6") 12.7 (0.5") | 228.6(9") | 20.6(0.81") | 75 (2.95"

P70




PV SERIES AXIAL PISTON PUMP

PV270

Mounting: M,N

mounting hole for horse power
compensator pilot or displacement

drain port L2:G1/2 optional M22 1.5;1SO 6149-1 .
(threads options 7) or 7/8-14 UNF (threads options 3) gage port M:G1/4 optional M12 1.5;ISO 6149-1

(threads options 7) or 7/16-20 UNF (threads options 3)

feedback LVDT 45
e
= (o]
g () —OA = /
172
0 @ B(?,%%] 128 410 @77/ ©
dhe | | (504 4.33)|| $ré-
] 45 ‘\ ! pan
(1.77) < _4"\4
"
drain port L1: —/ 25 N
dimensions see L2 (0.98)
6 |l o B 4
e il o L
¥ n
510 306
MAX.(20.08) L—(IZOSJ__""
D 378,
(14.88)
Mounting: K,D (l.‘fg?}
. . gage port M:G1/4 optional M12 1.5;ISO 6149-1
mounting hole for horse power drain port L2:G1/2 optional M22 1.5;1SO 6149-1 (threads options 7) or 7/16-20 UNF (threads options 3)
compensator pilot or displacement (threads options 7) or 7/8-14 UNF (threads options 3)
feedback LVDT
45
|l {1.77) r.h r{ /
JE b Q 128 ¢ [é?,%)
] 110 ;
\\\iy ®B 200 (5.04) {4.33) _%_é,
i (7.87) {
N i i Fan!
1 ] ¥y
" 45 | N
(1.77) _¢__¢_
drain port L1: — 2 T ‘
dimensions see L2 (0.98)™ [
36" D Shaft X 1L =
‘(‘1?5'65) LA, I——a(;Bz.as]
510
MAX. 14.88'
(20.08) (13.68)
(15.87)
133
MAX. (5724)
Outlet: @©E Inlet: _
flange according 1SO 6162 flange according ISO 6162
DN 19;PN 400 bar 5 DN 32;PN 250 bar
L E 69.8
(1.44) (2.75)
H <+ [ 4 88
¢ 4] .38 + i o
(:7;5!":’3} & — %1 5) 1207 /] = (3.46)
S Lot
4 M16, 32 deep \
optional 5/8-11 UNC-2B 4 M16, 32 deep
(threads options 3 and 7) 50 optional 5/8-11 UNC-2B
(1.97)

(threads options 3 and 7)
flushing port L3; G 3/4
optional M27 2;I1SO 6149-1
(threads options 7) or 1 1/16-12
UNF (threads options 3)

Shown with standard pressure compensator

PV270 Dimensions

Mounting oA oB Cc D oE F H
M (standard) | Metric | g p"'fgj O 50 065 0200 h8 18x11x98 9 250 22 115
N Inch c';Qifﬁ o 9&2}/ 0508 (2") | o165.1 (6.5") 12'7X212/'27.?)‘75 15.9 (0.37") | 317.5 (125" | 20.6 (0.81") | 97.5 (3.84")
Mounting Shaft oB D oE F H
K (standard) | Metric c'ﬁfﬁ 3o glgy Spiined WOOX2x2Bxt 0200 h8 9 250 22 80
D Inch slgl(i)n A Splined 15T 8/18 DR TaLfoo | o165.1 (659 | 159(037) | 3175(125) | 206(081) | 88(3.46)

P71




PV SERIES AXIAL PISTON PUMP

Thru drive, shaft load limitations

The max. transferable torque in Nm for the different shafts options are:

Shaft code PV16~23 PV32~46 PV63~92 PV140~180 PV270
N 300 550 1320 2000 2000
D 300 610 1218 2680 2680

F 1320 -

G - 1640 -

M 300 570 1150 1900 2850
K 405 675 1400 2650 3980

Important notice

The max. allowable torque of the individual shaft must not : :

be exceeded. For 2-pump combinations there is no problem Pump Shaft  Torque limit factor
because PV series offers 100% thru torque. For 3-pump N 17700
combinations (and more) the limit torque could be reached PV016 D 17700
or exceeded. PV023 M 17700
Therefore it is necessary to calculate the torque factor and K 20130
compare it with the allowed torque limit factor in the table. N 32680
PV032 D 36380
PV046 M 33810
Required: calculated torque factor z 40222
<torque limit factor 7
q PV063 D 72450
PV092 M 67620
To make the necessary calculations easier and more user K 83720
. L . . N 118400
friendly it is not required to calculate actual torque requirements
in Nm and compare them with the shaft limitations. The table P 196760
n : pare th X > e PV140 F 78750
on the right shows limit factors that include material specification, PV?BO G 97650
safety factors and conversion factors. M 113400
K 157500
N 119000
D 159700
PV270 M 170100
K 236250
The total torque factor is represented by the sum Total torque factor of the comination=
of the individual torque factors of all pumps in the sum of individual torque factors of all pumps
complete pump combination.
The torque factor of each individual pump is calculated by Torque factor of any pump=P x Vg
multiplying the max. operating pressure p of the pump (Pressure in bar x displacement in cc/rev)

(in bar) with the max. displacement Vg of the pump (in cc/rev)

P72




PV SERIES AXIAL PISTON

I
No. Description  Quantity
4

- 2 Oo0O~NOOAs LN

&7

78

0 ——p- )

£o e& _ PRI F

G

Head cap screw
Pilot cover
O-ring

Shaft seal
Snap ring
Snap ring
Washer
Washer
Roller bearing
Roller bearing
Roller bearing

Key

Shaft

Pump body
O-ring

Plug

Plug

Ring

Plug

O-ring
O-ring
Cradle

IO I PO I O I VG R QI

PG O BN I I O I G

I I I I

23 Pin 2 46 | Washer 1 68
24 | Screw 4 47 | Snapring 1 69
25 | Trunnion bearing 2 48 Valve plate 1 70
26 | Screw 2 49 | Pin 1 !
27 | Name plate 1 50 | Seal 1 72
28 | Rivet 2 51 Seal 1 73
29 | O-ring 1 52 Pin 1 74
30 | Plug 1 53 Pump body 2 75
31 Chain link 1 54 | O-ring 1 76
32 | Chain link 1 55 | O-ting 1 7
33 | Chain link 1 56 Plug 1 78
U o 1 57 | O-ing 1 79
35 | Swash plate 1 58 Label 1 80
36 | Piston 9 59 | O-ring 1 81
37 | Piston 9 60 | Servo pistion sleeve | 1 82
38 Slipper segment 1 61 O-ring 1 83
39 | Washer 4 62 | O-ring 1 84
40 | Retainersegment |2 63 | Servo piston 1 85
41 Screw 4 64 | Setscrew 1 86
43 | Cylinder block 1 65 | O-ring 1 87
44 | Washer 1 66 Servo spring cover | 1 88
45 | Spring 1 67 | Washer 1

Piston nut
Screw
Trunnion bearing
Plug

Pin
Spring
Ball
O-ring
Label
Seal

Plug

O-ring

Washer
Spring
O-ring
O-ring

Pin

O-ring
Screw
O-ring
Spring cover

I I
Description  Quantity Description  Quantity

1
1
1
1
1
1
1
2
1
1
1

i

QOGO NG S B O Y




PV SERIES AXIAL PISTON PUMP

1. Fluid recommendations Start up
Premium quality hydraulic mineral oil fluids are recommended, like Prior to start up, the pump case must be filled with hydraulic fluid (use
H-LP oils to DIN 51524, part 2. The viscosity range should be 25 to 50 s case drain port). Initial start up should be at zero pressure with an open
mm?/(cst) at 50°C. Operating temperatures -10 to +70°C. For other fluids circuit to enable the pump to prime. Pressure should only be increased
such as phosphoric acid esters or for, other operating conditions consult once the pump has been fully primed.
HYDROME for assistance. Attention: Check motor rotation direction.
Operating noise of pumps
The normal operating noise of a pump and consequently the operating
noise of the entire hydraulic system is largely determined by where and
2. Seals how the pump is mounted and how it is connected to the down stream
= — . - - hydraulic system. Also size, style and installation of the hydraulic tubing
gfﬂml(rl]\leltrzlleg”se:clj Sa;fltlésefl((j: fg; %Z?;e:gznpvggzgg;riiu;cci éltggz rt;ased have a major influence on the overall noise emitted by a hydraulic
o ) ) system.
Fluorocarbon seals are required. Consult HYDROME for assistance.
Noise reduction measures
Flexible elements help to prevent pump body vibration being transmitted
3. Filtration to other construction elements, where possible amplification may occur,
For maximum pump and system component functionability and life, the SEN SRS Ean DE)
system should be protected from contamination by effective filtration. Bell housing with elastic dampening flange with vulcanized labyrinth ©
Fluid cleanness should be in accordance with ISO classification ISO 4406. . . .
The quality of filter elements should be in accordance with ISO standards. (1)Floating and flexible coupling @
(1) Minimum requiremenet for filtration rate x (um): (2)Damping rails @
General hydraulic systems for satisfactory operation: . . . )
_ (3)Or silent blocks for mounting the electric motor or the foot mounting
Class 19/15, to ISO 4406. X=25 um(B810=75) to ISO 4572 flange
@) ;'uy,?ggg:z;ﬁts;?ms R (4)Flexible tube connections (compensators) or hoses on inlet, outlet
Class 16/13, o ISO 4406. X=10 um(B10=75) to ISO 4572 ETel L Pt (P
gi:'cse:eSi?/?ggr?r:)cf‘fzcr'stca) uwsi(ej:‘r'gggélg? tﬁ;g;iﬁ?:r;efgl:szg;?nzaME (5)Exclusive use of gas tight tube fittings for inlet connections to avoid
applications and mounting styles. The use of suction filters should TSN CeN G C Bl TS el exzcesslee noise.
be avoided, especially with fast response pumps. Bypass filtration is
a good choice for best filter efficiency. 3
o
= .'."|
4. Installation and mounting A
Horizontal mounting: Outlet port side or top. Inlet port side or bottom,
drain port always uppermost.
Vertical mounting: Shaft pointing upwards. 3
Install pump and suction line in such a way that the maximum inlet
vacuum never exceeds 0.8 bar absolute. Drain line
ggimefi:1'gecﬁ?(t)glgseﬁsarsezg?nnm?\%:3 jcgghthgspz?:;'?sler}éusﬂgg The drain line must lead directly to the reservoir without restriction. The
N : . . - - drain line must not be connected to any other return line. The end of
E:';izé?riéezzr\;ﬁ'ri’ntc,:h';nglﬁ;g::ﬁlénmICg]utgO;;it':,ltliocénnnegzgnzgg the drain line must be below the lowest fluid level in the reservoir and
p —— ihe —— ’ ’ as far away as possible from the pump inlet line. This ensures that the
9 pume. pump does not empty itself when not in operation and that hot aireated
oil will not be recirculated. For the same reason, when the pump is
5. Shaft rotati d ali t mounted inside the reservoir, the drain line should be arranged in such
. aft rotation and alignmen

Pump and motor shafts must be aligned within 0.25mm T.I.R.
maximum. A floating coupling must be used.

Bell housings and couplings can be ordered at manufacturers listed in
this catalogue. Please follow the coupling manufacturer's installation
instructions.

Consult HYDROME for assistance on radial load type drives.

a way that a siphon is created. This ensures that the according to the
port size and a straight low pressure fitting with maximized bore should
be used.

PV016~PV023

PV032~PV046 PV063~PV092 PV140~PV180

Size of pipe joints 3/8 (98.5 or more) 1/2 (212 or more) 3/4 (216 or more) 1 (219 or more) 1-1/4 (@22 or more)

1.D. of pipes @12 or more 215 or more 219 or more 225 or more 232 or more

Length of drain Under 1m Under 1m Under 1m Under 1m Under 1m

P74




PV SERIES TANDEM
AXIAL PISTON PUMP

Pump Combination PV

L
M K
] ]
E 1 ' |
— & NyEHA - @ R,
| I~
Al 2 R o __:}j%ﬂi._ _______ e = H
& > i
e 1 _|ee
e e T i |~
D C
Main pump Second pump Interface main pump L B C D H K M
PV16, 20, 23 PV16, 20, 23 100 B4 HW 489 196 1705 225 220 225 212
PV16, 20, 23 541 208 197 2355 245 261 212
PV32, 40, 46 PV32, 40, 46 129 el 574 208 197 261 245 261 245
PV16, 20, 23 630 232 252 244.5 299 326 212
PV63, 80, 92 PV32, 40, 46 160 B4 HW 663 232 252 271 299 326 245
PV63, 80, 92 724 232 252 326 299 326 306
PV16, 20, 23 719 230 305 280.5 349 415 212
PV32, 40, 46 752 230 305 307 349 415 245
PV140, 180 PV63, 80, 92 DD A 813 230 305 362 349 415 306
PV140, 180 878 230 305 415 349 415 385
PV16, 20, 23 860 255 403 299 406 531.5 212
PV32, 40, 46 893 255 403 3255 406 531.5 245
PV270 PV63, 80, 92 200 B4 HW 954 255 403 3805 406 531.5 306
PV140, 180 1033 255 403 4335 406 5315 385
PV270 1134 255 403 531.5 406 531.5 510

Combination PV140/180+PV140/180 and PV270+PV270 only with splined shaft on main pump due to high torque

PV pump with thru drive

gear pump
vane pump
piston pump

/
o
Description
1 Connector geaipunip
R vane pump
2 Coupling piston pump
3 Seal |
N
4 Seal N
\I\ |
5 Couplin . :
pling \\
kY
\
"\\ i gear pump
— |~t=— vane pump
piston pump

second pump

P75




PVS, PZS SERIES

VARIABLE VOLUME ~
PISTON PUMP <
PN
PVS-1B-16 N2-R - %
1 2 3 4 5 6 7 8
1 PVS: Pumpssize 0, 1,2 PZS: Pump size 3, 4
3 Mounting Type:  B: Flange type (normal)  A: Foot type
5 Control types  standard type: N Option type: P, NQ, RS (RA), WS (WA), HL
7 Shaft rotation (viewed from shaft end) R: Clockwise L: Counter clockwise
Specifications
. . o . Input Speed
Displacement Unloading Conditions (Ipm) Pressure Adj. Max .
Model cc/rev Range Pressure SENEE ()
bar bar
PVS-0B-8 8 9.6 12 14.4 0: 20-40 9
PVS-1B-16 16.5 19.8 24.7 29.7 12
1:20-73
PVS-1B-22 22 26.4 33 39.6 255 2000 12
2:30-145
PVS-2B-35 36 43.2 54 64.8 500 23
PVS-2B-45 46 55.2 69 82.8 8:30-215 23
PZS-3B-70 70 84 105 126 e 2078 41
3:30-215 286 1800
PZS-4B-100 100 120 150 180 4: 30-286 60
Dimensions
PVS-0B-8N FiowAd] 214 (MAX)
Screw 164.5 (MAX) 49 Drain Pressure 29
_Ll_ el _Tfrram Ad Screw ™| o1 supply Port
- e |

E -;w'ﬁ '
W—ﬂ 5 & il

g 8
' §
- T 2
J 11 °§'_ﬂ
Outlet / 1275 i = Outat 106.4 EELE
PT1/2° 1495 % = PT1/2* 110 PT1/2"
130
The relation between flow adjusting
length ({) and pump displacement (q)
o 10

s

4 :
E 3|..~Flow adjustiing range
i : i

15

5 10
eV " Eiow adjustiing length { mm

P76




PVS, PZS SERIES VARIABLE VOLUME PISTON PUMP
Control Types

Type

NQ

(RA)

WS
(WA)

HL

External View

Pressure

Flow Adj. Screw Adj. Screw

Flow
Adj. Screw

Remote Port

QH Flow PH Pressure

Adj. Screw / PL Pressure

Pres
e _HITH
(SOL"ON") tagul
Flow -
Ad]. Screw :
&
5o\ |§
X
Pressure ’
Adj. Screw [ TR Pressure Adj
soroFF)\gI*=1* - Screw
Flow Se= (SOL'ON")
Adj. Screw e
L]
O]
X
Pressure
Load
Control Poit

Flow
Adj. Screw

JIS Symbols

—=— Pressure

PH

SOL

]

|

| soL
| "OFF"

i

!

"ON"

—= Flow

—= Pressure

—=— Flow

—= Pressure

Description

Pressure Compensating Type (Manual)

1. When the pressure reaches the value set
with the compensator, the flow is reduced
automatically and the set pressure is
maintained.

2. The pressure and flow are controlled
manually.

Remote Pressure Control Type

1. The pressure can be controlled according to
the pilot pressure.

2. The flow can be controlled manually.

Two Pressure-Two Flow Control Type

1. By means of the sequence valve, two stage
flow rate can be obtained and each flow rate
has the different pressure eventually enabling
energy savings.

Solenoid Cut-Off Control Type

1. An unloading solenoid valve is used to
minimize the lost energy when the pump
output is not required.

2. Heat generated is very small.

Two Pressure Cut-Off Control Type

1. By means of "ON" "OFF" control of solenoid
valves, two different pressure compensating
types can be obtained.

Load Sensing Control

1. The "HL" compensator is used for load sensing
circuits and is a true load sensor. This is the "P"
compensator with a pin in the compensator spool.
The pin prevents pilot flow from entering the circuit
which will eliminate creeping of the load.

2. The "HL" compensator will let the pump deliver a
constant flow rate to the circuit by providing an
adjustable AP across the customers orifice or
valve. The pump will operate at 17.2~27.5 bar
(250-400 psi) above "Load pressure".

P77




PVS-1B-16N, PVS-1B-22N

Pressure Adj. Screw 42 Oil Supply Port

b
Key4.76 *53!
/4 I &
g 87 AN
o b S ke,
; N
b
R !
s | g / 106.4
222 13 ool 8 5
4-M10X16 153 -l 2| Outlet 124 \ Inlet
| = SAEJ518b-3/4" 130 SAEJ518b-1"
181 o] |2
The relation between flow adjusting
{ Flow adjusting length length () and pump displacement (q)
(Flow adjusting screw) 25
‘ 22
i b 20
165

3
fard

3 %
N
B
52.4
Pump displacement g
3 @
H
\4%‘2%%(

co/rev ing range:
4-M10X16 o | |
Inlet 5 10 15 20 25
Flow adjustling length { mm
PVS-2B-35N, PVS-2B-45N
310 (MAX) Pressure Adj. Screw 45 Qil Supply Port
S — N
Flow Adj. Screw| PT1/2" 6 32
38 4 I
Key 63588 8
- ! o o 2 o ©
ﬂ = | &
S o &
xD ) z
o]
i o
T I 5 2
< \? ‘Q‘/ % ~ 2
o —1 =
4 | 8 p 144
26.2 R slies)
4-M10X16 AR 9 a Outlet 145; Inlet
—_ 190 by SAEJ518b-1° 170 SAEJ518b-1 1/4°
222 =
The relation between flow adjusting
length ({) and pump displacement (q)
{ _ Flow adjusting length 50
||[F|nw adjusting screw) o A8
i € 40 -
% g 36 S =
30
1\ g
_[ — P ° 20 L)
Ak g
& | &/ & 4o pA
] cClrey 7 [Flow adjusting range
30.2 4-M10X16 0% 15 20 25 30 35
Inlet Flow adjustling length [ mm

P78




PVS, PZS SERIES VARIABLE VOLUME PISTON PUMP

PZS-3B-70N
Prassure Adj. Screw

Remote Pressure Control Port Oil Supply Port

Drain BT
~ PT3/4" |

34
Flow Adj. Screw
™ ey r‘-
50 5 .
7.94+281 ¢
Sl e A e g &
o o) ‘ /| g \@;{
b =< _— E = o
2 B & '
;e | & 0 ® 8
N\ 1 58 URO~T@® \
GOQ\M E_L..J_B E g Outlet 128 \ Inlet
223 _8 | § & SAEJ518b-1 1/4" 172 SAEJ518b-1 1/2°
296 (MAX)
306 (MAX)
The relation between flow adjusting
! Flow adjusting length length () and pump displacement (q)
(Flow adjusting screw) 80
; it
el 5
5
e g /
® o g = P
2 ‘1?
@ ) <
2] 2 £
;ﬁ’ o i -
T cclrev iFlow adjustling range:
4-M12X20 |
35.7 305 10 15 20 25
Inlet Flow adjustling length { mm
PZS-4B-100N
Pressure Adj. Screw Drain
Remote Pressure m:;ojfl::un 0il Supply Port ST 57
Flow Adj. Screw 01
SH|
60 6
o || " % @ ]
® @ —m Key 9.53 881 %1,_6 4 |8
LY h © 1 @ g 2
E— L]
7e @\ ‘ /] P ‘\ | g
N = 2T T ol & _
3 \J
a
o B2 % U=l ® 8
i N —{ & T @
429\ 4-M12X20 25 | 8 ‘;‘? K ot | e T et
257 g § SAEJ5180-2" s SAEJ51862
347 (MAX) 90
The relati ) flow adjusting
{ Flow adjusting length length () and pump displacement (q)
{Flow adjustng screw) 1
bl 00
J E 2
%0
g 74
é 80 &5 /
AN 2 4 e
o 4
< 2 /
i~ g 2 e
a i Irwss Flow adj g range
2\e @7 0 | i
g 10 15 20 25
. 4-M12X20 Flow adjustiing length { mm
Inlet

P79




PVS, PZS SERIES VARIABLE VOLUME PISTON PUMP

PVS-0B-08 PVS-1B-16/22 @@96e1116209638)(8)e)@9(1@2E0(1927)129)(@8 (19)
PVS-2B-35/45

36)(20)31)17)24)33)(18)16) 8 (10)37)(33)(11)(22)30)(15) 27) (39)

-

11 I
L

\ e
]
]
/
Faky
s
.
3 24)( 5 X28)14) 4 Y21} 6 ) 9 )( 7 )(10)13) (35 1 )(23)(29
36
PVS-3B-70
PVS-4B-100
== \
o
| | N
6) (a4) (49)(a8) (a7)(a1)(2 (24)(5 (28)14)21) 4 )6 )9 (7 (38)10)13)a5)35) 1) (23)(29
NO. Part Name NO. Part Name NO. Part Name NO. Part Name NO. Part Name
1 Bady 9 Barrel holder 17 Guide 25 Oil seal 33 Expander plug
2 Case 10 Swash plate 18 Needle 26 Snap ring 34 Machine screw
3 Shaft 11 Thrust bush 19 Key 27 Snap ring 35 Machine screw
4 Cylinder barrel 12 Seal holder 20 Nut 28 Snap ring 36 Flow adj. screw
5 Valve plate 13 Gasket 21 Retainer 29 O-ring 37 Spring Holder
6 Piston 14 Spring 22 Plug 30 O-ring
7 Shoe 15 Spring 23 Ball bearing 31 O-ring
8 Shoe holder 16 Control Piston 24 Needle bearing 32 Pin

P80




FIXED DISPLACEMENT VANE PUMP
FEATURES:

1. Designed with high capacity in all aspects.

2. Special design comsideration has been given to the flow passage
to prevent anti-cavitation. Extreme smooth and quiet in operation,
particularly suitable for in-plant application.

3. Maximum working pressure 1000 psi (70 bar), ideal to use as low
pressure pump in Hi-Lo system because of price and performance. Symbol

4. Viewing form the shaft end, the direction of rotation is clokwise. (R) 50T 150T
H

8y How to order

50T, 150T-23-L-R-L - %
1 5

> 3 4 5 6

1 Low pressure single vane pump

3 Mounting type  F: Flange type  L: Foot type (normal)

5 Discharge port position (viewed from shaft end)  L: Left side (normal)  R: Right side

Specifications

Delivery At No-Load Pressure (Ipm) s Rur&ning
Model  Displacement == Prlt\ensasxt]re
cc/rev
(bar)
07 - 9.0 1.2 135 1800 1200 105
12 12.0 14.4 18.0 21.6 1800 950 105
14 14.6 175 21.7 26.1 1800 950 105
17 17.0 20.3 255 315 1800 950 105
19 19.2 23.0 28.8 346 1800 950 105
50T 21 21.1 253 31.7 38.0 1800 950 105 95 105
23 23.0 276 345 414 1800 950 105
26 26.2 31.4 39.3 47.2 1800 950 105
30 30.1 36.1 45.2 54.0 1800 950 105
36 36.2 43.4 543 - 1500 950 70
40 415 49.8 - - 1200 950 70
48 48.3 57.9 724 86.9 1800 900 %0
61 615 73.8 92.2 110.7 1800 900 90
150T 75 752 90.6 1132 135.9 1500 900 90 24 25
94 94.2 113.0 1413 - 1500 900 70
116 116.3 139.6 - - 1200 900 70

P81




FIXED DISPLACEMENT VANE PUMP

50T FOOT TYPE

SUCTION PORT
PT 1"

@125

0
24 5,5

T
‘-—_l_/ o?.

—
l%l RACTTA
DISCHARGE
PORT PT 3/4"

201

104 =

g ‘[ |—“—“
ERI7 RS
FRIN\ZAR
E el Lk 2o

0 50—

150T FOOT TYPE

DISCHARGE PORT

PT 11/4"

SUCTION PORT
PT 11/2"

¢ 170

@30 -3.0?1
o

-0.157

33

mlm mm

m

=—114

FLANGE TYPE
201
= 54 =50
15 5
o] 0
£ Tf N
yan b
& L”%fy |z
.E -]

1 DEEP

4- 11 HOLES @
224 SPOTFACER

Unit:mm

/ 4- p11 HOLES

137.5

=
H

15
~
75

o .
L&:&iﬁ#

140

FLANGE TYPE

237

58 50.5

90

:
J

-R15

Unit:mm

/— 6-013.5 HOLES

VZi5].5

Al

Ui

()

R\
-/

®230

4 -913.5 HOLES
©28 SPOTFACER

1 DEEP

187
~°

[VIOD———-—IOO-—-*
n(\
L)

®

16

e—101.5—

186.5

s H
L—'I SD—-I
f=—98.5 —=f=— 98. 5—=
225

P82




FIXED DISPLACEMENT VANE PUMP

Item No.

© o N o o & 0w N o=

—
o

11

15A
16

Description

Foot (or) Flange

Seal

Bearing

Shaft

Woodruff-Key

Socket Head Cap Screws
Body

Lock-Pin

"A" Port Plate

Rotor

Vanes

Cam Ring

"B" Port Plate

Bearing

Cover

O-Ring

Socket Head Cap Screws

Specification

22x47x8
620422

NO.607
M10x1.5x20

6200

G75
M10x1.5x30

Item No.

© 0 N o o B 0N =

_ s a4 g
a B W N = O

15A
16

Description

Foot (or) Flange

Seal

Bearing

Shaft

Key

Socket Head Cap Screws
Body

Lock-Pin

"A" Port Plate

Rotor

Vanes

Cam Ring

"B" Port Plate

Bearing

Cover

O-Ring

Socket Head Cap Screws

Specification

32x52x9
62052Z

7X7x35
M10x1.5x20

6203

G120
M10x1.5x40

P83




FIXED DISPLACEMENT VANE PUMP

~

(M) Jemod induj

w wn =T o N -

Pressure (bar)

105

A, o .
~ _ J NAY / \ 2
M T N e
n— m. ..— / f_f.— ]
s .H.JM! /,/ v
R LAY
i NAVEE
~ . ,/..., 8
v 1+ \k S
= _ W2
(=] I W
5 L 1 1 1 L 1 -
hEm._v h_omzuzmﬂ_._m
(my)) 1amod induj
G o sfﬁ_a.;a.a...m
N N,
_ ! 1 / g \ 2
‘ ._ /.-’_.. e
B w 3 // .a.» g
o M _W-‘ // i\ g
[ RS
< I N
1- ‘_ _— ...“..» i
5 [i 5
o e
CRNLNIIAE [
28 & 2 =
(lud)) mol4 Indino
(M) 1emod 1nduy
T 2 AV U R A
Il AL
On. 5 1§ / [N
AN
ALY
i /....,,.
| \
I \
N —t ,._.
vy |
= |
= |
0 L., .

w2 B O 5 e

{wd)) Mo 1ndino

10 20 30 40 50 60 70 80 90
Pressure (bar)

0

Pressure (bar)

(my) 18amod Indu|

I I H fm s ..w T .”._cm

N N A\ AV

FT A N

| R

- T NN

m...lr ar /. ©

; | )

I %@ W

o T 1 M

2 :

I o

NI E—
8 gg 8 3

(wd)) moj4 Incing

(my) Jamod indu|

e ¢

XL

I A\ Y A

T X

glle] & g W

A I

[ “ N e

o CH

) - - SE

= ] I LN

= A [ 7

5 il L L =
2 = ] 8

(wd)) mol4 ndino

sy

] 1 ! 1 .__... ! m

NI W,

L L

§ | Lo

EEIEEN 1\

E [ — /—..-—— 2

“_ f//...., g

| A A\

- H T [

o | | W e

=1 i

o I | G

n L 1 1 =

g8 848 2

(wd)) mold Inding

Pressure (bar) Pressure (bar)

Pressure (bar)

50T-40

50T-36

P84

(my) 1amod induj

& 2 wo

] —— . .:h. m

5 i

= 3 1 .q. =]

I hols

s 8[| & W

L3 HN 8

.mn W..‘ (=Y
A ¢ &
el i|. 5
_ _ f &5
i = e
R EE ook

(wd)) moj4 Inding

(M) Jamod 1nduy

e=ls] T —— /8

EEAEEEER

A T L s

s

] U M
T[] W 5
T s &
[ 1y e £
i 1] g
_. | _ ___ )
£ 888 9S8 8 G

(wd) mol4 Incing




LOW PRESSURE VANE PUMP+
HI-PRESSURE GEAR PUMP P . RS

4] & |
‘ﬂ,l o p

50T+HGP-2A (3A) &
150T+HGP-2A (3A)

Symbol

50T, 150T -36 -3 - 3¢ - R - 01
1 2 3 5 6
1 Model
2 Vane pump displacement  36: 36cc/rev (see page. 81)
3 Gear pump displacement  3: 3cc/rev (see page. 129 HGP-2A, page. 131 HGP-3A)
4 Mounting type  F: Flange type  L: Foot type (normal)
5 Shaft rotation (viewed from shaft end) R: Clockwise L: Counter-clockwise
6 Shaft diameter for 50T  None: 222 (normal) 01: 819.05
50T+HGP-2A Unit:mm
Be0 103.8 258 -
063.6 437 104 0 70
1 4<3|m g E
. il =7 ﬂ-h 28 u?. u?
i 3 2 14 %r
et 3] (o]
Ziymm hﬂ\'“ A 0
> 43- RS © :
3 wn| n
©12.5°0071 '\ 4-MBX1.25P ‘7/ =ik
DEPTH 15 ALl 1 1il LLL
t
4- 011 HOLES 4 50 | 78 65
924 SPOTFACER 90 | s0 s | ss
140
150T+HGP-2A
103.8 220
43.7 108.5
100 100
. 3c : |
: E’ {*N
(D) " .
K . ‘ 1.. Ll -
: a2
T o I
Vi 1/
4-913.5 HOLES /] | 114 66 150
ol SRR 140 53 ses | 985
225

P85




HVP-FAI FIXED
DISPLACEMENT VANE PUMP

ouT
Symbol

IN

How to order
HVP-FAlI -F-11-R

1 2 3 4
1 Low pressure single vane pump
2 Mounting type  F: Flange type (normal)  L: Foot type
3 Displacement
4 Shaft rotation (viewed from shaft end) R: Clockwise L: Counter-clockwise

Specifications

Opera O ara e H ° PO eld
5 A 0]0 D 0 O peed D s D O
- Pre - Delivery (Ipm) Input (kw) . Foot | Flange
Min. | Max. |
X 5 bar | 35 bar | 70 bar| 5 bar |35 bar| 70 bar| g el n Type | Type
HVP-FAI-F5R 70 5.1 46 37 0.1 05 10 900 | 1800 | 3/8 1/2 65 56
HVP-FAI-F8R 70 97 89 77 0.1 08 15 900 | 1800 | 3/8 1/2 65 56
HVP-FAI-F11R 70 138 12.8 117 02 1.0 21 900 | 1800 | 38 12 65 56
HVP-FAI-F13R 70 14.9 13.8 12.8 02 1.3 25 900 | 1800 | 3/8 1/2 65 56
Dimensions
HVP-FAI-L:*x R L 22 = FOOT TYPE gt 2 Unit:mm
CR@ ="
\_J \j 33 ]
i P 4-@11 Hole _
BT £ 922x1 Deep
[T T 1=
50.8 28.5
o, 147(145)
HVP-FAI-F xR 57 %8 ® FLANGE TYPE
(7N -y ¢ .
NI\ H gl -
= 1
A B O
12 |4

( )FOR HVP-FAI-3%13R

P86




DS FIXED DISPLACEMENT
VANE PUMP

Symbol

IN

How to order
DS-12-F-R
4

1 2 3
Low pressure single vane pump

Displacement

Mounting type  F: Flange type(normal)  L: Foot type

5 W =

Shaft rotation (viewed from shaft end) R: Clockwise L: Counter-clockwise

Specifications

Operating Characteristics Running Ports
Max. At1800 rpm Wi i Speed (rpm) Size (pt)
Pressure Delivery (Ipm) Input (kw)

(EEL) 0 bar |30 bar | 70 bar 30 bar |70 bar
DS-11 70 5.0 45 39 0.2 0.55 1.1 600 2400 3/8 1/2 45 30
DS-12 70 7.7 7.2 6.5 0.3 0.75 15 600 2400 3/8 1/2 45 3.0
DS-13 70 126 1.8 1.0 04 1.05 2.1 600 2400 3/8 1/2 45 30
DS-14 70 22,1 21.6 21.0 0.6 1.65 34 600 2400 3/8 1/2 45 3.0

Dimensions

DS->:<'-FR DS->:<‘-LR Unit:mm
FOOT TYPE
85
FLANGE TYPE 67
PT 3/8"0UT| PT 1/2"IN,_._30 38
7.5 Discharge Suction | 8110 28
I__I Port('ﬂ__ _EPort |
PT 3/8"0UT T 1T
ﬁ - e Discharge N -_-_S?_____
L Port(B) eo\\ g;lj
I “la 3’ rﬁ—] 3 /
L s | ¢ g 6 /f(-)\ & =
GAR=EEE : A TN
3 Q;» b |
B - TR r'l'_ .
: LT i I
2 ms_aaﬂm/E 4-088Hde i 28 | 50 ) =
T A #16x1 Deep = , -
123 116

Note: The outlet (B) of the standdrad type is plugged

P87




FIXED DISPLACEMENT
HI-PRESSURE SINGLE
VANE PUMP

Symbol

How to order

PV2R1-25-F-R-A -A
1 2 3 4 5 6
Model PV2R1, PV2R2, PV2R3, PV2R4 (see page 92 VQ-45)

Displacement cc/rev

Mounting type  F: Flange type (normal)  L: Foot type

Shaft rotation (viewed from shaft end) R: Clockwise L: Counter-clockwise
Discharge port  A: Upward (normal) B: Downward R: Right side L: Left side
Suction port  A: Upward (normal) B: Downward R: Right side  L: Left side

o als 0N =

Specifications

Running Running :
M Speed M Speed W(e'.-(lg)ht
Deliver axs rpm Deliver ax. rp g
Model Pressure b Model Pressure
(cc/rev (bar) (cc/rev (bar)
PV2R1-06 . PV2R2-47
PV2R1-08 8 PV2R2-53 52.3 19 23.3
PV2R1-10 9.4 PV2R2-59 58.2 :
PV2R1-12 12.2 PV2R2-65 64.7
PV2R1-14 13.7 210 750 9 112 PV2R3-60 60.3
PV2R1-17 16.6 ’ PV2R3-66 66.4 210
PV2R1-19 18.6 PV2R3-76 76.4
PV2R1-23 | 227 1800 PV2R3-82 82.2 1800 | 600
PV2R1-25 25.3 PV2R3-88 88.3 36.7 46.7
PV2R1-31 31 175 PV2R3-94 93.6 . )
PV2R2-26 26.2 PV2R3-108 108.2
PV2R2-33 33 PV2R3-116 115.6
PV2R2-38 | 38 210 600 1 233 Ppv2R3-126 | 1256 175
PV2R2-41 413
178.5
PV2R1 DISCHARGE PORT @15 %6  6os |
SUCTION PORT @28 Bl —
RS B 1
FLANG TYPE

\_J—

3
1

FOOT TYPE

145.5

L350 1 ses '7{5'—1;2:‘7:?

5 1275

P88




FIXED DISPLACEMENT HI-PRESSURE
SINGLE VANE PUMP

PV2R2 232 Unitmm
FLANGE TYPE —— 80 ——-’—7 87 —=— e
16 9 =2 | 146
S i
oy Wikl | o e e ngut | IS [N |
] 5 e Eﬂ E ‘ 3| 2rest \l
: ) ==t L == e O, SRPAY
=
IR i H L 3 / J
e = AT < 2 20135
yAn
4-M10 DEP.19 30.2 222 4-M10 DEP.17
FOOT TYPE =2
80—~ 87—
Ef—'_'"'_l 1
=80
|1.’7/-:
60 73~
Lns—-i—af-
PV2R3 = Unit:mm
FLANGE TYPE
213
SUCTION DISCHARGE 21 9 181
PORT @53.5 | PORT 230 3 —
T = i 2" ST
1_1 ® = - r: & °2|I o b V; N o
R > - - 2oy
1, y L 1
87" TN
2-017.5
4-M12 DEP.19/ = 33?1“ 4-M10 DEP.19 “"DE"JZI“
FOOT TYPE 83—
-'-90‘-|-—1'|2_
= — 4017.5
= @26 DEP.1

Ll

Lﬂ?"‘ﬂi]

~1095

| 76285 | EHL—J
Er e 751175+

74

P89



FIXED DISPLACEMENT HI-PRESSURE
SINGLE VANE PUMP

PV2R1

P90




O

FIXED DISPLACEMENT
HI-PRESSURE DOUBLE
VANE PUMP

ouT ouT

Symbol

How to order

PV2R12, PV2R23 - % - % -F-R-A-A-A
1 2 3 4 5 6 7 8

Model PV2R12 (P1: PV2R2, P2: PV2R1) PV2R13 (P1: PV2R3, P2: PV2R1) PV2R23 (P1: PV2R3, P2: PV2R2)
P1: Displacement cc/rev (see page 83)

P2: Displacement cc/rev (see page 83)

Mounting type  F: Flange type (normal)  L: Foot type

Shaft rotation (viewed from shaft end) R: Clockwise L: Counter-clockwise

P1: Discharge port A: Upward (normal) B: Downward R: Right side L: Left side

Suction port  A: Upward (normal) B: Downward R: Right side L: Left side

0 N O s WO =

P2: Discharge port A: Upward (normal) B: Downward R: Rightside L: Leftside E: Left upward 45°

Dimensions

PV2R12
FLANGE TYPE FOOT TYPE
SUCTIONPORT o535  2n2 DISCHARGE PORTo 21 e
 m % . S ——
H— —\ J—‘ g i o | e
a9 8 ‘E‘ J
IDE—"T

Unit:mm

4-p14
028 DEPTH 1mm

189

| i S o
429 Ez_g 4-M12 DEPTH 17mm /.
1 | H
2R1 DISCHARGE PORT o15 ' 4-M12 DEPTH 19mm 60 | 1
5

3
AEL

128 174
145 2-913.5
_ I 021 DEPTH 1mm
e A v o e e o T ri
& s N
g £ (®) 3
- | _j

P91




FIXED DISPLACEMENT
HI-PRESSURE SINGLE
VANE PUMP

Symbol

How to order
VQ25-18-F-R-A-A-01
6

1 2 3 4 5 7
1 Model
3 Mounting type  F: Flange type (normal)  L: Foot type
5 Discharge port (viewed from shaft end) A: Upward (normal) B: Downward R: Right side L: Left side

7 Shaft type 01: Normal

Specifications

Delivery At No-load

Displacement Pressure (Ipm) Running Speed (rpm) Prl\élggdre Weight (kg)
(cc/rev) (bar)
06 6.2 7.4 9.3 1.2 1200
08 8.1 9.7 121 14.6
vaQis 11 11.2 13.4 16.8 20.1 103 127
14 14.3 17.1 215 25.7
17 171 20.5 25.6 30.7 1800 230
19 19.2 23 28.8 345
23 23.3 27.9 34.9 41.9
VQ20 26 26.1 31.1 39.1 46.9 123 17
31 31.1 37.3 46.6 - 1500 200
38 38.1 45.6 = = 1200
18 18.1 21.7 27.2 32.6 800
22 22.1 26.5 33.2 39.8
V025 26 26.2 31.4 39.3 471 16.7 21.4
32 32.1 385 48.1 57.7
38 38.2 45.8 57.3 68.7 1800
43 43.2 51.8 64.8 77.7 230
47 47.1 56.5 70 85
52 52.3 62.7 78.4 94.1
svaQ25 60 60.2 72.7 90.3 108.3 23 31
65 65.3 78.3 97.9 1175
75 75 90 1125 - 1500
60 60.3 72.3 90.4 1085
66 66.4 79.6 99.6 1195
vaQ3s5 76 76.3 91,5 114.4 137.3 36 44
82 82.2 98.6 123.3 147.9 1800
88 88.3 105.9 132.4 158.9
94 945 113.4 1417 1701
SVQ35 108 108.2 129.8 162.3 194.4 a3 a1
116 116.1 139.3 174.1 208.9 600 200
125 124.6 1495 186.9 — 1500
VQ45 136 136.8 164 204 246 52 60
156 156.2 188 234 280 1800
svQ4s5 189 189.5 227 284 340 66.5 945
200 200 240 300 360
216 216 260 324 -
DVQ45 037 037 285 o - 1500 61 89

P92




FIXED DISPLACEMENT HI-PRESSURE
SINGLE VANE PUMP

VvQ1i5 FOOT TYPE Unit:mm
DISCHARGE PORT @15 13 7 e 2-@11 HOLES
SUCTION PORT @308 4-MBX1.25P @18 SPOTFACER 1 DEEP
A== DEFTH 17 I | —
- & E, L ] U B | L
i 15 © | [N
/ N — Pary a
~ A — — v =
B N = g \ I/ "\.d
C t! ¥
ey [T : |
2 r 50 | 565 I Jos | I
=22 hﬁlL LB 95 275 725 725

4-M10X1.5P-DEFTH 17 180

11-Teeth Spline 3/4"

L (19.05) DIA 30% & 3 |©
angle flat root side fit NO.01-Shaft| 19.05|21.24 |4.76|
176
56.5 25 NO.03-Shaft Spline shaft

44
35

g -

A'fom
+0
B 0.8

(=]
= 3
2 ‘a 3
g 2491 HOLES
)| @18 SPOTFACER
1 DEEP
VQ20 FOOT TYPE Unit:mm

DISCHARGE PORT @ 19.05

13 45
. \ - 32 *
SUCTION PORT 0 31.75 ’: 197.5 4-0 13.5 HOLES
| 67 021 SPOTFACER 1 DEEP

) - -

A P

0
4.76* 001

58.7
47.6

L 73
115 38

| \_4:M10x1.5P- DEPTH 17 é
e '

A [ B |C
197.5 174
= 53 ~ NO.01-Shaft| 922.23| 24.5 [4.76 ;
T od o5 NO.02-Shaff| ©25.4 |28.18/6.35 146
-

-
—
A
B

120

AR\

9101 btgo'i

D

2-0 11 HOLES
@21 SPOTFACER 1 DEEP

NO.03-Shaft| 22.23|24.94 6.35|
B = ?%
I ] ] B i fa
\j

P93




FIXED DISPLACEMENT HI-PRESSURE

SINGLE VANE PUMP

vVQ25

DISCHARGE PORT @25 13, 45 45
SUCTION PORT @38 ‘

L DS‘
3 '\@\ %?‘I I N
3 \QJ\;%ﬁ B
i_@.i 6.2 N 4-M10X1.5P DEPTH 17

4-M12X1.75P DEPTH 19

|

16/32 d.p. -13 teeth
30°pressure angle flat
roct side fit.

59.5

8 =
og| o9
< )|

Unit:mm

FOOT TYPE
222 4-@13,5 HOLES
83 381 59.5 @21 SPOTFACER | DEEP

*
IBS;

A B C

NO.01-Shaft |222.23 | 24.5 | 6.35

NO.02-Shaft | 25.4 |28.18|6.35

NO.03-Shaft| 230 33 7

76
3

46

1

138

-0.05

95"'1‘4

SvQ25

DISCHARGE PORT P1 @25 4-M10X1.5P-DEPTH 18

i
e

307 pressure angle fiat

171

SUCTION PORT @ 39 \ \ —
; B o5
o
ya o N -
V) ST U &
. r
[
32
\ - |
35,7
4-M12X1.75P-DEPTH 19 26.2 40.7
.79
5
16/32 d.p. -13 teeth
™
L
o4 root side fit.
(5]
238
83 38.1 59.5 5 =
od| o3
1| o+
1 1 1 < o
g g
oo
—T +1
P~
o
& -
13
2.5

NO.04-Shaft Spline shaft 146
NO.w-shaft| o28 [30.8]6.35
2N
Fany |_ 8
L/ L
2.913.5 HOLES
@27 SPOTFACER
1 DEEP
FOOT TYPE Unit:mm
238
4- @N7.5 HOLES
83 381 59.5 @06 SPOTFACER | DEEP
T 71
Vi )
[N — ~
oH w
& : &
] : o S
Mt RN
el L]l?.s L 11?.5—1
131 274
A B | C
NO.01-Shaft |022.23 | 24.5 [6.35
NO.02-Shaft| 25.4 |28.18|6.35
NO.03-Shaft| 030 | 33 | 7 =
NO.04-Shaft Spline shaft 181
NO.W-Shaft| o28 [30.8]6.35
i /?;::Q§\
< ™~
5 Fan pam
= L/ 2=
L

2-@17.5 HOLES
@26 SPOTFACER 1 DEEP

N\

P94




FIXED DISPLACEMENT HI-PRESSURE
SINGLE VANE PUMP

VQ35 FOOT TYPE Unit:mm
DISCHARGE PORT@30  __ 21, _ 285 _ __4-DI7.5HOLES
SUCTION PORT @ 56 \ _/{]: %0 " \mé SPOTFACER 1 DEEP
SN AT =
~ g T e - -
og
Conmynn T
1 $ L 'l
@ IV N 1 ! ~
R NP 2 —HJ &
- IR | o
| I 40 ; i S
- ~] \ 4-M10X1.5P-DEFTH 19 - TF
55.2 1L.762 | 88
7| A 50
4-M12X1.75P-DEPTH 19 2.9 ' : 131
A B |C
| NO.01-Shaft|31.75 |35.32(7.95
NO.02-Shaft| ©34.9 |38.56(7.95 213
12/24 d.p.-14 teeth -
279 . = [ 30°prassure engle flal NO.03-Shaft Spline shaft 181
20 Sk S c|§ =T root side fit,
- & i i s W : 43 ‘( m S — ). I
2 % g |.."_6_.. -
® = 3 & 3
- I — - \N% 2
3 a]
g 2-@17.5 HOLES
et = __’f | @26 SPOTFACER 1 DEEP == ;
9
SVQ35 FOOT TYPE Unit:mm
21
DISCHARGE PORT @30 9
SUCIION FORT @ 56 — = 278 4-017.5 HOLES
E = es a7 N2 ©26 SPOTFACER | DEEP
b el P
o L
~ g T T q
NN\
D

77.8
/..

~ 2
s R ;E:* of &
G I 3

\ 20 Sﬁj T © 3

“—l t 762 lesa| | 151 ol
l42.9 % 50 el ol Lk 135

— 30.2 131 274
4-M12X1,75P-DEPTH 19 4-M10X1.5P-DEPTH 19

278 A B 213

a7 112 NO.01-Shaft| ©31.75 | 35.32 181

= '] = - NO.02-Shaft| 34.9 | 38.56

75 28| =5

E | | r 63 - :
o . l a /
o m o
o 1 4l al AN Vsl o3
g = o P UV ST
- 3 @ =
{ — 2-@17.5 HOLES k A‘
1 \ @26 SPOTFACER 1 DEEP —r
9

P95




FIXED DISPLACEMENT HI-PRESSURE
SINGLE VANE PUMP

VQ45 FOOT TYPE Unit:mm

DISCHARGE PORT 38
SUCTION PORT @75 4-M16X2.0PX19 DEEP

(] 336 4-@17.5 HOLES
;‘! 518 102 135 ©26 SPOTFACER 1 DEEP
f\ ‘l )] - e ‘_ [ _ | _ —
P i f'}/"r&)\ = E § g [ ] ' [1:[
= - ) L] = ) |
S k_/ ) =7 | — > =
k\ e g . I ]

=109

]
R : e
4-M12X1.75PK19 DEEP 1762 s Ll 151_|

1
1175l l?.S_.-‘

61.9 g L
35.7 131 274
336
) 110.2 135 211
‘ | 52 83 181
I
| — 1 | D L | - | 1
: ' v I L 2 r 4 )
2 — 2 2.@17.5 HOLES
@ B ©26 SPOTFACER 1 DEEP
— S| 3
s| LT ; T
o _ P~
= o
\P’ N 8
3
E T \ J
13
DVQ45 s FOOT TYPE unitmm
4-M16X2.0PX19 DEEP p
SUCTION PORT @75 61.9 22.7) 4-@22 HOLES
ﬁ\ I———| y )
M o o3
% 5
3 1
R o
! ]
4-M12X1.75PX19 DEEP, e
| 114.3 280
DISCHARGE PORT @38 29 1746
185 438
337
1 126 273 )
43 83 228.6
T _"\_I_i__l_|_f.
A N s
70 B

218

115
| |
L.E
HHH
1
©38.1"8 021
42.36"8.18
140
" N,
T

2152.4*30s

&
228.6

[

@39 SPOTFACER
1 DEEP

P96




FIXED DISPLACEMENT HI-PRESSURE
SINGLE VANE PUMP

SVQ45 FOOT TYPE Unit:mm
4-@22 HOLES
13 ©43 SPOTFACER 1 DEEP
4-M16X2.0PX19 DEEP 1
- H | [ TH -
SUCTION PORT @75 61.9 | 35.7 I__J_I = i B 1| &
‘ 13 P = C o
. NV | AR i 1\
3 |E—* 2
S & _/ L/ —
ﬁﬁ // I i 114.3 280
7 Y 39 374.6
4-M12X1.75PX19 DEEP 185 438
DISCHARGE PORT @38 —
390
166.5 131
50 81
] 2%
T T ) 4 =
J [ | = 65 g o g
o 18 : 3
?{? d
2 | e h
‘q;’ 8
1H] 4.922
H |l 5 ©39 SPOTFACER
L l_ 1 DEEP
Item No. Description vQis VQ25 (SvVQ25) VQ35 (SvQ35) VQ45 (SvQ45)
1 Retainer Ring R47 R52 R72 R85
(VQ35) 35x55x11
2 Seal 22x47X7 30x52x11 (SVQ35) 38x72x12 50x85x10
3 Bearing 6204 6205 6207 6209
4 Shaft
5 Key
6 Housing
7 Cartridge Kit
8 0O-Ring G85 G100 G135 G140
9 Cover
' (VQ25) M12x1.75x110 (VQ45) M16x2.0x160
LY Calp e Dl (SVQ25) M12x1.75x120 B0 &0 (SVQ45) M20x2.5x160
11 O-ring & Endless Back-up Ring | P36 P46 65.5x3.5 G80
12 O-ring & Endless Back-up Ring | 71.5x3.5 90.2x3.5 G115 G130

P97




FIXED DISPLACEMENT HI-PRESSURE
SINGLE VANE PUMP

vQ15

P98




FIXED DISPLACEMENT
HI-PRESSURE SINGLE
VANE PUMP

@: Symbol

8y How to order

HVQ20, DVQ20-4-F-R-A-A-01
1 2 3 4 5 6 7

1 Model

3 Mounting type ~ F: Flange type  L: Foot type
5 Discharge port ~ A: Upward (normal) B: Downward R: Right side L: Left side
7 Shaft type 01: Normal

Specifications

Displacement
Model (cc/rev)

4
6
8 420 480

11

14

HVQ20

Max. Pressure (bar)

3000

2500

2300

17
19 380 400
23

1800

18
22
26
32
38 280
DVQ25 43 230
47
52
60

65
75

250

1800

1600

Running speed (rpm)

800

Weight (kg)

18.1

231

23

P99




FIXED DISPLACEMENT
HI-PRESSURE SINGLE VANE PUMP

HVQZO FOOT TYPE Unit:mm

Suction port 225 —'1—r'—g Discharge port 213 4-©13.5 HOLES
—\ - 8 21 SPOTFACER 1 DEEP
i Y L/ 87
Xt < I
. @ oo i
i1 o =t

4-M8x1.25P-DEEP 14

<
\_I

(©

18.2

4-M10X1.5P-DEPTH 19

40.7

A B ©
I NO.01-Shaft |@22.23| 25.01 | 6.35

245
243.5 E NO.03-Shaft Spline shaft

181 |
68 29 =<
—T e 20 = =
I |" 5 z 2 Shaft Code 3 i :i;
. . $3 ?g SAE B-B splined shaft I
1 I 2 a = 7 Class 1-J498 b 16/32 d.p.
— | =
|"—" S| @ ?3 -13 teeth 30° pressure
| — T 1= : angle flat root side fit. 0
8 — 7 I = - - @
)
| 2-@13.5 HOLES
= @21 SPOTFACER 1 DEEP
FOOT TYPE Unit:mm
4.5
= 4-@ 13.5 HOLES
3 © 21 SPOTFACER | DEEP
12 ||¥ ]
L]
AW\ -
1@3“”\ | ) g
J | | \_4-M10X1.5P DEEP 17
ESII LJL . L60 | 73
6.
P
A B ©
NO.01-Shaft | 822.23 | 24.5 | 6.35
NO.02-Shaft| ©25.4 |28.18(6.35
222 NO.03-Shaft| 230.0 | 33.0 | 7.0 | | 171
83 8] 595 .2 -
23 23 NO.4-Shaft NO.04-Shaft Spline shaft
o O <| m 16/32 d.p. -13 teeth [NO.W-Shaft | 228.0 [ 30.8 [6.35
9
= 2| flat root side fit. ™
3 T T 2 2

2-0 13.5 HOLES
© 21 SPOTFACER | DEEP

]
‘('@’ 50 30° pressure angle
; ,

e

P100




FIXED DISPLACEMENT
HI-PRESSURE
DOUBLE VANE PUMP

Symbol

How to order

VQ215-18-6-% -R-A-A-A-
1 2 3 4 5 6 7
1 Model

3 P2 Displacement cc/rev

5 Shaft rotation (viewed from shaft end) R: Clockwise L: Counter-clockwise

7 Suction port  A: Upward (normal) B: Downward R: Right side L: Left side

R1: Right upward 45°  R2: Right downward 45°  L1: Left upward 45°  L2: Left downward 45°

Specifications

P1: Displacement P2: Displacement Max. Pressure Weight (kg)
(cc/rev) () (bar)
vQ215 o4 29
18,22,26,32,38,43,47,52,60,65,75 6,8,11,14,17,19,23,26,31,38
SvQ215 32 40
vVQ225 18,22,26,32,38,43,47,52,60,65,75 18,22,26,32,38,43,47,52,60,65,75 30.6 35.5
V@315 48 55
60,66,76,82,88,94,108,116,125 6,8,11,14,17,19,23,26,31,38
sSvQ315 44.4 52
VQ325 60,66,76,82,88,94,108,116,125 18,22,26,32,38,43,47,52,60,65,75 pas 50 58
VQ425 63 7
SvVQ425 136,156,189,200,216,237 18,22,26,32,38,43,47,52,60,65,75 80 111
DVQ425 73 104
VQ435 76 93
SvVQ435 136,156,189,200,216,237 60,66,76,82,88,94,108,116,125 91 122
DVQ435 84 115

P101




FIXED DISPLACEMENT HI-PRESSURE
DOUBLE VANE PUMP

V021 5 FOOT TYPE Unit:mm

DISCHARGE PORT P1 @25 -

SUCTION PORT _ @56 | | N
P ———

3
%

110 80

]
+0
C .00

X
-
= I o 3
Fa
v
32 &
I s i o
4-M12X1.75P DEPTH 19 | 1422 62 N U = o] — Iz
. \ 4-M10X1.5P DEEP 18 I 1 il
40 73 12
222 40.7 4-013.5 HOLES = 0 =
DISCHARGE PORT P2 019 — 79 @21 SPOTFACER ns 18
1 1 DEEP 230
1.5X45°
a |1.5X45°
g -
™\ 4-M10X1.5P DEPTH 19 § A B |c|L
16/32dp. -13 teelh NO.01-Shaft| 22.23 | 24.5 |6.35) 61
30° pressure angle flat 171
— root side fit. NO.02-Shaft| 25.4 |28.18|6.35) 61
NO.03-Shaft| 230 | 33 | 7 |68 L)
110 80 38.1 L 2 e
?g ?;- NO.04-Shaft| Spline shaft 7/8" [ !
| [ 1 = i <| @ /V N\
= 1 \ ™
°§ fraiV ) Fraiv! -1
gl : = — 5 S P ANz
a 5 2-013.5 HOLES -
S 021 SPOTFACER \[\ A/
_E_ 1 DEEP ~——
9.5 -0
SVQ215 FOOT TYPE Unit:mm
4-M10X1.5P-DEPTH 18 6y 95
SUCTION PORT @56 ——— 4-017.5 HOLES
B
P & 88 101.6 026 SPOTFACER 1 DEEP
i - _
\ 3} ﬂ _q_ T L
NG | .
RN AN < U =
= g) E:\LS r N
4? ] o
- o
- o~ —
y / |
/ 76.2 73.5 I |is1
4-M12X1.75P DEEP 19 50.8 -
DISCHARGE 40.7 35.5 117.5 117.5
PORT P1_52. 7.9 131 274
22.2
t—{— DISCHARGE PORT P2 @19 1.5X45°
< EaED 2
3 gl
-\ 4-M10X1.5P DEPTH 18 16/32 d.p. -13 teeth " STt
30°pressure angle flat
root side fit. NO.01-Shaft|22.23| 24.5 |6.35| 61
257 NO.02-Shaft| 825.4 |28.18|6.35| 61 218
a8 101.6 38.1 L g = N
L o3| o3 NO.03-Shaftf 230 | 33 | 7 |68 -
[ 1 1 <| @ NO.04-Shaft| Spline shaft 7/8"

+0

T
D127 008

155.5
80.5
E
)ﬁ
/
80
81

vy
7

g 2-@17.5 HOLES

3 @26 SPOTFACER 1 DEEP

P102




FIXED DISPLACEMENT HI-PRESSURE
DOUBLE VANE PUMP

VQ225 2 FOOT TYPE Unit:mm

DISCHARGE PORT ‘¥_
P2 @245 SUCTION PORT @ 56 358
N 109 109

_ 7 ' + - T T T
3 \ 3 ﬁ T [
e \\{* E ' i
: E

0

C'8om

0120

88.9

4-M10X1.5P/ ?6-3 50.8
DEFTH 18 4-M10X1.5P 4-13.5 HOLES
ami2x.7sp | -2SCHARGE PORT DEPTH 18 @21 SPOTFACER
: Pl @25
DEPTH 19
40.7 455
79 79
245 NO.4 - NO.5
_ 1.5x4s° [
E l:;-'*’”‘” A B | C
16/32 d.p. -13 teeth 16/32 d.p. - 15 teeth NO.01-Shaft| 822.23| 24.5 6.35
30%pressure angle flat 30°pressure angle fiat NO.02-Shaft| #25.4 |28.18/6.35
root side fit. root side fit. Noloolenanileso = = 173
358 NO.04-Shaft| Spline shaft 7/8" 146
109 109 38.1 61 NO.05-Shaft| Spline shaft 1"
= — 1
32
T T : / \
o B ol [l L) @) &
. I N AN\
i £l o3| e
H <t =f = ®
8 2.213.5 HOLES [ |
- @25 SPOTFACER 1 DEEP
VQ315 FOOT TYPE Unit:mm
DISCHARGE PORT P1 @30 2
SUCTION PORT @78.5 Z ) 385 4-@17.5 HOLES
. - 120 122 113 @26 SPOTFACER 1 DEEP
DISCHARGE PORT 5 =
] o T[T
P2 @19 / o = |
P~ H
i _L P~
5| 2 =3 —HH— AWE
o R ] I
e | n |
L _;‘ o4 =
A I HH HH HH - HH
17.5 i 76.2 ]__ a8 l._ Liii_l 1
4-M10X1.5P DEPTH 19, 1.9 131 50 117.5 7.5 .
4-M16X1.75P DEPTH 19 30.2 274
4-M10X1.5P-DEPTH 19
A B
370 NO.01-Shaft| 931.75|35.32| 213
—  ss . _— 8| = NO.02-Shaft| 834.9 |38.56 -
<| @
| 38 75
| | :
11T
& :}1! EH | L—_ - 3|8
o
o A = ain 3
. — & L/ =
Ea -
2-@17.5 HOLES

"

> @26 SPOTFACER 1 DEEP —_—,

P103




FIXED DISPLACEMENT HI-PRESSURE
DOUBLE VANE PUMP

SVQ315 FOOT TYPE Unit:mm
21
DISCHARGE PORT P1 @30 os . R TR
SUCTION PORT @78.5 \ - 120122 112 ©26 SPOTFACER 1 DEEP
— T
DISCHARGE PORT \- § el
ey | % % i |
o l
= — I i
sle A \ =MuH h_% —1 .
~ =1 o
o= 4 w L L o =
} g \\\h / A A in : i
|762| 88 s |
22.2 131 50 117.5 N5
- 274
4-M10X1.5P DEPTH 19 61.9
4-M16X 2.09 DEPTH 19
30.2
4-M10X1.5P- DEPTH 19
A B
380
Al o NO.01-Shaft| 231.75|35.32 ; 214
- 120 22 112 o5 [o% NO.02-Shaft| 834.9 [38.56 181
f ‘(' l’:a . - al a. . .
| a7 75
T — ——— T T —|Ir %3 I A
] . 40
) I ] i 1H\§3_\
e o5
= = &t AN A 2
= = 8 L S
- 2.917.5 HOLES
©26 SPOTFACER 1 DEEP
- - 4 + 3 — S
VQ325 FOOT TYPE Unit:mm
DISCHARGE PORT P1 @30 . g 403 4.917.5 HOLES
' 1385 1155 12 @26 SPOTFACER 1 DEEP
SUCTION PORT @78.5 | o )
N ] a - o]
s T
= i |
£ | S~ g ﬁ ‘ JT
o | 1
il .‘. )l ~
~+ \ \ [ = - i &
3 : —[|! i : T\
e N/ [\ J :
l f l. < e v ---,*;'_
Hmséhw : l |- 40 T T I T
‘"“_jPzezas 619 302 l' e 117.5_| 1175
e 4-M10X1.5P-DEPTH 19 e
4mwnsp ’_
DEPTH 18 3\ 4-M16X2.0P-DEPTH 19
v‘]
o™
w
i 403 A 5
133.5 153 ”2?5 NO.01-Shaft| 231.75|35.32 213
‘ NO.02-Shaft| 834.9 [38.56 181
: 63
I = l 47 § ®
i | [ ]' os | og
{q_: | Il <| @
i i | l: 8 8
o — T
| = - e o
—J’ 8
IL - / 2.817.5 HOLES
3 726 SPOTFACER 1 DEEP

P104




FIXED DISPLACEMENT HI-PRESSURE
DOUBLE VANE PUMP

vQ425 FOOT TYPE Unit-mm
DISCHARGE PORT P @38 _ _ f

SUCTION PORT @ 85 ; 445 4-@17.5 HOLES
@26 SPOTFACER 1 DEEP

e Y N
i [ e9.9
ﬂﬁg.ml
L)

g
5
i}

h‘l ~
=} . - -
s N :_E%:F BR
)
1 . + i . ot .-+
-.\_ III'] HH HH S HH
| 762 | |os [ 151
35.7
1 |57 | 17.5 {17
4-M12X1.75P-DEPTH 20 13 -
4-M16X2.0P-DEPTH 19 —
154 119.4 52 83 = 211
| 8l =
| ! 67 o3| o 181
L L | [ =] 3 3
I o
: B@ %: | i T
o 1 ‘ [ I ‘ 1 | - 0
= 1 - o =
B W B ;
gl L I : 2
. g —F 8 D—
~§~ _l 2.@17.5 HOLES
)
i~ T | 3 @26 SPOTFACER 1 DEEP
SvQ425 FOOT TYPE Unit:mm
SUCTION PORT @ 28 18 2122 4-022 HOLES
10N 86 "
\ - = & 1625 1815 .50, 81f ., 543 SPOTFACER 1 DEEP
%= so o
1 AN I
> 8 gl 11 S| .
™ \ i -l cg .
g S - = h =t B
2 & J v 4 & e
= 2 _CLEI» &
T . K, © “-,'
DISCHAGE PORT P1 @138 B8
4-MISK2.0PDEPTH19/ | 69.9 35.7 4-M12X1,75P-DEPTH 20

DISCHARGE PORT P2 @ 24.5

:L@% 4-M10X1.5P DEPTH 19
['s]
6.2

NE: 512.5 0273
162.5 181.5 50, 81 g . 228.6
25|25
— | o —1—
&5 )
o (N Ay 8| o - ps
- | v
- = j 55 2
[— gs
3 o) : 3
- ey @ YT R
a
Ll
\ B . 5
. r 4-922 HOLES
= ©39 SPOTFACER
1 DEEP

P105




FIXED DISPLACEMENT HI-PRESSURE
DOUBLE VANE PUMP

DVQ425 FOOT TYPE Unit:mm
457.5
' 4-822 HOLES
SUCTION PORT @ 86 %, .13 - B 164 120 81354 ©43 SPOTFACER 1 DEEP
?E.' ?g-
- =
n @ raB
:M - -
* 8 A [
—
c ~ N\ = ) |V o
LN TR == e I | &
o m
fa 1 L = ®
"4 W R e
DISCHAGE PORT P1 @38 T ) | (
/ 4 MI201 75P-DEPTH 2 280
4-M16X2 0P-DEPTH 19 69.9 35.7 CAEE 0 114.3 39 8
374.6
185
DISCHARGE PORT P2 @ 24.5 438
N i) 4-M10X1.5P DEPTH 19
m—
26.2 457.5 I O 273
164 129 43 83 99 95 I 228.6
(= 2 i
= g o =2 — 1
67
P, R & @
2| = :g-
== 55
) Pany ' //4:\\ .
o
: Ea U #
} s
- H oLy
—3 4-@22 HOLES '\
@39 SPOTFACER 1 DEEP
VQ435 FOOT TYPE Unit:mm
21 13
SUCTION PORT @ 101 _ 4-@17.5 HOLES
— 58 5183 26 SPOTFACER 1 DEEP
Eel
i s g '
Wan =
& =
4 _,8 Il —T —+(\<
sy
' : : [ &
2% N\ i *
I \\\oscriseoe posr p1 038 762| 95 T s
4-M16X2.0P-DEPTH 19/ | 77.8 35.7 4-M12X1.75P-DEPTH 20 131 |59 | 175 1175 J
274
DISCHARGE PORT P2 @ 30
4-M10X1.5P-DEPTH 19
| | 302
506
) 179 136 51 83 g = il
| | 3% 3% 181
[ f = e o @
T1 L Moo~
£l
91 rm \ / S
bl | W 55 2 a \
I N S
JJ m T~ AR A vy
N =g ﬁ )
e
2-17.5 HOLES \/
@ @26 SPOTFACER 1 DEEP =

—

feo

P106




FIXED DISPLACEMENT HI-PRESSURE
DOUBLE VANE PUMP

SVQ435 FOOT TYPE Unit:mm
28 4-922 HOLES
SUCTION PORT @ 101 13 _ | 556 ©43 SPOTFACER 1 DEEP
] 8 o2 179 189.5 81.3 |475
os| %
a 3 8
;}-\\ — 7
o o
L e ) e=a—" {D = —e
N = N
D \C S —
=Y / - i i
/ 1143 | 39 280 8
4-M16X2.0P 77.8 25.7 = 374.6
DEPTH 19 DISCHARGE PORT P1 —l 438
4-M12X1.75P-DEPTH 20 238
DISCHARGE PORT P2 @ 30
Q]: 4-M10X1.5P-DEPTH 19
wy
0273
556
179 189.5 50 . 81 5 = gaid
25|33 ——
— | 65 ot P S B
% — | o4 < NF
SR razse —— ——
= *X = /"\
VAR =¥ S N 2
N 5 N 8
(5]
4-@22 HOLES
@ | @39 SPOTFACER ¥ (*E
L3 1 DEEP
DVQ435 FOOT TYPE Unit:mm
501
SUCTION PORT @ 101 30 13 179 136 43 83 4-822 HOLES
= = 67 ©43 SPOTFACER 1 DEEP
] 25 92 S
\ | e = =
S B =1 1 ™)
g2 | =8 o T -5
= an = d A < &
~ g ) == D e 2k
N o [T ae ) 5
a Wz | — ] 1S +° -
ot -] - i
/ ;i 3
3| © L
4-M16X2.0P-DEPTH 19) 77.8 35.7 ISCHARGE PORT P1 038
DISCHARGE PORT P2 @ 30 4-M12X1.75P-DEPTH 20
;] 4-M10X1.5P-DEPTH 19
wy
30.2
501 0 273
) 179 136 43 ,_ 83 5 =2 228.6
| 92 92
Ll -]
L 1 & ™ —r
T% \ Tt 5 S < S @
= . f% /
3= e 55 @
] AR —
o (LAY &
: o N 8
8
@ | & i)
3 4-@22 HOLES

@39 SPOTFACER 1 DEEP

P107




DOUBLE LIPS AND PISTON
TYPE SINGLE VANE PUMP

Symbol

How to order

KT6C, KT6D, KT6E -014-1 R00-B 1
1 2 34 5 6 7

1 Model

3 Shaft type

00 o1 02 03
[3 s P P
5 Porting combination ~ 00=normal . = P=Pres_sure port
» S=Suction port
s

1=81 (for mineral oil)  4=S4 (for fire resistant fluids) 5=S85 (for mineral oil and fire resistant fluids)
WEIGHT KT6C: 15.7kg  KT6D: 24kg  KT6E: 43.3kg

7 Seal class

Specifications

Model Series DisPlacement Delivery (Ipm) At 1500rpm Input Power (kw) At 1500rpm szgc?l(r:'%m) Pr'\engsxu're
(cc/rev) (bar)

003 10.8 16.2 11.2 7.7 1.3 5.3 8.4

005 17.2 27.0 21.0 18.0 1.4 75 12.2

006 21.3 31.9 26.9 23.4 15 8.9 14.7

008 26.4 396 346 31.1 1.6 10.7 17.7

010 34.1 51.1 46.1 426 1.7 13.4 223

012 37.1 55.6 50.6 471 1.7 14.4 24.1 2600 500
KT6C 014 46.0 69.0 64.0 60.5 1.9 17.6 29.5 600

017 58.3 87.4 82.4 78.9 2.1 219 36.9

020 63.8 957 9.7 87.2 2.2 23.82 402

022 703 105.4 100.4 96.9 23 26.1 44.1

025 793 118.9 113.9 110.4 25 292 495

028 88.8 133.2 128.2 125.8 28 327 485 2500 230

031 100.0 150.0 145.0 142.6 28 365 54.4

Port connection can be furnished with metric threads, normally UNC.

P108




DOUBLE LIPS AND PISTON TYPE
SINGLE VANE PUMP

Specifications

N Delive . A 00 rp put Powe A 00 rp PeECa 2
ode arie o
p=0 bar p=140 bar p=240 bar | p=7 bar p=140 bar p=240bar Max. | Min L
014 47.6 71.4 62.1 55.9 2.3 18.5 30.6
017 58.2 87.3 78.0 71.8 25 22.2 37.0
020 66.0 99.0 89.7 83.5 2.8 24.9 41.7
024 79.5 119.3 110.0 103.8 3.0 29.6 49.8
028 89.7 1345 125.2 119.0 3.2 33.2 55.9 2500 280
KT6D 031 98.3 147.4 138.1 131.9 3.3 36.2 61.0 600
035 111.0 166.5 157.2 151.0 3.5 40.7 68.7
038 120.3 180.4 1711 164.9 3.7 43.9 74.3
042 136.0 204.0 194.7 188.5 4.0 49.4 83.7
045 145.7 218.2 209.2 203.0 4.1 52.8 89.5
050 158.0 237.0 227.7 224.0 4.4 57.0 85.0 2200 230
061 190.5 285.7 278 - 4.6 60.6 - 140
Port connection can be furnished with metric threads, normally UNC.
e Delive D A 00rp put Powe i HECC :
ode erie :
p=0 bar p=140 bar | p=240 bar p=7 bar p=140 bar p=240 bar Max. | Min 08
042 132.3 198.5 188.5 181.3 5.2 49.4 82.6
045 142.4 213.6 203.6 196.5 5.4 52.9 88.7
050 158.5 237.7 227.7 220.6 57 58.5 98.3
052 164.8 247.2 237.2 230.1 5.8 60.8 102.1
KT6E 057 180.7 2711 261.1 254 6.1 66.4 106.9 2300 600 280
062 196.7 295.0 285.0 277.9 6.4 719 121.3
066 213.3 319.9 309.9 302.8 6.7 77.7 131.2
072 2271 340.6 330.6 323.5 6.9 82.6 139.5
085 269.8 404.7 397.7 - 7.3 97.4 - 2000 120

Port connection can be furnished with metric threads, normally UNC.

P109




DOUBLE LIPS AND PISTON TYPE
SINGLE VANE PUMP

KT6C 233 Unit:mm

174.5
161.6 71.4 +0
Lo 823 38.11.97 KEY 6.35 .o,

1 | U MS x 16 DEEP

76.2
té;,\_
|
e
o0

1 ™~
A @ A i f
2 & -
! - 1 = Shaft Code 1
BE (Keyed SAE B)
|
— - wy
2-214.3 HOLES A MES
@21 SPOTFACER r(OU'NTING TORQUE 117ft.lbs g ™
(159 Nm)
12.7
& KEY 4.762 *005
589 _ g 455 b 262 282
1 A
= +q- @ 245 ~24.5 | -
31.8 |8 o r‘— | T 31.8 Shaft Code 2
o e i 8 (keyed no SAE)
= i o =517
S
= (o]
: N i 3/8"-16UNCx0.75 DEEPx4 Shaft torque limits (cc/rev*bar)
/ - (M10x19) Pump Shaft |Vp x P max.
Shaft Code 5 Shaft Code 4 Shaft Code 3 1/2°-13UNCx0.88 DEEPx4 1 16500
SAE BB splined shaft ~ SAE B splined shat (M12x22.4) KTeG 2 14300
Class 1-J498 16/32 d.p. Class 1-J498 b 16/32 d.p. 3 20600
-15 teeth 30° pressure  -13 teeth 30° pressure 4 20600

angle flat root side fit. ~ angle flat root side fit.

KT6C Power loss

h hani ical
e eliEanEll s (e, KT6C Permissble radial load

5
— == 2800 RPM 1400| = =
e n= 1500 RPM [24 cSt] F
E —n= 1000 RPM 1200 _IJI Fa
E. Shaft Keyed NO.1
o 3 L z 1000
9 e T T W gop —
2, R wl | 8 600
o _.__,..—“"‘- - 3 /
g ----------- [ | 1] 400 /
o 1 pemmp=="" I
—_—T 200
600 1000 1200 1500 1800 2000 2500 2800
0
Speed n [RPM]
0 % 0 105 1016017510 210 200 275 Maximum axial load permissible Fa =800 N

Pressure p [bar]

P110




DOUBLE LIPS AND PISTON TYPE
SINGLE VANE PUMP

KT6D Shaft Code 1 Unit:mm
@26 SPOTFACER (Keyed SAE C)
2-@17.5HOLES .
KEY 7.94 Xt
211;5 7.94 %30 184.9 83.6
! 874 881 127 M10x20 DEEP
7 : L : 1 t..ﬂ
N | —
o 1B
3
~ = ( Eg
8 B ‘Hpe=e==== —t—--H—- == cg ~
X 8
5 -
B
o
w
[}
55.2 77.7
| — = +0
8.1 48 78.2 KEY 7.94 “oos
23 | 23 38.1
—- —= - : B Shaft Code 2
—+1+-1+-— =t - -—- . - Keyed no SAE)
™ | |13 Y/
[ |_ . 3
: ) ©31.8 ?: Shaft torque limits (cc/rev*bar)
Shaft Code 3 Shaft Code 4 o - = Pump | Shaft |Vp x P max.
SAE splined shaft Class NO SAE splined shaft 5’ | 1 43283
1-J498 b 12/24 d.p. -14 Class 1-J498 b 12/24 > 34590
teeth 30° pressure angle d.p. -14 teeth 30° 1/2"-13UNCx0.94 DEEPx4 \7/16"-14UNCx0.88 DEEPx4 KTeD
i - (M12x23.9) (M12x22.3) 3 61200
flat root side fit. pressure angle flat root 2 61200
side fit.
KT6D Power loss
hydromechanics (typical) KT6D Permissible radial load
5]
—+=n=2800 RPM 1800
..... n= 1500 RPM [24 cSf]
5| ——n=1000 RPM el //
—_— 1400 Fa .
g ¢ i ; —] T pd
= 1200
< = Shaft Keyed NO.1 e
& 3 L 1000 //
=}
& wo -
5 2 g P e = 600 yd
SRR S S : — )
o ; 1 00
200
500 10001200 1500 1800 2000 2500
0 Speed n [RPM]

0 3 70 105 140160175 190 210 240

Pressure p [bar] Maximum axial load permissible Fa = 1200 N

P111




DOUBLE LIPS AND PISTON TYPE
SINGLE VANE PUMP

KT6E Shaft Code 1 Unit:mm
(Keyed SAE C-C)

225.3 90.9 KEY 9.52 *0s
110 52.3 A
213 @26 SPOTFACER el 50.8

181 2-@17.5 HOLES | |

% : - L] M10x20 DEEP
. —7 s @
——————— - - —==F ?é o
8
m [ KEY 7.94 505
Shaft Code 2
[ - (Keyed no SAE)
- 619 N —
Shaﬂ Code 3 Shaft Code 4 _J 1/2"-13UNCx0.92 DEEPx4 Shaft torque limits (cc/rev x bar)
(M12x23.4) Pump Shaft |Vp x P max.
SAE C Splined shaft calss  SAE C-C Splined shaft / 17.5 12.2 a eeee
1-J498 b 12/24 d.p. -14  class 1 - J498 b 12/24 ot '"”“;f";gg‘df'f““ 619 | > 52590
teeth 30° pressure angle  d.p. -17 teeth 30° KT6E = 500
flat root side fit. pressure angle flat 2 61200
root side fit.
KT6E Power loss
hydromechanics (typical) KT6E Permissible radial load
6 = =
— =M= 2800 RPM 3600 F
5 |====n= 1500 RPM [24 cSt] -
g n= 1000 RPM O B B S bl 3200 _J _____ IF:
= p——m " Shaft Keyed NO.1
o . 2800 g —
& N S— 2
g 3= e W 2400
_ —_— T 2000
s 2 3
3 =1 1600
o
1 1200 =
0 800
0 35 70 105 140 160175190 210 240 400

500 1000 1200 1500 1800 2000 2200

Speed n [RPM]
Maximum axial load permissible Fa = 2000 N

Pressure p [bar]

P112




DOUBLE LIPS AND
PISTON TYPE SINGLE Symeel
VANE PUMP

How to order

KT6DS -014-1R00-B 1
1 34 5 67

2
1 Mode
2 Cam ring
3 Shaft type
4 Shaft rotation (viewed from shaft end) R: Clockwise L: Counter-clockwise
5 Porting combination  00: Normal S=Suction port
P=Pressure port
6 Design Letter
7 Seal class  1: S1 (for mineral oil)  4: S4 (for fire resistant fluids)  5: S5 (for mineral oil and fire resistant fluids)
. Delivery (Ipm) Input Power (kw) Runing .
Model Series Dlsggﬁgc;ent At 1500 rpm At 1500 rpm Max. Dressure speed (rpm) Weight
p=0 bar | p=140 bar | p=240 bar p=140 bar
014 47.6 71.4 62.1 55.9 2.3 18.5 30.6
017 58.2 87.3 78.0 71.8 2.5 222 37
020 66.0 99.0 89.7 83.5 2.8 24.9 41.7
024 79.5 119.3 110.0 103.8 3.0 29.6 49.8 2800
028 89.7 134.5 125.2 119.0 3.2 33.2 55.9 280
031 98.3 147.5 138.1 131.9 3.3 36.2 61.0
2
KT6DS 035 111.0 166.5 157.2 151.0 3.5 40.7 68.7 600 o
038 120.3 180.4 1711 164.9 3.7 43.9 74.3
042 136.0 204.0 194.7 188.5 4.0 49.4 83.7
045 145.7 218.2 209.2 203.0 4.1 52.8 89.5 2500
050 158.0 237.0 227.7 224.0 4.4 57 85.0 230
061 190.5 285.7 278 - 4.6 60.6 - 140
Port connection can be furnished with metric threads, normally UNC.
213 ' Unit:mm
KT6DS 1849 8.6
87.4 81 127 o
-
: KEY 7.94 -0.05
R = /" M10 x 20 DEEP
° 49.3
25 [ 25
g — — = 5 Shaft Code 1
j = (Keyed SAE C)
EE E
pEprd S
ld3xase Gl ™
55.2 7.7
7/16" 14UNC x 0.88 DEEP
48 1/2" 13UNC x 0.94 DEEP
23x45° 23x45° MI12x23.9) Jﬂ—I:EJEz—
- ] «» Shaft Code 2
KEY 7.94
£ 005 (Keyed no SAE)
Shaft Code 3 Shaft Code 4 IShaft torque limits (cc/rev x bar)
SAE C Splined shaft calss NO SAE Splined shaft class _ ‘ Pump | Shaft |VpxP max.
1-J498 b 12/24 d.p. -14 1-J498 b 12/24 d.p. -14 gl - g 1 43283
teeth 30° pressure angle teeth 30° pressure angle 2ls KT6DS 2 34590
flat root side fit. flat root side fit. = 3 61200
4 61200

P113




DOUBLE LIPS AND

PISTON TYPE SINGLE

VANE PUMP

How to order

Symbol

KT6GC -022-6 R00-A 1-00 3%
1 2 3 4 5 6 7 8 9
1 Model
2 Cam ring
3 Shaft type  6: splined (DIN 5462)
4 Shaft rotation (viewed from shaft end) R: Clockwise L: Counter-clockwise
5 Porting combination  00: Normal S=Suction port
P=Pressure port
6 Design Letter
7 Seal class  1: S1 (for mineral oil)
8 Port size  00: Flange 1" BSPP  01: Flange 1" SAE 4 bolts (UNC) M1: Flange 1" SAE 4 bolts (METRIC)
9 Modifications

Specifications

ode arie i 00 rp DO rp = peeda .
= cl Ul
p=0 bar | p=140 bar | p=240 bar | p=7 bar | p=140 bar |p=240 bar Max. Min.
003 10.8 16.2 10.7 1.3 5.3
005 17.2 25.8 20.3 15.8 1.4 75 12.2
006 21.3 31.9 26.5 22.0 15 8.9 14.7
008 26.4 39.6 34.1 29.6 1.6 10.7 17.7
010 34.1 51.1 45.7 41.2 1.7 13.4 22.3
012 37.1 55.6 50.2 45.7 1.7 14.4 241 300 3000 600
KT6GC 014 46.0 69.0 63.5 59.0 1.9 17.6 29.5 17
017 58.3 87.4 82.0 775 21 21.9 36.9
020 63.8 95.7 90.2 85.7 2.2 23.8 40.2
022 70.3 105.4 100.0 95.5 23 26.1 441
025 79.3 118.9 113.5 109.0 25 29.2 49.5
028 88.8 133.2 127.7 1245 2.8 32.7 48.5 250 2800 400
031 100.0 150.0 1445 141.3 2.8 36.5 54.2
Not to use because internal leakage greater than 50% theoretical flow.
KT6GC Unit:mm
2155 55.0
—1-—3.0x30°
E25 920 w785 1/2-13 UNCx0.9 DEEP-4 HOLES
159 0 (M12x22.4)
1 +0 CODE 00 ’ 3/8-16 UNCx0.75 DEEP-4 HOLES
= Jd & k.\ —t 25.96-0.01 — 35.8 / I_ZQZI (M10x19)
o (w
@é D _l/nm o g | +
©o|N /NU of ~ - o o 69\\?[
913 oS ) o = + .
[~ @ =4 § \ |9§> +o: g 6‘7\ AN
o ~ ]
\J : o - f N7
@ o/ @
40.0 | 40.0 214.0 25.4BSPP 238.1 225.4
17.6

DRAIN HOLE BETWEEN TWO

SHAFT SEALES

Shaft Code 6
(DIN 5462) B8x32x36

P114




DOUBLE LIPS AND PISTON
TYPE SINGLE VANE PUMP

Symbol

How to order
KT7B, KT7ZBS -010-1R00-A1-0
1 3 4

2

5 6 7 8
1 Model KT7B series-100 A2 HW  ISO 2 bolts 3019-2 mounting flange  KT7BS series-SAE B 2 bolts  Mounting flange J744

3 Shafttype  KT7B-KT7BS 2-Keyed (ISO R775), KT7BS 1-Keyed (SAE B), 3-Splined (SAE B), 4-Splined (SAE BB)

S=Suction port
P=Pressure port

5 Porting combination  00: Normal

7 Seal class  1: S1 (for mineral oil)  4: S4 (for fire resistant fluids)  5: S5 (for mineral oil and fire resistant fluids)

UNC KT7BS | Metric KT7B-KT7BS
PORT
00 o1 MO M1
P 1" 3/4" 1" 3/4"
S 11/2"

Specifications

v . Displacement Delivery (Ipm) Input Power (kw) Max.Pressure Max. Speed Weight
odel Series (cc/rev) At 1800 rpm At 1800 rpm (bar) (rpm) (kg)
002 57 10.4 8.8 6.5 0.55 2.99 6.40
003 9.8 17.6 15.9 13.7 0.63 4.65 10.25
004 12.8 23.0 21.4 19.2 0.70 5.89 13.13
005 15.9 28.6 26.9 24.7 0.76 717 16.12
006 19.8 35.6 33.9 31.7 0.84 8.79 19.88
007 225 40.4 38.8 36.5 0.89 9.91 22.47
?I;gs 008 24.9 44.7 43.1 40.9 0.94 10.9 24.78 320 8600 187
009 28.0 50.3 48.6 46.4 1.01 12.19 27.77
010 31.8 57.2 55.5 53.4 1.11 13.75 31.42
011 34.9 62.9 61.2 59.0 1) 1.15 15.04 3222 1)
012 40.9 73.7 721 70.1 1) 1.28 17.56 37.71 1
014 45.1 80.8 79.2 77.01) 1.36 19.23 41.37 1)
015 50.0 89.8 88.3 86.52 1.47 21.28 42.76 2)

1)011, 012, 014: 300 bar Max. int  2)015: 280 bar Max. int

P115




DOUBLE LIPS AND PISTON
TYPE SINGLE VANE PUMP

Unit:mm
KT7BS
L 71.
. 1745 169.1 1.6 _
- F 823 _ 38197 KEY 6.35 "0
72 M8 x 16 DEEP
) _5_ = 6.35 X
=~ 1
% S 38.1
~ F‘ f P
N~ AP = am =1 o =3
AW\ < N 4 s
o H —— g 3 -
1.5x45° ¢ < =
__ y =
o S
—— ™ =
1.3 x 45° 'Z.-:,' o
MOUNTING TORQUE 138ft.Ibs
KT7B Q (180Nm) Shaft Code 1
(Keyed SAE B)
@ 38.1 @ E 12.7
70.1
358 =
; i—-—--t == A 9.9 Key 8.0/7.0
][ 39.8
Shaft Code 3 Shaft Code 4 ﬁ == o
SAE B Splined shaft calss SAE BB Splined shaft < — Y
1-J498 b 16/32 d.p. -13 class 1 - J498 b 16/32 = L/ I 2
o o ~ ‘ (=)
teeth 30 pregsure angle d.p. -15 teeth 30 g | o= ><< g
flat root side fit. pressure angle flat 1.5 x 45° +\o' =
root side fit. - S| « -
- wy N
H20x45° o E
/A x 0.75 (19)DEEP-4 HOLES
KT7BS KT7B B x 0.88 (22.4)DEEP-4 HOLES Shaft Code 2
00 01 Mo M1 (Keyed ISO R775)
A 3/8-16 UNC M10
B 1/2-13 UNC M12
C 1.03 (26.2) | 0.874 (22.2) | 1.03 (26.2) | 0.874 (22.2) Shaft torque limits (cc/rev x bar)
D 2.06 (52.4) | 1.874 (47.6) | 2.06 (52.4) | 1.874 (47.6) Pump Shaft | VpxP max.
2E | 1.00 (25.4) | 0.75 (19.05) | 1.00 (25.4) | 0.75 (19.05) 1 16516
F 5.75 (146.0) 5.51 (140.0) 2 20620
KT7B
G 2.87 (73.0) 2.75 (70.0) 3 20620
oH 0.56 (14.3) 0.55 (14.0) 4 20620

P116




DOUBLE LIPS AND PISTON
TYPE DOUBLE VANE PUMP

Symbol

How to order

1 2 45 6 7 8
3
1 Model KT6CC (KT6C+6C) KT6DC (KT6D+6C) KTBEC (KT6E+6C) KTBED (KT6E+6D)
3 Cam ring for P1 & P2

5 Shaft rotation (viewed from shaft end) R: Clockwise L: Counter-clockwise

7 Design letter

Weight KT6CC: 26kg KT6DC: 36.6kg KT6EC: 55kg KT6ED: 66kg

KT6CC |P1=1",S=3"| Pi1=1",8=21/2"% UNC Metric
5 5 KT6DC
P2 1 3/4" " |1 3/4" 1) for 46 cc/rev. max. oo ot Mo Mt
Unc |00 o1 10 11 2) for 126 cc/rev. max. p2 1o 3/4" |1 3/a"
Code
Metric|OM (WO |[1M (W1

Specifications

Model Prisi?re Series Dis&lgﬁgy)ent Delivery (Ipm) At 1500 rpm Input Power (kw)
003 10.8 16.2 10.7 1.3 5.3
005 17.2 25.8 20.8 17.3 1.4 75 122
006 21.3 31.9 26.9 23.4 1.5 8.9 14.7
008 26.4 39.6 34.6 31.1 1.6 10.7 17.7
010 341 51.1 46.1 426 1.7 13.4 22.3
012 37.1 55.6 50.6 47.1 1.7 14.4 24.1

KT6CC P1ap2 014 46.0 69.0 64.0 60.5 1.9 17.6 29.5
017 58.3 87.4 82.4 78.9 21 21.9 36.9
020 63.8 95.7 90.7 87.2 2.2 23.8 40.2
022 70.3 105.4 100.4 96.9 23 26.1 44.1
025* 79.3 118.9 113.9 110.4 25 29.2 49.5
028* 88.8 133.2 128.2 125.8** 2.8 32.7 48.5%*
031* 100.0 150.0 145.0 142.6%* 2.8 36.5 54.4**

*025-028-031=2500 R.PM. max. ~ **028-031=210 bar max.int. = Port connection can be furnished with metric threads, normally UNC.

P117




DOUBLE LIPS AND PISTON TYPE
DOUBLE VANE PUMP

Specifications

Model Pressure Port Series Displacement ry (Ipm) At 1500 rpm
(cc/rev) P=0 bar | P=140 bar | P=240 bar P=140 bar | P=240 bar
014 47.6 71.4 62.1 55.9 23 185 30.6
017 58.2 87.3 78.0 71.8 25 22.2 37.0
020 66.0 99.0 89.7 83.5 2.8 24.9 417
024 79.5 119.3 110.0 103.8 3.0 29.6 49.8
028 89.7 134.5 125.2 119.0 3.2 33.2 55.9
b1 031 98.3 147.4 138.1 131.9 33 36.2 61.0
035 111.0 166.5 157.2 151.0 35 40.7 68.7
038 120.3 180.4 171.1 164.9 3.7 43.9 74.3
042* 136.0 204.0 194.7 188.5 4.0 49.4 83.7
045* 145.7 218.5 209.2 203.0 4.1 52.8 89.5
050* 158.0 237.0 227.7 224.0% 4.4 57.0 85.0*
061* 190.5 285.7 278* - 46 60.6* -
KeDC
005 17.2 25.8 20.8 17.3 1.4 75 12.2
006 21.3 31.9 26.9 23.4 1.5 8.9 14.7
008 26.4 39.6 34.6 31.1 1.6 10.7 17.7
010 34.1 51.1 46.1 42,6 1.7 13.4 22.3
012 37.1 55.6 50.6 471 1.7 14.4 24.1
po 014 46.0 69.0 64.0 60.5 1.9 17.6 29.5
017 58.3 87.4 82.4 78.9 2.1 21.9 36.9
020 63.8 95.7 90.7 87.2 22 23.8 40.2
022 70.3 105.4 100.4 96.9 23 26.1 44.1
025 79.3 118.9 113.9 110.4 25 29.2 495
028* 88.8 133.2 128.2 125.8* 238 327 48.5*
031* 100.0 150.0 145.0 142.6* 2.8 36.5 54.4*
042 132.3 198.5 188.5 181.3 5.2 49.4 82.6
045 142.4 213.6 203.6 196.5 5.4 52.9 88.7
050 158.5 237.7 227.7 220.6 5.7 58.5 98.3
052 164.8 247.2 237.2 230.1 5.8 60.8 102.1
P1 057 180.7 27141 261.1 254 6.1 66.4 106.9
062 196.7 295.0 285.0 277.9 6.4 71.9 121.3
066 213.3 319.9 309.9 302.8 6.7 77.7 131.2
072 2271 340.6 330.6 323.5 6.9 82.6 139.5
085* 269.8 404.7 397.7* - 7.3 97.4* -
005 17.2 25.8 20.8 17.3 1.4 75 12.2
KT6EC 006 21.3 31.9 26.9 23.4 1.5 8.9 14.7
008 26.4 39.6 34.6 31.1 1.8 10.7 17.7
010 34.1 51.1 46.1 42,6 1.7 13.4 22.3
012 37.1 55.6 50.6 471 1.7 14.4 24.1
- 014 46.0 69.0 64.0 60.5 1.9 17.6 29.5
017 58.3 87.4 82.4 78.9 2.1 21.9 36.9
020 63.8 95.7 90.7 87.2 22 23.8 40.2
022 70.3 105.4 100.4 96.9 23 26.1 44.1
025 79.3 118.9 113.9 110.4 25 29.2 495
028* 88.8 133.2 128.2 125.8* 238 32.7 48.5%
031* 100.0 150.0 145.0 142.6* 238 36.5 54.4*

For KBDC  *042~061=2200 rpm max. 028, 031, 050=230 bar.  061=140 bar max int.
For KBEC  *085=2000 rpm max. 028, 031=230 bar. 085=120 bar max int.
Port connection can be furnished with metric threads, normally UNC.

P118




DOUBLE LIPS AND PISTON TYPE
DOUBLE VANE PUMP

Specifications

Model  Pressure g.... Displacement Delivery (Ipm) At 1500 rpm nput Power
Port (cc/rev) P=0 bar | P=140 bar | P=240 bar | P=7 bar | P=140 bar | P=240 bar

042 132.3 1985 188.5 1813 5.2 49.4 826
045 142.4 213.6 203.6 1965 54 529 88.7

050 158.5 237.7 207.7 2206 57 58.5 98.3
052 164.8 247.2 237.2 230.1 538 60.8 102.1
P1 057 180.7 271.1 261.1 254 6.1 66.4 106.9
062 196.7 295.0 285.0 277.9 6.4 71.9 121.3
066 2133 319.9 309.9 302.8 6.7 77.7 131.2
072 227.1 340.6 330.6 3235 6.9 82.6 139.5

085 269.8 404.7 397.7 - 7.3 97.4 -
014 47.6 71.4 62.1 55.9 23 185 30.6

KT6ED 017 58.2 87.3 78 71.8 25 222 37
020 66.0 99.0 89.7 83.5 28 24.9 417

024 795 119.3 110.0 103.8 3.0 29.6 49.8
028 89.7 1345 1252 119.0 32 33.2 55.9

o 031 98.3 1475 138.1 1319 33 36.2 61.0
035 111.0 166.5 157.2 151.0 35 40.7 68.7

038 120.3 180.4 1711 164.9 37 439 743
042+ 136.0 204.0 194.7 188.5 4.0 49.4 83.7

045* 145.7 2185 209.2 203.0 4.1 52.8 89.5
050* 158.0 237.0 207.7 224.0% 44 57.0 85.0*

061* 1905 285.7 278 - 46 60.6 -

*042~061=2200 rpm max. 050=230 bar, 061=140 bar max. int.  Port connection can be furnished with metric threads, normally UNC.

Permissible radial load

KT6CC KT6EC
‘_ = =
P
1800 F v
— = 1600 Fa Z
E = 1400 | Sheft keyed NO.1 ‘/
I8 e
(T 800 T 1200 //
Pé 600 3 1000 //
= 400 - 800
600
200 00 il
00 100 1200 1 10 2A0 Z0 20 600 1000 1200 1500 18002000 2500 2800
Speed n [RPM]
Maximum axi al?c‘r,: ded pe:“[g;;f 3,\ Fa=800N Maximum axial load permissible Fa = 2000 N
KTéDC , [0 -- KT6ED
1800 I¥| E / 3600 || = =] —
[ Fa /, 3400 F =
iR 600 — 3000 Fa Z
-3 Shaft Keyed NO.1 v =3 SR A
1400 7 el 2600 a ey 0.1
e 4 w //
o 1200 v - 2200 —
@ e g A
5 P S 1800
1000 7 7
800 < 1400 =
/’ 1000
600
v 800
400 600 1000 1200 1500 1800 2000 2200
600 1000 1200 1500 1800 2000 2500 2800
Speed n [RPM] Speed n [RPM]
Maximum axial load permissible Fa = 1200 N Maximum axial load permissible Fa = 2000 N

P119




DOUBLE LIPS AND PISTON TYPE
DOUBLE VANE PUMP

KT6CC BC“ wue STy Shaft Code 1 Unit:mm
1&_‘65 / 4 (Keyed no SAE)
X - : KEY 4.762 s
A 1
SAUE |
™ | —
Pan) 7N g
E -4 HOLES/ / s :‘?(haf: s(/:.\g%g)z
3/8-16 UNC x 0.75 DEEP eye
K -4 HOLES S e
265.6
<54 40.7 e 88.2 1016 _ 38 =Ll
,45| Shaft Code 3 Shaft Code 5 Shaft Code S e B “0
= SAE BB Splined shaft |/24:5| . SAE B Splined shaft 2 DIN 5462 : 9.7 L Clabii
calss 1-J498 b 16/32 class 1-J498 b E E B8x32x36 L~ ] e M#8x16 DEEP
d.p. -15 teeth 30° 16/32 d.p. -13 teeth P o al [ | g of Hh
pressure angle flat 30° pressure angle LA o
root side fit. flat root side fit. : 1
@ 1.89:02 o
A g
Alternate Port 1
S=3 S=ORll 28 OUNTING TORQUE 45 ftIbs
F 106.4 88.9 (61 Nm)
G 61.9 50.8
oH 76.2 63.5
Code 00 o1 oM Wo 10 11 ™M w1 Shaft torque limits (cc/rev x bar)
A 52.4 47.6 52.4 47.6 52.4 47.6 52.4 47.6 Pump | Shaft |Vp x P max. P1+P2
B 26.2 22.2 26.2 222 26.2 222 26.2 22.2 1 12300
oC 25.4 19.0 25.4 19.0 25.4 19.0 25.4 19.0
D 74.7 76.2 74.7 76.2 74.7 76.2 74.7 76.2 aaeE |—2 21320
E | 3/8"-16UNCx19 deep M10x19 deep 3/8"-16UNCx19 deep M10x19 deep 3 32670
K |5/8"-11UNCx28.4 deep M16x28.4 deep 1/2"-13UNCx23.9 deep M12x24.0 deep 5 20600
KT6DC 2124 286 83.6 +0 Unit:mm
109.5 1143 381 LT
_I:;:l__‘ T -
by |§ ST | 4 E: 7 M10x20 DEEP
20| = - o
§ - Shaft Code 1
g g
2-217.5 HOLE ol E | gs| = (Keyed SAE C)
©26 SPOTFACER OUNTING TORQUE 50ft.Ibs 4 CARS
(68 Nm) 7 ol ]
(187 Nm) 3
3/8"-16UNC x 0.75 DEEP e
KEY7.94 ;?us M —~
55.2 77.7 83.3 -
B = 48.9] / M8 x 16 DEEP
i@ ] 2sxes
— b —
(=]
=
I E
1 g5 =
L g ? 1 it rv:
a 5/8"-11UNC x 112 DEEP / =
< (L:w‘zsl.‘) @/@L g
7/16"-14UNC x 0.88 DEEP
Shaft dee 3 Shaft Code 4 KT6DCW _ G a8 DEEE Shaft Code 2
SAE C Splined shaft NO SAE Splined shaft  Shaft code5 Shaft torque limits (cc/rev x bar) (Keyed no SAE)
calss 1-J498 b class 1-J498 b 12/24  (Keyed no SAE) Pump |Shaft|Vp x P max. P1+P2 v
12/24 d.p. -14 teeth d.p. -14 teeth 30° 1 43240 Alternate connect. variables
30° pressure angle pressure angle flat 2 34590 00 & Mo 01 & M1
flat root side fit. root side fit. KTeDC| 3 61200 A | 1.031 (26.2) | 0.874 (22.2)
4 61200 B 2.06 (52.4) 1.874 (47.6)
5 55600 C | 1.0(54) |0.75(19.05)

P120




DOUBLE LIPS AND PISTON TYPE
DOUBLE VANE PUMP

KT6EC Unit:mm
331.6 o
213 " 136.7 118.5 52.3|_ 909 KEY9.52 -0.05
b i 12.7
~ 1 50.8)/ MI0x20 DEEP
| .3’-
= AN e
Ny = % - t
S 14 b =
2-517.5 HOLE = G 3] G- ¥ =
{HQ!E@!G TORQUE 50flbs e Shaft Code 1
68 Nm) s (Keyed SAE CC)
1/2"-13UNC x 0.92 deep
(MIZx23.4) +0
5. 6222 157 =522 KEY7.94 005
== ]
38.1 315
1 381/
/ 8
79
-
4 o Shaft Code 2
29 © (Keyed no SAE)
a ] p—
Shaft Code 3 Shaft Code 4 . / L E Shaft torque limits (cc/rev x bar)
SAE C Splined shaft calss SAE CC Splined shaft T dup] 288.9 i 17.5 [} Pump | Shaft|[Vp x P max. P1+P2
1-J498 b 12/24 d.p. -14 class 1 -J498 b 12/24 M16 x‘29.5) 237.1 1 72306
teeth 30° pressure angle d.p. -17 teeth 30° 2 34590
flat root side fit. pressure angle flat KTEEC 3 61200
root side fit. 4 76376
Unit:mm
KT6ED 213 361 KEY9.52 s
2.5 148.2 133.5 52.3 90.9
E %\ ‘ﬁ’\o < [J7 4, s M10x20 DEEP
= = g1
= ] [_’
o
N~
- Shaft Code 1
2115 HOLE %1 L % (Keyed SAE CC)
MOUNTING TORQUE 138ft lbs F &
(187 Nm) MOUNTING TORQUE 138ft.1bs o]
(187 Nm)
s
55.9 62.2 78 357 [H--6L9 o
I 214 ! l _} 12.7 KEY7.94 .0.05
. =1 ] ,_38.1
| | \Q o ®|e
= ® J
= ' [ - Shaft Code 2
® s 8 (Keyed no SAE)
n 4 w| &
o
l229. \ U a
Shaft Code 3 Shaft Code 4 S/8m.11 DEEP @37, Q Shaft torque limits (cc/rev x bar)
SAE C Splined shaft calss SAE CC Splined shaft = = 1/2"-13UNC x 0.92 DEEP Pump |Shaft|Vp x P max. P1+P2

1-J498 b 12/24 d.p. -14 class 1 - J498 b 12/24 (M12 x 23.5) 1 72306

7/16"-14UNC x 0.94 DEEP

teeth 30 pre§sure angle d.p.-17 teeth 30 (M12 x 24) KT6ED 2 34590
flat root side fit. pressure angle flat 3 61200
root side fit. 4 76376

P121




DOUBLE LIPS AND PISTON
TYPE DOUBLE VANE PUMP

How to order
KT6GCC -022-008-6-R-00-A 1-00- 3%
1 3 4 6 7 8

5 9
2
1 Model KT6GCC (KT6GC+KT6GC)

The large cartridge must be always mounted in the front.

2 Cam ring P1 & P2
3 Shaft type  6: splined (DIN 5462)
4 Shaft rotation (viewed from shaft end) R: Clockwise L: Counter-clockwise
5 Porting combination ~ 00: Normal
6 Design letter
7 Seal class  1: S1 (for mineral oil)
8 Port size
P1=1"S=3" P1=1"8=21/2" ?
P2 " 3/4u 1) " 3/4u 1)
UNC 00 01 10 11 1)for 46cc/rev.max.
Code
Metric oM Mo iM M1 2)for 126cc/rev.max.

9 Modifications weight: 28 kgs

Port combinations

01 02 03 04 05 06 07
P1-P2 S-P1-P2  P1.p2

P122




DOUBLE LIPS AND PISTON TYPE
DOUBLE VANE PUMP

Specifications

: Input Power (kw) At 1500 Runing
: Delivery (Ipm) At 1500 rpm
Model Pressure g ... Displacement y (Ipm) P rpm Prgnsasxdre Speed (rpm)
Port (L) p=140 p=240 (bar)
bar bar
003 10.8 16.2 10.7 1.3 53
005 17.2 25.8 20.3 15.8 1.4 7.5 12.2
006 21.3 31.9 26.5 22.0 1.5 8.9 14.7
008 26.4 39.6 34.1 29.6 1.6 10.7 17.7
010 34.1 51.1 45.7 41.2 1.7 13.4 22.3
3000
012 371 55.6 50.2 45.7 1.7 14.4 241 300
KT6GCC| P1&P2 014 46.0 69.0 63.5 59.0 1.9 17.6 29.5 600
017 58.3 87.4 82.0 77.5 21 21.9 36.9
020 63.8 95.7 90.2 85.7 2.2 23.8 40.2
022 70.3 105.4 100.0 95.5 2.3 26.1 441
025 79.3 118.9 113.5 109.0 2.5 29.2 49.5
028 88.8 133.2 127.7 1245 2) 2.8 32.7 48.5 230 2800
031 100.0 150.0 144.5 141.32) 2.8 36.5 54.2
Not to use because intenal leakage greater than 50% theoretical flow.
Unit:mm
319.1 55.0
281.7 37.85  [3.0x30°
193.6 +0
M12x20 DEEP 92.0 9501
! .
2596999
! — +0
/ 082 915
3 o o
o ‘ o 8
o o o %%
= { — o %5
g @8 g - 8 g
@
e 1 -
bl
P~
E ; al®
36.8
Shaft Code 6
014 @C E-4H E-4HOLES DIN5462B8 x 32 x 36
4HOLES
B 15.0max.
M10x19
Port A B @ D E - L
i 5/8-11UNC X 1.12 B
s @) |106.4| 61.9 | 76.2 o X a6t o %\ D € u
. 1/2-13 UNC X 0.94
S(21/2")| 88.9 | 50.8 | 63.5 T y ? ,I m E
P2 (3/4") | 47.7 | 22.2 | 19.0 | 76.2 | 3/3.16UNC X 0.75 “1_ b 5
P2 (1") | 52.4 | 26.2 | 25.4 | 74.7 | (M10X19.0 deep)
&
Shaft torque limits (cc/rev x bar) J
Shaft Vp x P max.(P1+P2) 6.2l
MOUNTING TORQUE 45ft.Ibs = 25.4
6 32670 ®1Nm
MOUNTING TORQUE 1171t.Ibs!

(159 Nm)

P123




DOUBLE LIPS AND PISTON
TYPE TRIPLE VANE PUMP

Symbol

How to order
KT6eDCC -038-022-008-1-R-00-A1-00 - 3%
1 4 6 7 8

%

3 5 9
2

1 Model KT6DCC (KT6D+KT6C +KT6C)
2 Cam ring P1 P2 P3
3 Shaft type
4 Shaft rotation  R: Clockwise L: Counter-clockwise
5 Porting combination  00: Normal
6 Design letter
7 Seal class  1: S1 (for mineral oil)  4: S4 (for fire resistant fluids)  5: S5 (for mineral oil and fire resistant fluids)
8 Port size

UNC Metic

00 o1 Mo M1

P3 1" 3/4" 1" 3/4"

9 Modifications weight: 65 kgs

Port combinations

00 01 02
P1-P2-P3 P1-P2-P3 S-P1-P2-P3

P124




DOUBLE LIPS AND PISTON TYPE
TRIPLE VANE PUMP

Specifications

. Delivery (Ipm) At 1500 rpm Input Power (kw) At 1500 Max Runing S;)eed
Model Pressure Cam Displacement rpm Pressure (rpm
Port Ring (cc/rev) p=0 | p=140 | p=240 | p=7
bar bar bar bar

014 47.6 71.4 62.1 55.9 23 18.5 30.6

017 58.2 87.3 78.0 71.8 25 222 37.0
020 66.0 99.0 89.7 83.5 2.8 24.9 41.7

024 79.5 119.3 110.0 103.8 3.0 29.6 49.8
028 89.7 134.5 125.2 119.0 3.2 33.2 55.9

P1 031 98.3 147.5 138.1 131.9 33 36.2 61.0

035 111.0 166.5 157.2 151.0 35 40.7 68.7

038 120.3 180.4 171.1 164.9 3.7 43.9 743

042 1) 136.0 204.0 194.7 188.5 4.0 49.4 83.7

045 1) 145.7 2185 209.2 203.0 4.1 52.8 89.5

0501) 158.0 237.0 227.7 224.02) 4.4 57.0 85.02)
003 10.8 16.2 10.7 1.3 5.3

KTeDcC 005 17.2 25.8 20.3 15.8 1.4 75 122 800 2800 600
006 21.3 31.9 26.5 22.0 15 8.9 14.7
008 26.4 39.6 34.1 29.6 1.6 10.7 17.7
010 34.1 51.1 45.7 41.2 1.7 13.4 223
012 37.1 55.6 50.2 45.7 1.7 14.4 24.1
P2-P3 014 46.0 69.0 63.5 59.0 1.9 17.6 295

017 58.3 87.4 82.0 775 2.1 21.9 36.9
020 63.8 95.7 90.2 85.7 22 23.8 402
022 70.3 105.4 100.0 95.5 23 26.1 44.1
025 79.3 118.9 1135 109.0 25 29.2 495
028 88.8 133.2 127.7 12453 238 327 4859
031 100.0 150.0 144.5 1413 9) 2.8 36.5 54.23)

1) 042-045-050=2500 rpm max. 2) 050=230 bar max. int. ~ 3)028-031=230 bar max. int.

Dimensions

2125 404.0 83.6 Unit:mm
T 84.4 T19.3 138.0 381127

61.0

6.35MpX

9

AL Key 6.35-
9.3 Y 0.05
N

NO.4 Shaft

SAE CC splined shaft
315 Class I-J498 b 12/24 d.p.
-17 teeth 30°

pressure angle flat root

% side fit
j 2.3x45°

264.3

I.l@l7.5

fann
\ %y

“ T
(7
&)
Y
74.7
101":
127, OO—I
82.60
|
N
@127, 0+(()] 05

|
+0
.70 05|

34.6| MAX.

85.00
RS
31.7§

=
N g
1.1.3x45°
MOUNTING TORQUE 187 Nm
@ NO.1 Shaft (keyed no SAE)

M12x22.4 DEEP 4-HOLES

2.3x45°

552 M10x19.0 DEEP 4-HOLES (T UV GOR) 89.7 —
L 79 NO.3 Shaft (3/8-16 UNCX0.75) W I Shaft torque limits (cc/rev x bar)
SAE C splined shaft B\ 6.2 7.8 ) Shaft | Vp x p max.(P1+P2+P3)
Class 1-J498 b s | VT 005 1 43240
Alﬁ 12/24 d.p.-14 teeth 30° H= A e 2 66500
pressure angle ;?gﬁa NP N N pi?\ / 3 61200
flat root side fit E & o 4 66500
N R i i %
4 raas — ‘ 29l £
B A < ] PORT| CODE | A B ©
= 2.3x45° é q
o P3 |00 & Mo|52.4 | 26.2 | 25.4
) @318
/1016 01 8&M1|47.6 | 222 | 19.0

M10x19.0 DEEP 4-HOLES
(3/8 -16 UNCx0.75)

NO.2 Shaft (keyed SAE CC)

P125




GEAR PUMP F

Symbol

How to order

HGP -05A-F-3% -R-X
1 2 3 4 5 6
Model

Series number
Mouning type  F: Flange mounting  L: Foot mounting
Displacement cc/rev

Rotation  R: Clockwise L: Counter-clockwise

O ol WON =

Shaft type  X: Straight shaft

Specifications

Displacement
Model )

Pressure bar (psi) Runing Speed (rpm) Port Size

Working Max. Rate Max.

HGP-05A-%¢03 3%
HGP-05A-°¢05 %

210 (3000) 250 (3500) 1800 3500 800

HGP-05A-% 08> 0.43
1/4" 1/4"
HGP-05A-3%1.1% 0.44
Dimensions
cw A Max .
ROTATION B Unit:mm
8 o 38 Model Dimension A
N _ ?a‘l? o5 stz | ] HGP-05A-*03* 52
e} qf o X HGP-05A-*05* 54
& é @ i T 1 b HGP-05A-*08* 56
: : ——_@ L NE HGP-05A*1.1* 58
© ~ . 1Ll -
i e~ @_ v, Model Dimension B
. | _/@/ o __%[} HGP-05A-*03* 25
! 3 HGP-05A-*05* 26
| Y L HGP-05A-*08* 27
_l__ﬁ 8| 1> L HGP-05A-*1.1* 28
S|4
49 N
Performance curves
WORKING PRESSURE (bar) FLOW (Ipm)
200 150 100 50 7
N \\ 6
\ \\ \ . //,//
\\\ \\ 3 // / S
\§\‘ 2 // e
Al ";,l‘/‘
25 2 15 1 0.5 1000 2000 3000 4000 5000 6000
POWER INPUT (Hp) SPEED (rpm)

P126




GEAR PUMP

Symbol

How to order

HGP-1A-F-% -R-X-2B
1 2 3 4 5 6 7

Model HGP: Gear pump only  PR2: Gear pump with relief (see page 136)

Series number

Mounting type  F: Flange mounting  L: Foot mounting

Displacement cc/rev

Rotation  R: Clockwise L: Counter-clockwise

Shaft type  X: Straight shaft Y: Splined shaft

Mounting flange  2B: SAE 2-Bolt  4BD: Din 4-Bolt  4BE: European 4-Bolt

N o o8 0NN =

Specifications

Displacement Pressure bar (psi)
(cc/rev) Working
HGP-1A-F13% 1 4500 1000 1.0
HGP-1A-F23% 2 4500 600 1.05
HGP-1A-F33% 3 4500 600 1.15
HGP-1A-F43% 4 (3201&) (3255000) 1800 4000 600 1.18
HGP-1A-F53% 5 3200 600 1.2
HGP-1A-F63% 6 3200 600 1.3
HGP-1A-F83% 7.8 3200 600 1.4

Remark: HGP-1A-FO5 (0.5 cc/rev), FO8 (0.8 cc/rev) and F2.6 (2.6 cc/rev) are for special order.

Dimensions

HGP-1A-F-3%-3%-3%-2B(SAE 2-Bolt) Unit:mm
CW ROTATION 1273
7N\ A MAX, 0.02
. 103.5 B o 4.0
gz 416 5 g
o2 /-\ i A
7| 7 &
= L fany fan)
sl LA SR8 G
L= — .
8O T 1 8\

Standard type: @12

3 : :
24 _«E | Special type: 10, 12.7

P127




GEAR PUMP

Dimensions

HGP-1A-F-3%-%-3-4BD (DIN 4-Bolt)

CW ROTATION
67.5
56 el
.-_...1 &
4
[
N H
. .

73
1

- —-

INLET

&y
=

=

OUTLET

030 005

/- c.D

-

E

ra,

Normal Mounting D30 (W56) x (L73)
Special Mounting D25.4 (W52.4) x (L71.9)

HGP-1A-F-3%-3%-3%-4BE (European 4-Bolt)

CW ROTATION

INLET

OUTLET

A MAX
B
@7x4 HOLI
4x16
* 3_soﬁg
—
| ==
8 a
od
7 | =2
ng o ] Va
(=] L - J -
o 12 8 =
«
bS] () 4.0 23 =1
N S
o=
21
o |

Specifications

c,D

41.5
I
1)

41.2

70

Standard type: 12
Special type: 010, 012.7

Unit:mm

Dimension B (mm)

inlet

outlet

HGP-1A-F08*
HGP-1A-F1*
HGP-1A-F2*
HGP-1A-F3*
HGP-1A-F4*
HGP-1A-F5*
HGP-1A-F6*
HGP-1A-F8*

Dimensio
4BD
67.5 75.5
69.5 77.5
72 80.1
775 85.5
79.5 87.5
825 91.5
87.5 95.5
93.5 101.50

32.5
33.5
34.8
37.5
38.5
40.5
425
45.5

3/8" PT
3/8" PT
3/8" PT
3/8" PT
3/8" PT
3/8" PT
3/8" PT
1/2" PT

3/8" PT
3/8" PT
3/8" PT
3/8" PT
3/8" PT
3/8" PT
3/8" PT
3/8" PT

Performance curves

VOLUMETRIC EFFICIENCY AT 1500 R.PM.

100
—— T ———
2\.0, —t | |
S 95 = — =
5 \\\\
E 90 P—
6 TYPE \&
= 85— HGP-1A
[T TYPE
W g0 | ‘

75

0 20 40 60 80 100 120 140 160 180 200 220

WORKING PRESSURE (bar)

P128




GEAR PUMP

Symbol

How to order

HGP -2A-F - 3% -R-X-4BJ
1 2 3 4 5 6 7
1 Model HGP: Gear pump only  PR1: Gear pump with relief (see page 135)

3 Mounting type  F: Flange type  L: Foot type

5 Rotation  R: clockwise L: Counter-clockwise

7 Mounting flange  4BJ: JIS 4-Bolt

Specifications

Displacement pressure bar (psi) Runing Speed (rpm) Weight
(cc/rev) ()]

HGP-2A-3%23% 2 5000 900 1.69

HGP-2A-3%33% 3 5000 850 1.70

HGP-2A-3%43% 4 4500 800 1.71

HGP-2A-3%63% 6 210 (3000) 250 (3500) 1800 3500 700 1.72

HGP-2A-3%83% 8 3000 600 1.74

HGP-2A-3%93% 9 2500 550 1.74

HGP-2A-3%113% 11 2000 500 1.74

HGP-2A-3%123% 12 175 (2500) 210 (3000) 2000 550 1.76

REMARK: HGP-2A-F2.5 (2.5 cc/rev) and F5 (5 cc/rev) are for special order.

FEATURES:

1. High-Tech aluminum alloy bushings and dry bearings are 4. Dual balanced plating with the bushings is designed such
used to ensure wearing resistance and withstand extra high that pump is totally sealed for higher volume efficiency as
speed up to 5000 R.PM. well as durability.

2. The woodruff key used in this pump withstands much 5. Useful in various applications such as construction
higher torque. machines, Hydraulic elevator and other special purpose

3. A special internal circuit design guarantees that the seal will machinery.
not be pooped out in case of instant reverse. 6. Relief valve can be added on pump case and in connection

with lifting valve for use in Hydraulic elevator.

P129




GEAR PUMP

HGP-ZA Unit:mm
CW
ROTATION 105
P -
@ 08.8 HOLES 43.70 102
63, 15
N = 6 = MBxP1.0x8 HOLES
g - 0
q 3 / o
3 2 _\\ o
g 3 1 — "”' ~ = .
| A 3| e ] q@
=G J =
\l/ .
:D @ 12-5(])-'8.02
INLET QUTLET 4.0
OE
T

PRESSURE (bar)
HGP-2A

250 200 150 100 50

Sl
\\ \\ \\ \ \ Flow Rate in Iprn| / A 10.5
\ \ \ = // L~
\ \ " L~ // /// e : 5
" '
\\ \\\\ 30 /%l////s
L—
\\\V \ ’ 7 // ///;/ 4
/ / Iy ] 3
NN, ==
e
35 30 25 20 15 10 5 0 500 1000 1500 2000 2500 3000 3500 4000 4500
POWER-INPUT (Hp) SPEED (rpm)

P130




GEAR PUMP
i

Symbol E N

How to order
HGP-3A-F-3%-R-X-2B

2 3 4 5 6 7
1 Model

3 Mounting type  F: Flange type  L: Foot type

5 Rotation  R: Clockwise L: Counter-clockwise

7 Mounting flange  2B: SAE 2-Bolt  4BD: DIN 4-Bolt

Specifications

Displacement Pressure bar (psi) Runing Speed (rpm) A - Port Size C,D Weight

(cc/rev) (kg)
HGP-3A-3%23% 2 97.4 | 46.7 219
HGP-3A-3%33% 3 99 | 475 2.23
HGP-3A-3%45% 4 700 101 | 485 2.29
HGP-3A-3%6% 6 105 | 50 2.37
HGP-3A-3% 8% 8.4 109 | 515 2.45
HGP-3A-3%113% 11 210 (3000) 250 (3500) 3000 600 113 | 54 3/4" 1/2" 2.6
HGP-3A-%%133% 13 1800 117 | 56 2.7
HGP-3A-3%143% 14.3 119 | 57 2.76
HGP-3A-3%173% 16.5 123 | 59 2.87
HGP-3A-3%193% 19.2 127 | 61 2.99
HGP-3A-3%233% 23 134 | 65 3.19
HGP-3A-3%253% 25 2800 500 137 | 66 3.24
HGP-3A-3%283% 28 175 (2500) 210 (3000) 141 | 68 3.35
HGP-3A-*%30°% 30 145 | 70 1" 3/4" 3.45
HGP-3A-3%333% 33 150 (2200) 180 (2600) 1200 2500 150 | 73 3.6
HGP-3A-3%353%¢ 35 130 (1900) 150 (2200) 1200 154 | 75 3.71
FEATURES:
1. Dual balanced plating and dry bearings used in this pump 4. A special internal circuit design guarantees that the seal will

feature excellent resistance to wearing, thrust, impact, as not be popped out in case of instant reverse.

well as extra high speed revolution. 5. Withstands instant pressure up to 210 bar (3000 psi) and
2. Dual balanced plating with the bushings is designed such runs up to 2000000 cycles.
that pump is totally sealed for higher volume efficiency as

well as durability. 6. Direction may be changed at any time.

3. The woodruff key used in this pump withstands much
higher torque.

P131




GEAR PUMP

HGP-3A-F-3-3%-3% - 2B (SAE 2-Bolt) Unit;mm
7\ CW ROTATION A MAX
127 , B
215
419
A\ i
g
il
Bl 711
+ = O
—- 6 I N B - —
25
INLET
* w0 6.50
SHAFT 16.875 100 817.48 200z 4x16 3x16

002

+0

915.875
817.468
M
I
|

TYPE

1 |4.0 4.0
1 ] | a7 |
107 £

f——
. ' 16T
£+ 1:8 TAPER 1:5 TAPER

HGP-3A-F-3%-3-3%- 4BD (DIN 4-Bolt)

17.74 00
019,46
919.68

CW
ROTATION 80
N 99x4 HOLES 3 AMAX i
90
71.40072) / Lal
" < 4x19
Q =
" —
: L
S 29 -
= al e _f c.0
3 @
4.8
28
E=3 D
INLET N\ | Q OUTLET E=3
REMARK: The size in () is for special order, see page 131 for the size of A, B and port size C, D.
PRESSURE ( bar) DISPLACEMENT (Ipm)
210 150 100 50 120
\\ N \ _\ A 28
N 110
\ 1N \ 100 25
] NN 0 V7 %
\\ \\ \ o /, /// 19
N N \ 7 LA A
A G ANAVE o 7 7
N o 77
J © S A
NN 2752 I
\ \ \ 20 __ /4/// ’4 6
A\ ——
o

50 45 40 35 30 25 20 15 10 5 0 500 1000 1500 2000 2500 3000
POWER INPUT (Hp) SPEED (rpm)

P132




DOUBLE GEAR PUMP

Symbol

HGP -22A-F-32-R-X-4BJ
3 5

4 6

1 2 6 7
1 Model
2 Series number
3 Mounting type  F: Flange type  L: Foot type
4 Displacement cc/rev 32: P1=3 cc/rev  P2=2 cc/rev
5 Rotation  R: Clockwise L: Counter-clockwise
6 Shaft type  X: Straight shaft Y: Splined shaft Z: Taper shaft
7

Mounting flange  4BJ: JIS 4-Bolt

(Refer to page 129)

Working pressure: 210 bar (3000 psi)
Displacement: 4 cc/rev - 24 cc/rev
Mounting flange: JIS 4-Bolt

cw
ROTATION
N

214.5 214.5
11.5
80 102
63.5 =
Fant 1| L
A= )
#1@y Ll —
o e
28 [+
" |
43.7
: : 163
INLET OUTLET |
+0
12.50 002 -
“0 Model A mm Model A mm Weight (kg)
HGP-22A-*22* 220 HGP-22A-*88* 220
a HGP-22A-*33* 220 HGP-22A-*99* 220 45
'35 £33 HGP-22A-*44%* 220 HGP-22A-*1111* 220 ’
T HGP-22A-*66* 220 HGP-22A-*1212* 220

P133

Unit:mm




DOUBLE GEAR PUMP

—

Symbol

4

HGP-33A-F-32-R-X- ¥
3 5 6

[y

Model

Series number

Mounting type  F: Flange type  L: Foot type
Displacement cc/rev 32: P1=3 cc/rev  P2=2 cc/rev
Rotation  R: clockwise L: Counter-clockwise

Shaft type  X: Straight shaft Y: Splined shaft  Z: Taper shaft

N o8 0N

Mounting flange  2B: SAE 2-Bolt  4BD: DIN 4-Bolt

(Refer to page 131)

Working pressure: 210 bar (3000 psi)
Displacement: 4 cc/rev - 70 cc/rev
Mounting flange: SAE 2-Bolt DIN 4-Blot

CWROTATION o
Unit:mm
N - = )
r sx22 13 |
i == Cc.D
33 i
& s - — -
& b 1| ==r
= s g
St |-
017.46 200, =
| 1J4.0
|

= and
IN:L{I-?T gﬁm Eﬁ J—'&EO a1 44 B 20. jﬁoem HOLE>

71.40 (72)
Ty | §
Model D F | Weight (kg)| Model D F | Weight (kg) b 1 €
HGP-33A-*22* 44 89.7 4.23 HGP-33A-*1717*| 56.3| 114 6.0
HGP-33A-*33* 44.8 91 4.28 HGP-33A-*1919* | 58.3 | 118 6.2
HGP-33A-*44* 45.8 93 4.5 HGP-33A-*2323* | 61.8| 125 6.4
HGP-33A-*66* 47.3 96 4.7 HGP-33A-*2525* | 63.3 | 128 6.6
HGP-33A-*88* 48.8 99 4.9 HGP-33A-*2828* | 65.3 | 132 6.8
HGP-33A-*1111* | 51.3| 104 5.1 HGP-33A-*3030* | 67.3 | 136 6.9
HGP-33A-*1313* | 53.3| 152 5.3 HGP-33A-*3333* | 70.3 | 142 6.95
HGP-33A-*1414* | 54.3| 110 515} HGP-33A-*3535* | 72.3 | 146 7.28

Remark: The size in () is for special order, see page 131 for the port size C, D.

P134




GEAR PUMP WITH
RELIEF VALVE

How to order

PR1-F- 3 -R-4BJ
1 2 3 4 5
Model (Reper to page 129, 130)

Mounting type  F: Flange type  L: Foot type
Displacement cc/rev

Rotation  R: Clockwise L: Counter-clockwise

a ' & ON =

Mounting flange  4BJ: JIS 4-Bolt

Specifications

Displacement Pressure (bar) (psi)
(cc/rev) Working
PR1-020 2 5000 900 1.69
PR1-030 3 5000 850 1.7
PR1-040 4 4500 800 1.71
PR1-060 6 3500 700 1.72
210 (3000) 250 (3500) 1800
PR1-075 75 3000 600 1.74
PR1-090 9 2500 550 1.74
PR1-105 10.5 2000 500 1.74
PR1-120 12 2000 500 1.76

REMARK: PR1-F2.5 (2.5cc/rev) and F5 (5cc/rev) are for special order.

Dimensions

CW Unit:mm
ROTATION pOx4 HOLES 103.8
“g 4370 102

11 |
4x16 MExP1.0x4 HOLES

A\ 7 7
P § é < PRE/SSUHE ADJ.
5 g - 2
8™ = - - a - — -

4.0 / 72

DRAIN PT 1/4"

é
i

INLET

| 1478

P135




GEAR PUMP WITH
RELIEF VALVE

How to order

PR2-F-%-R-4B
1 2 3 4 5
Model (Reper to page 127, 128)

Mounting type  F: Flange type L: Foot type
Displacement cc/rev

Rotation  R: Clockwise L: Counter-clockwise

a s ON =

Mounting flange  2B: SAE 2-Bolt  4BD: DIN 4-Bolt  4BE: European 4-Bolt

Specifications

Displacement Pressure bar (psi)
(cc/rev) Working
PR2-010 1 4500 1000 1.0
PR2-020 2 4500 600 1.05
PR2-030 3 4500 600 1.15
PR2-040 4 (3201000) (3255000) 1800 4000 600 1.18
PR2-050 5 3200 600 1.2
PR2-060 6 3200 600 1.8
PR2-080 7.8 3200 600 1.4

PEMARK: PR2-008 (0.8 cc/rev) and PR2-026 (2.6 cc/rev) are for special order.

Dimensions

oW A MAX Unit:mm
ROTATION B
.40 82
N 4x16 2.7% IJJ.
80 #7x4 HOLES c,D |
— B4 / - + 7dy) DRAIN PT 1/4”
[ — ] |
$ S X R PRESSURE ADJ.
: 7 == | 1 /
(2] uwy
e w i Ve - a4 44— =
g - i
33 I t 2| s @f g
SN = — '
) - —_
1
E + 12%%0, 104.5
4.0

— = REMARK: See page 128 for the sizes

INLET OUTLET ! } of A, B and port size C,D

13.70'8c;

P136




GEAR PUMP WITH RELIEF
VALVE + LIFT VALVE |

PR1-F - % -R-4BJ - V2064 - *
1 2 4 5 6 7

Model

Mounting type  F: Flange type  L: Foot type
Displacement cc/rev

Rotation  R: Clockwise L: Counter-clockwise
Mounting flange  4BJ: JIS 4-Bolt

V2064: Lift valve

N O a8 0N =

Coil voltage  A11: AC110V (50/60 Hz)  A22: AC220V (50/60 Hz) D12: DC12V  D24: DC24V

(Refer to page 135)

Working pressure: 210 bar (3000 psi)
Displacement: 2 cc/rev - 12 cc/rev
Mounting flange: JIS 4-Bolt

/DRAIN PT 1/4" 112 43.7 Unit:mm
72 129 ) 4 25.4
9| / ez 13! [
STRAIGHT KEY
W4 x L16
/A
ol | Parh
@ 7 0 g of
FLOW ADJ. /
PRESSURE ADJ. 63.5
! Y
fant
\vv '6 125000
4.0
uy m -
3 i d
z 10
. |
- . D —
& :,//j :
102

P137




GEAR PUMP WITH RELIEF
VALVE + LIFT VALVE

PR2 - F - 3%

& -
1 2 3
Model

R - 4B - 2064 - 3¢
4 5 6 7

[y

Mounting type  F: Flange type  L: Foot type

Displacement cc/rev

Rotation  R: Clockwise L: Counter-clockwise

Mounting flange  2B: SAE 2-Bolt  4BD: DIN 4-Bolt  4BE: European 4-Bolt
V2064: Lift valve

N o8 0N

Coil voltage  A11: AC110V(50/60 Hz) ~ A22: AC220V(50/60 Hz) D12: DC12V  D24: DC24V

(Refer to page 136)
Working pressure: 210 bar (3000 psi)
Displacement: 1 cc/rev ~ 7.8 cc/rev

A .
DRAIN PT1/4" e ., Unit:mm
1735 /— : 1514 24
58.5 53 15
5 L | + . STRAIGHT KEY
W3xL13
: () L IR fﬂ
o i —&
k'j [=] il:-l o
o ™ o
o ! 8 -
oL W& Sy Q
EC ; —
© FLOW ADJ. / ||
PRESSURE ADJ. 4-97 12 +0 MIN 83\
-0.02
/ 4.0 - MAX 89 PRESSURE GAUGE PORTPT 1/8
i
e +E 7 Dimension Dimension
23 g E = P PORT PT 3/8 Model A mm B mm
— PR2-010 112 335
@ '@' PR2-020 112 34.5
D | & PR2-030 112 37.5
405 PR2-040 112 38.5
64 PR2-060 112 425
PR2-080 112 495
80

P138




DUMP HOIST PUMP

@: Symbol

How to order
5

KP -5
1 2
1 Model
2 Displacement cc/rev

Specifications

[ place s v =lis % D Pre e o 0
ode Fre = Pre e peed D Di3

< U U cl < Dd U

Dd Jd Max. Min.
KP-35 34.7 175 45 10 0o 10
KP-55 54.2 13 13

1800 350
KP-75 72 210 70 14 25 21
KP-1403 136 15 30 37

Recommend oil: Mobile DTE 26 or equivalent
Unit:mm

KP-55

2-M10x1.25
‘[ -

Performance curves

50 -
4-M12x1.75 + 140f
= — {
L ‘é” 40[-~ 1
5 160 bar
§ 30 H i 160 b
Q H a 100 bar € ar
o @ - S 80
’ 1™ 2 60 bar g
L 1 5 2 40
C o i 3
T 0 500 1000 1500 2000 0 500 1000 1500 2000
b Rotation Speed (rpm) Rotation Speed (rpm)

P139




DUMP HOIST PUMP

KP-75

Unit:mm

172
—
E
i
’\
It ; e
uy T
[EiE IR
£ i~
N
498 a1,
172 124 T
224 MAX 118
12 210 bar 140 unloading
KP'75 T 210 bar
[0 120 ]
o 150 bar
§ 80 100
s H 100 bar . L
3 50 bar s %0 A -
<3 2
£ a0 > § o[ T
= = - =
g 20 8 2off A INHEEEEEEEEE
0 500 1000 1500 2000 0 500 1000 1500 72000
Rotation Speed (rpm) Rotation Speed (rpm)
KP'1 403 42 5+0.1 Unit:mm
gty A
gl oTe k= \
s 490201 { q?
N 9| 5 1% . o
© 3 [ b
© . \ b4
g P, Miw
HH 219 I [T {
|_100:0.1 100:0.1 | 304 71 | 36
MAX136.3 166 264
210 bar unloading
12 240{-1-
KP-1403 - A\ 160 bar e 1 210 bar
g1 2001-4-H B
5 oo A 120 bar .
2 S BN S
s -1 80 bar o 4Pati
8 £ RaPz
5 N s 1]
st 0 40 bar § SOty e
3 = =
g 8 - e
o 500 1000 1500 2000 [ 500 1000 1500 2000

Rotation Speed (rpm)

Rotation Speed (rpm)

P140




HAND PUMP, FOOT PUMP

H-B Hydraulic Hand Pump

H-A Hydraulic Hand Pump F-B Hydraulic Foot Pump

H-A2 Hydraulic Hand Pump F-C Hydraulic Foot Pump

Specifications

= T
1STStage | 2NDStage | 1STStage | 2NDStage | Wi -
H-A - 700 - 2.8 600 1/4 NPT Single 530x120x125
H-B 20 700 13 28 700 3/8 NPT Two 600X 150 150
H-A2 - 700 — 2.26 350 1/4 NPT Single 350%x120%x125 4.4
F-B 20 700 13 2.8 700 3/8 NPT Two 708%x174%x170 11
F-C 20 700 13 2.8 700 3/8 NPT Two 474x174%192 11
H-C 20 700 13 2.8 2500 3/8 NPT Two 713%x142x%200 12

P141




AIR HYDRAULIC PUMP

AP-1000 \ “_ —” J
AP-3000 —

HV-700

O D 0 A = e 0 ble O
- -, o - O PO A ) 0 0
DUC = = C C C ) [) aad U 0
. Unload Load Range (b
- 500 900 700 366x170x178 6.7
Ap-801 100 1/4 NPT XX
AP-901 700 511 1000 800 370x170x178 6.7
AP-1000 700 1500 1000 Single 260x130x200 6.6
AP-3000 1280 160 3/8 NPT 9 300x160x245 10
3500 3000
AP-3001 Double 300x160x245 11.2
HV-700 3% 4-way / 3-position 3% Application: Single-or double-acting cylinder 1.06
¢ Lever operated, detent positioned % Provides "advance", "hold" and "return”. ’

P142




How to order

DFM -3 - 02A - 11
1 2 3 4

Model
Series number

Stations  02A: 2 Stations  03A: 3 Stations  04A: 4 Stations

5 W =

Displacement (cc/rev) 4 cc/rev~35 cc/rev

Specifications

» nlace - z Dre ~ peed D PO e = elg
= - ; Loaded Unloaded In Out :
DFM-302A-6* 6 52 263.6 4.6
DFM-302A-8* 8.4 55 269.6 4.7
DFM-302A-11* 11 60 279.6 4.98
DFM-302A-13* 13 \ . 64 287.6 4.98
DFM-302A-14* 143 T3 | PT12 66 291.6 553
DFM-302A-17* 16.5 210 (3000) 1200 2000 70 299.6 5.53
DFM-302A-19* 19.2 74 303.6 6.13
DFM-302A-23* 23 81 321.6 6.13
DFM-302A-25* 25 84 327.6 6.13
DFM-302A-28* 28 , . 88 335.6 6.67
DFM-302A-30* 30 PT1 PT 3/4 92 313.6 6.67
DFM-302A-35* 35 102 323.6 6.9

Dimensions

£ .
DFM-302A ? l? w onit:mm
80

o]
o

o
DFM-304A ["_5“5 i i ' 1o i L i L..I
& 3
g i
60 70 20. "
!7 - 528 ‘

P143




RADIAL PISTON TYPE LOW

SPEED HIGH TORQUE
HYDRAULIC MOTOR

Symbol

B3¢ 3% - MRCN - 3¢ 3¢ 3¢ 3% - 3¢ - 3¢ - 3%
1 2 3 4 5 6

1 Series number

Model MRCN: 200~1250 cc/rev. MRC: 1400~3500 cc/rev

Normal displacement cc/rev
Shaft type N: Splined shaft  P: Parallel shaft

Option  None: No fix hole  T: Shaft with fix hole

o ol W N

Shaft rotation  None: Clockwise  L: Counter-clockwise

—
4 =
B m

———

865 7
Section-Functional Description

The outstanding performance of this motor is the result of an
original and patented design. The principle is to transmit the
effort from the stator to the rotating shaft (2) by means of a
pressurized column of oil (A) instead of the more common
connecting rods, pistons, pads and pins.

This oil column is contained by a telescopic cylinder (1) with
a mechanical connection at the lips at each end which seal
against the spherical surfaces (3) of the cylinder heads (4)
and the spherical surface of the rotating shaft.

These lips retain their circular cross section when stressed by
the pressure so there is no alteration in the sealing geometry.
The particular selection of materials and optimisation of
design has minimized both the friction and the leakage.

Another advantage of this design stems from the elimination
of any connecting rods, the cylinder can only expand and
retract linearly so there are no transverse components of the
thrust. This means no oval wear on the moving parts and no
side forces on the cylinder joints.

A consequence of this novel design is a significant reduction
in weight and overall size compared with other motors of the
same capacity.

The timing system is realized by means of a rotary valve (5)
driven by the rotary valve driving shaft (8) that it is connected
to the rotating shaft.

The rotary valve rotates between the rotary valve plate (6) and
the reaction ring (7) which are fixed with the motor’s housing.
This timing system is also of a patented design being pressure
balanced and self compensating for thermal expansion.

The advantages of this type of valve coupled with a
revolutionary cylinder arrangement produce a motor with
extremely high values of mechanical and volumetric efficiency.
The torque output is smooth even at very low speed and the
motor gives a high performance starting under load.

P144




RADIAL PISTON TYPE LOW SPEED
HIGH TORQUE HYDRAULIC MOTOR

Specifications

SLlso st%?;dﬂ‘: prossurs (ba__ MBErESeNre NEX.SEE JIOX, poner Welgh
({1lyVA=E19 I Continuous | Intermittent (intermittent) (bar) (rpm) (kw)
B1-MRCN200 199 3.2 210 250 300 210 5 450 27 40
B1-MRCN250 249 4.0 210 250 300 210 5! 425 33 40
B1-MRCN300 299 4.8 210 250 300 210 5 403 38 40
B1-MRCN350 349 5.6 210 250 300 210 5} 384 42 40
B1-MRCN400 382 6.1 210 250 300 210 5 350 42 42
B12-MRCN400 382 6.1 210 250 300 210 5| 350 42 42
B2-MRCN400 410 6.5 210 250 300 210 5 470 61 72
B2-MRCN450 452 7.2 210 250 300 210 5 450 64 72
B2-MRCN500 495 7.9 210 250 300 210 5 430 67 72
B2-MRCN600 594 9.5 210 250 300 210 5! 410 77 72
B2-MRCN700 693 11.0 210 250 300 210 5 390 85 72
B2-MRCN800 792 12.6 210 250 300 210 5! 350 87 72
B23-MRCN800 792 12.6 210 250 300 210 5 350 87 74
B3-MRCN850 855 13.6 210 250 300 210 5! 320 86 94
B3-MRCN900 896 14.3 210 250 300 210 5 320 90 94
B3-MRCN1000 998 15.9 210 250 300 210 5 290 91 94
B3-MRCN1100 1099 17.5 210 250 300 210 5 270 93 94
B3-MRCN1200 1201 19.1 210 250 300 210 5! 250 95 94
B3-MRCN1250 1241 19.8 210 250 300 210 5 240 94 94
B4-MRC1400 1419 22.6 210 250 300 210 5! 260 116 152
B4-MRC1600 1589 25.3 210 250 300 210 5 230 115 152
B4-MRC1800 1816 28.9 210 250 300 210 5! 210 120 152
B4-MRC2000 1986 31.6 210 250 300 210 5 200 125 152
B4-MRC2100 2100 33.4 210 250 300 210 5 200 132 152
B41-MRC1400 1419 22.6 210 250 300 210 5 260 116 160
B41-MRC1600 1589 25.3 210 250 300 210 5! 230 115 160
B41-MRC1800 1816 28.9 210 250 300 210 5 210 120 160
B41-MRC2000 1986 31.6 210 250 300 210 5} 200 125 160
B41-MRC2100 2100 33.4 210 250 300 210 5 200 132 160
B42-MRC1400 1419 22.6 210 250 300 210 5! 260 116 152
B42-MRC1600 1589 25.3 210 250 300 210 5 230 115 152
B5-MRC2400 2402 38.2 210 250 300 210 5 220 159 312
B5-MRC2800 2808 44.7 210 250 300 210 5 210 177 312
B5-MRC3000 2993 47.6 210 250 300 210 5! 210 189 312
B5-MRC3100 3104 49.4 210 250 300 210 5 200 186 312
B5-MRC3200 3215 51.2 210 250 300 210 5} 200 193 312
B5-MRC3500 3473 55.3 210 250 300 210 5 190 198 312
B51-MRC2400 2402 38.2 210 250 300 210 5 220 159 312
B51-MRC2800 2808 447 210 250 300 210 5 210 177 312
B51-MRC3000 2993 47.6 210 250 300 210 5! 210 189 312
B51-MRC3100 3104 49.4 210 250 300 210 5 200 186 312
B51-MRC3200 3215 51.2 210 250 300 210 5! 200 193 312
B51-MRC3500 3473 55.3 210 250 300 210 5 190 198 312

P145




RADIAL PISTON TYPE LOW SPEED
HIGH TORQUE HYDRAULIC MOTOR

B1-MRCN 200, 250, 300, 350, 400 Unit:mm

10h9
[
e}

#13

2386
M12
)
N

/ /)
- o ——
—_ 3 V
4.5
PARALLEL SHAFT (P) FIX HOLE (OPTION)
v‘) P——
\G:j
<2
) OC‘: .
2 ? I o ~
1 Y 1Y S
!
Unit:
B12-MRCN 400 nikmm
)
& 32
DO 3 22
E:: & = 0|
3 f s
A
; 1 7 1
— el = L V
=
SPLINED SHAFT PARALLEL SHAFT (P) FIX HOLE (OPTION)
oy —
0\3‘,
v;
4
i d‘
= | - 0
w o
B 3 3
\\ﬁ L]
' 17
. 171 77.5
278

P146




RADIAL PISTON TYPE LOW SPEED
HIGH TORQUE HYDRAULIC MOTOR

B2-MRCN 400, 450, 500, 600, 700, 800 Unit:mm
< 32
I 60 E = © g 22 .
] S .2 7 =
: : /i I
b—— - 2 A
5
PARALLEL SHAFT (P) FIX HOLE (OPTION)
=X —
& ﬂf?aq.
£ - L J'riﬁﬁ‘, 6
71 = L ] =
& e’ 5 ¢
2 DIy : (RSN 3
g s e e S
e 50| SRS~ R
18
202.5 90
320
B23-MRCN 800 o Unit:mm
= 2 37
70 - © 27
E. o = t
B 4 °
: . J4 T
- ———f- B . 7
PARALLEL SHAFT (P) FIX HOLE (OPTION)
=X —

G, _E@& =
TG e 3 “g’f"ﬁ S
g D & S 2

fan) s :
N 2
192
|

18
201 91
320

P147




RADIAL PISTON TYPE LOW SPEED
HIGH TORQUE HYDRAULIC MOTOR

B3-MRCN 850, 900, 1000, 1100, 1200, 1250

-0.013
g =p.035

14h9

#5416

I~
uwy

75

#256-5.081

104

B4-MRC 1400, 1600, 1800, 2000, 2100

12755

#72£7

37

© 27
b= ~
=
H |

A

=

el

2

75.5

SPLINED SHAFT
62 UNI 221

95

$301.5-9.08

PARALLEL SHAFT (P)

L5

. .E"_,l _ AN Y

iy

Fi
s

#8300

35
25

f////
.

M12

~f|
=
B

Dk,

FIX HOLE (FOR ALL SHAFT)

8327

Unit:mm

Unit:mm

P148




RADIAL PISTON TYPE LOW SPEED
HIGH TORQUE HYDRAULIC MOTOR

B41-MRC 1400, 1600, 1800, 2000, 2100 Sl
[ 12 00z % 35
90 A - o 75
23 z = -
_ 3¢ S 7777
%}' o0 3 4 —
B 0, 1
, 111 B
8722318 — €
SPLINED SHAFT PARALLEL SHAFT (P) FIX HOLE (FOR ALL SHAFT)
72 UNI 221
&
o NS m‘?d’; - ~ h
Q o
| B=M10x20 \ > .
% 1 104 E AL
T 7 [T
@ i o
3 g —+ 3
7 S : @ =
N " ©
83 0> Y
g [ls8z * .
2] —)@
(108) "
2_G1/2 Port G1/4" for pressure reading
11 ounter bors #295
LIS 127 it
498
Unit:mm
z =
o
8o N o 25
E:: S = ~
s o0 =
1 B y e o Sy
P | S ;,: (//
> 6
SPLINED SHAFT PARALLEL SHAFT (P) FIX HOLE (FOR ALL SHAFT)
62 UNI 221
é\? 0
74
& Q| 4 g
i 1
| % =2 ¢
LY 51
@ 163
1
250
. 270 117
425

P149




RADIAL PISTON TYPE LOW SPEED
HIGH TORQUE HYDRAULIC MOTOR

B5-MRC 2400, 2800, 3000, 3100, 3200, 3500 Unit:mm
| 255¢
30 (=]
o
7 :
73
Q ;j - L x
#8228:333
SPLINED SHAFT FIX HOLE (FOR ALL SHAFT)
82 UNI 221
l\. ol
Bewe | | @
A V.Y 126, §
g1 ImNE== 2
o £ ®
g
100
= 79.4 ~
Y e
26.5
373 154
582 112
Unit:
B51-MRC 2400, 2800, 3000, 3100, 3200, 3500 fit-mm
125045
=3 30 Q
© N
=
> /)
4 7 ey T @A -
882-8:1%0 ‘»
SPLINED SHAFT FIX HOLE (FOR ALL SHAFT)
82 UNI 221
.
g 8-M16: ZKYO
ey © Q 126, g
8 o7 Y05 o g
S = 3
1T B
~ 109) 6ht
% 79.4] | -
2-G1/2”
26.5 16
373 154
112
582

P150




HIGH PERFORMANCE
VANE MOTOR

B
=7\
|
Symbol

A
How to order
KVM43%C \ KVM4:xCl-055-1NO00-A102 %

1 2 3 4 5 6 7 8 9 10

1 Series external drain 3 =S: Severe duty type
3 Torque 024=0.39 Nm/bar 027=0.45 Nm/bar 031=0.55 Nm/bar 043=0.74 Nm/bar

055=0.93 Nm/bar 067=1.13Nm/bar 075=1.27 Nm/bar

Rotation N-Bi-directional KVM4CI-KVM4SCI: Drain port is plugged

5 Viewed from shaft end CW: Clockwise rotation A=inlet B=outlet CCW: Counter-clockwise rotation A=outlet B=inlet
7 Design letter
9 Port connections  01=SAE threaded port, SAE drain  02=SAE 4 bolt flange, UNC threaded-SAE drain

04=SAE 4 bolt flange, UNC threaded-BSPP drain  M4=SAE 4 bolt flange, metric threaded-BSPP drain

REAR PORT SIDE PORTS OPPOSITE PORTS
7 omam L DRAIN B
® 0V B B
o ( p.{ b 4 F.d
@y A DRAIND A DRAIN
00 01 02 03 04 A

Porting combination

Specifications

Input flow at Torque T Power output
. S Displacement 2000 rpm at 2000 rpm at 2000 rpm Prgnsasxlire
(cc/rev) (bar)
024 24.4 49.0 67.0 535.4 60.5 17.0 12.7
027 282 56.0 74.0 6195 70.0 19.7 14.7
KvM4C 031 345 69.0 87.0 768.0 86.8 24.0 18.0
2 043 465 93.0 111.0 1062.0 120.0 33.6 25.1 175 4000
KVMA4SC 055 58.8 118.0 136.0 1318.6 149.0 418 31.2
067 711 142.0 160.0 1504.5 170.0 47.7 35.6
075 80.1 160.0 178.0 1752.2 198.0 55.6 415

P151




HIGH PERFORMANCE VANE MOTOR

KVM4>:<C Unit:mm
Port connections
__183.6 THREADED PORT(01)
. = - 714 SAE 16 (1_5/16" UNF-0.75 DEEP) 41.4 455
|_179.6 (Code02. 04~ M&) | 97 (19.0) 2 PLACES o ;
= 1 w0 T f
K 38.11 key 6.35 05 24.5 24.
o=
~ — @
g — | - — -
= o 5
( J % S [@2 I 15x45 1.5%45
/ N Shaft Code 3  Shaft Code 4
o SAE B splined shaft ~ SAE BB splined shaft
MOUNTING TORQUE 75ft.Ibs DRAIN SAE 4 (7/16"-20 UNF
= (102 Nm) 8 L1\ ) Class 1-J498 b 16/32 Class 1-J498 b 16/32
d.p. 13 teeth 30° d.p. 15 teeth 30°
Shaft Code 1 SAE THREADED PORT pressure angle flat  pressure angle flat
(Keyed SAE B) root side fit. 176 o0t side fit.
152 587 71.4 146 )
| fr=—n ‘
[=4 37| keyd.77 07 o e @ a%' ®
|'__ ——00s 38.1 _6 key 635005 o 2 [~
= k - ?§ N[ / 0@ _Ta
g S 1] I
el el h
r al & = g é e é }
3 S v e A %
E[‘ o P | = |%= ® A )
) &8l
Shaft Code 2 = 3/8" -16 UNC 0.75 DEEP -8 HOLES
(Keyed no SAE) REAR PORTS  Shaft Code5  (M!0%20DEEP)
Port connections DRAIN SAE 4 (7/16" -20 UNF) OR 1/4" BSPP
157.2 (Code 02, 04~ M4) (PLUG FOR INTERNAL DRAIN)
- |
06.85 (Code 02+ 04+ M4)
| L
62
Mounting Torque 81 ft.Ibs
y 22 N
/’ "3'
o
2 .
o ® & 3/8"-16 UNC 0.75 DEEP -8
el i HOLES (M10%20 DEEP)
&
B|e
a.
g2
= 13
g %
o
-4
alo Po i : ]
lo0g lom ”m?bopmbm(an sl 0]}6 2(11{16{: EI;‘NF-(I.?S DEEP)
i SIDE PORTS '

Port connections SAE THREADED PORT
161.2 (THREADED PORT (01)

182.9
1384

120.7
120.7
T

\ 7/16-14 UNC x 0.88 DEEP

| (22.3) 8 HOLES
148 i

OPPOSITE PORTS

P152




HIGH PERFORMANCE
VANE MOTOR

Symbol

A

How to order

KVM43%D \ KVM4:% DIl -138-1 N 00 -B 1 02 3%
1 2 3 4 5 6 8 9 0

1 Series external drain 3 =S: Severe duty type

~
—_

Torque 062=1.04 Nm/bar 074=1.22 Nm/bar 088=1.45 Nm/bar 102=1.68 Nm/bar
113=1.86 Nm/bar 128=2.11 Nm/bar 138=2.30 Nm/bar

Rotation N-Bi-directional KVM4DI-KVM4SDI: Drain port is plugged

5 Viewed from shaft end CW: Clockwise rotation A=inlet B=outlet CCW: Counter-clockwise rotation A=outlet B=inlet
7 Design letter
9 Port connections  01=SAE threaded port, SAE drain  02=SAE 4 bolt flange, UNC threaded-SAE drain

04=SAE 4 bolt flange, UNC threaded-BSPP drain  M4=SAE 4 bolt flange, metric threaded-BSPP drain

DRAIN

Porting combination
00-Normal

9P

Specifications

Input flow at Power output
Series  Displacement el s Prgnsasf(l]re b
(cc/rev) (bar) (rpm)
062 65.1 130.0 154.0 1460.0 165.0 46.4 34.6
074 76.8 154.0 178.0 1770.0 200.0 56.2 4.9
KVM4D 088 91.1 182.0 206.0 2088.5 236.0 66.2 494
1 102 105.5 211.0 241.0 2336.3 264.0 74.1 55.3 175 4000
KVM4SD 113 1167 233.0 257.0 2655.0 300.0 84.2 62.8
128 132.4 265.0 289.0 3009.0 340.0 955 712
138 144.4 289.0 313.0 3292.0 372.0 104.5 77.9

P153




HIGH PERFORMANCE VANE MOTOR

KVM4 %D

Port connections

203.5 THREADED PORT(01)

198.4

Port connections
(Code 02 , 04 . M4)

Key 7.94 *0

’-n\__'l

17

48.4

?T?

=
jLi ]

1.5x45° Shaft Code 3
3ftl

@31.75 -0.05

35.28 Max

Shaft Code 1
(Keyed SAE B)

55.6

127 .p0s

SAE C splined shaft
Class 1-J498 b
12/24 d.p. 14 teeth
30° pressure angle
flat root side fit.

o]
b
Y

-0.05

+)

©34.874

28.4

Shaft Code S
I1SO 500-3 splined
shaft 16/32 d.p.
21 teeth 30°
pressure angle
flat root side fit.

Unit:mm

2123
181
90.5
]14,5|
™
15}
) @& 2
-
[~
e
4 (@ & :|““
— N\ (&3]

155.45 DRAIN SAE 8(3/4-16UNF)

85.85

(MI12 x 22.1 DEEP)

DRAIN SAE 8(3/4-16UNF) x 0.56 DEEP
(14.2)

SAE 20(1 5/8-12UNF) x 0.75 DEE

(19) 2 HOLES

SAE THREADED PORT

P154




HIGH PRESSURE
GEAR MOTOR

== Symbol

LY

g o

w to order

M-2-U- 3%
2 3 4 5
Model  Covers: Castiron  Body: Aluminum

O
M
;

Mounting type  M: Flange type 2-bolt
Shafttype 1: Parallel shaft  2: Splined shaft

Port size

a ' & ON =

Displacement cc/rev

Specifications

Model Displacement Pr((egg::l)re Speed At 100 bar, 1000 rpm [:L"Sﬁ"(ﬁm)s Port Weight
(ce/rev) Continuous (rpm) A L Size (ka)
05 5.0 0.70 67 | 1.687 (42.86) | 3.493 (88.71) 417
07 7.0 0.98 94  |1.746 (44.36)| 3611 (91.71) 425
08 8.4 1.18 113 |1.796 (45.61) | 3.709 (94.21) 431
09 95 133 127 | 1.825(46.36) 3.768 (95.71) 4.38
11 113 sso w00 | soodonn | 162 1884 (4786) 3886(9871) UNF12 | 455
14 14.0 197 188 | 1963 (49.86) 4044 (102.71) | 1-1/16=12| 472
16 16.0 2.25 215 2022 (51.36) 4.162 (105.71) 4.81
18 18.0 253 241 |2.081(52.86) | 4.280 (108.71) 4.95
20 195 274 262 |2.160 (54.86) 4.437 (112.71) 5.03
22 215 3.02 288  |2.180 (55.36) | 4.477 (113.71) 5.12
24 235 3.30 315  |2.258 (57.36) 4.634 (117.71) 5.20
26 25.0 351 390 | 2317 (58.86) | 4.752 (120.71) 5.26
28 28.0 180 210 | 6002500 |  3.93 376 2396 (60.86) 4910 (12471) P10 | 532
30 30.0 422 403 |2.475 (62.86) | 5.067 (128.71) 5.39
33 33.0 463 443 |2.554 (64.86) 5.225 (132.71) 5.45

Dimensions

5.118 (130) L 252[31.8) . 4.189[106.4] Unit: inch (mm)

3.189 (81) A 0.236 N £3.250-338) )
[6] [282.55-8%3]

0.157-38%9
[4:883

_/
0.433[11]

+

| N

(0] 20.625:0997
; [015.87520.04

I

1

IT
0691938
[17.563%

3|
=)
«©
0
<
<+

—
)
0

ot
=]
2
(=1

UNF 9/16"-18

P155




POWER PACK

Manifold functions

MR&MK Type

RELIEF VALVE
: : T PORT
(G 3/8")

CHECK
VALVE (_'

“ ! il RELIEF vALVE
,;//” ::} T PORT
"N" T T PORT
ype CHECK p poRT (G 3/8%)
< - . VALVE (G 3/8") n “
o ”I--//uV/// [] P PORT
) (G 3/87)

fl RELIEF VALVE

///f/ ///r"/"I f] T PORT

///‘/V/////"’I (G 3/8%)

IIAII Type

RELIEF VALV

T PORT
{( 87)

| R ADAPTOR
% é .’w?oi ATKIT
3

P
@ RELIEF
VALVE
T PORT
(G 3/8")

P156




POWER PACK

IINII Type

IISII Type

"A" Type+Cetop 03

P157

G3/8 G 3/8"
P T
cl
G 14"
G 3/8"
= Gl
G 1/4"
Gl
i w
G /4" G 1/4"
D W 62
G 3/8
a -
G 1/4"
G gxa .
T -
G 14 Sl -
6l
c2
G 1/4" G 1/4"
D V 62
T
.Aae@.
8
® ? °
Niessel
ANNTRRRY
G 1/4 AT
Gl =2 }
S rFFI }
7z G 1/4
Gl
2

G174




POWER PACK
DC MOTORS

How to order

T-CN24-H-1
1 2 3

o

- D 3% 3% 3%

o |D
)
>
>
pd

|
|
.
@]
©
-
S)

2 550W Low-speed motor L 3000W Compound wound motor (DC24V)
3 800W Compound wound motor 2500W Compound wound motor (DC12V)
5 550W Permanent magnet motor E Earth return (motor with 1 terminal)
8 800W Permanent magnet motor N Insulate return (motor with 2 terminals)
2000W Compound wound motor (DC24V) 1|2 |DC12V Motor
c 1500W Compound wound motor (DC12V) 2|4 |DC24V Motor
2000W Series wound motor (DC24V) N |N|N|N|Without motor
S 1500W Series wound motor (DC12V) X|X|X|X|Special
plp 2200W Compound wound motor (DC24V)
1600W Compound wound motor (DC12V)

H: Horizontally mounted  V: Vertically mounted  X: Special mounting
HN: Horizontally mounted without tank  VN: Vertically mounted without tank

2140 mm Dia 2180 mm Dia
10/1.0 Liters 30 |3.0 Liters XX: Special
16 |1.6 Liters 40 (4.0 Liters NN: None
20 (2.0 Liters 50 |5.0 Liters (working volume)
24 |2.4 Liters 60 |6.0 Liters
28 (2.8 Liters 80 (8.0 Liters
42 |4.2 Liters

S: Solenoid operated (normally closed) MR: Manual operated
T: Solenoid operated (normally open) Mﬁi l\'\/llanual operated (without switch)
U: Solenoid operated (normally closed with manual) aone

X: Special operated
V: Solenoid operated (normally open with manual) A: Adaptor for other manifold

05:0.5cc/rev 07:0.7cc/rev. 10:1.0cc/rev. 15:1.5cc/rev. 19: 1.9 cc/rev  23: 2.3 cc/rev
27:2.7cc/rev. 30:3.0cc/rev  35:3.5cc/rev 40:4.0cc/rev 51:5.1 cc/rev 62:6.2 cc/rev  73: 7.3 cc/rev

None: Without hand pump  P: With hand pump (7.4 cc/stroke)  X: Special hand pump assembly

A: Same side as check valve  B: Same side as relief valve ~ C: The side opposite A D: The side opposite B N: None

A: Same side as check valve  B: Same side as relief valve ~ C: The side opposite A D: The side opposite B N: None

N:None 2:2lpm 4:4lpm 6:6lpm 8:8Ilpm 10:10Ipm (Rated flows)

Manifold function A-Z
Standard manifold

Standard manifold

With low noise relief valve

P158




POWER PACK
AC MOTORS

How to order

MF-[]-01-H-10-S-10-3-A
1 2 3 4 5 6 7

o
p4

D 5% 3% 3%¢
12

©[>
s>

[ee]
-
—

Motor dimension Motor dimension
2110 MSN | Motor without fan Only 1/4HP @125 MSM | Motor without fan From 1/2HP to 1HP
MFS | Motor with fan MF Motor with fan
2140 From 1/2HP to 1HP 160 From 1HP to 3HP
MSS | Motor without fan MS Motor without fan
XX: Special

Standard voltages and hertz (refer to below)

A-ZZ Special voltages and hertz on request

Motor |Power Phase Voltages Hertz Rpm Motor |Power Phase Voltages Hertz Rpm

o1 1HP 4P 3 220/380 50/60 |1420/1720 10 3HP 2P 3 220/380 50/60 |2850/3450
02 1HP 2P 3 220/380 50/60 |2850/3450 11 1/2HP 4P 1 110/220 50/60 |1420/1720
03 1HP 4P 1 110/220 50/60 |1420/1720 12 1/2HP 2P 1 110/220 50/60 |2850/3450
04 1HP 2P 1 110/220 50/60 |2850/3450 13 3/4HP 4P 1 110/220 50/60 |1420/1720
05 2HP 4P 3 220/380 50/60 |1420/1720 14

06 2HP 2P 3 220/380 50/60 |2850/3450 15 1/2HP 4P 3 220/380 50/60 |1420/1720
07 2HP 4P 1 110/220 50/60 |1420/1720 16 1/2HP 6P 3 220/380 50/60 | 940/1140
08 2HP 2P 1 110/220 50/60 |2850/3450 17 1/4HP 4P 1 110/220 50/60 |1420/1720
09 3HP 4P 3 220/380 50/60 |1420/1720 18 1/4HP 4P 3 220/380 50/60 |1420/1720

H: Horizontally mounted  V: Vertically mounted  X: Special mounting
HN: Horizontally mounted without tank ~ VN: Vertically mounted without tank

2140 mm Dia 2180 mm Dia
101.0 Liters 24 2.4 Liters 30 3.0 Liters 60 [6.0 Liters XX: Special
16 |1.6 Liters 28|2.8 Liters 40|4.0 Liters 80 |8.0 Liters NN: None
20|2.0 Liters 42 (4.2 Liters 50 (5.0 Liters (working volume)

S: Solenoid operated (normally closed)  T: Solenoid operated (normally open)
U: Solenoid operated (normally closed with manual)  V: Solenoid operated (normally open with manual)
MR: Manual operated  MK: Manual operated (without switch) N: None X: Special operated  A: Adaptor for other manifold

05:0.5cc/rev. 07:0.7cc/rev 10:1.0cc/rev  15:1.5cc/rev 19:1.9cc/rev  23: 2.3 cc/rev
27:2.7cc/rev  30:3.0cc/rev 35:3.5cc/rev 40:4.0cc/rev. 51:5.1cc/rev. 62: 6.2 cc/rev  73: 7.3 cc/rev

None: Without hand pump  P: With hand pump (7.4 cc/stroke)  X: Special hand pump assembly

N:None 2:2Ilpm 4:4lpm 6:6Ilpm 8:8Ipm 10:10Ilpm (rated flows)

Manifold function A-Z

Standard manifold

Standard manifold

With low noise relief valve

P159




ELECTRIC MOTOR-HOLLOW
SHAFT TYPE

Model  Motor for hydraulic pumps

Mounting type  H: Horizontal type  V: Vertical type

Material of frame ~ S: Cast iron (normal) F: Steel  A: Aluminum

Mounting Flang  01: Hollow shaft type (normal)  02: Motor-pump with adaptor type  03: In oil type
Wiring box position (viewed from fan cover)  R: Right side (normal) L: Left side U: Upside

Horse power

No. of phase 1: Single phase 3: 3 phase

No. of pole 2:2pole 4:4 pole (normal) 6: 6 pole

Voltage / Hertz

Model number of pump

Dimensions

HHSO01 for pump [ —
VP-F8~20

Tolerance
w ID: +0.01~0.03
S: H7

W: +0.03~0.05

I v T. +0.05~0.1
&
K

Power . . n
Output Frame No. of Pump Mounting Dimensions Weight
(HP) " No. Phase A (L))
Lz
1/2|1/4| 80S 3 62.5| 37 | 156 | 174 | 138 | 50 | 122 | 61 80 | 175 | - 22 | 244 | 10 | 106 | M10x1.5 |82.55|12.7| 14.3 | 3.175| 125
1/2| 80M 3 625| 37 | 156 | 174 | 138 | 50 | 133 | 67 | 80 | 175 | - 22 | 253 | 10 | 106 | M10x1.5|82.55|12.7| 14.3 | 3.175 16
2 |1 90L 3 70 | 42 | 179 | 198 | 149 | 625|158 | 57 | 90 | 197 | - | 22 | 282 | 10 | 106 | M10x1.5 |82.55 12.7| 14.3 |3.175| 23
3 | 2 | 1ooL 3 80 | 45 | 196 | 225 | 162 | 70 | 175 | 65 | 100 | 210 | 245 | 22 | 300 | 12 | 106 | M10x1.5 |82.55 12.7| 14.3 |3.175| 32
5 3 | 112m 3 95 | 47 | 228 | 234 | 167 | 70 | 178 | 84 | 112 | 232 | 266 | 22 | 333 | 12 | 106 | M10x1.5|82.55|12.7| 14.3 |3.175| 40
12| - 80M 1 625| 37 | 156 | 174 | 143 | 50 | 133 | 67 | 80 | 175 | - 28 | 272 | 10 | 106 | M10x1.5 | 82.55(12.7| 14.3 | 3.175 16
1 - 90L 1 70 | 42 | 179 | 198 | 155 |62.5| 158 | 65 | 90 | 197 | - 28 | 297 | 10 | 106 | M10x1.5|82.55|12.7| 14.3 | 3.175 25
2 - 90L 1 70 | 42 | 179 | 198 | 155 |62.5| 158 | 65 | 90 | 197 | - 28 | 297 | 10 | 106 | M10x1.5|82.55|12.7| 14.3 | 3.175 28
3 - | 112M 1 95 | 47 | 228 | 234 | 177 | 70 | 178 | 84 | 112 | 235 | 266 | 28 | 343 | 12 | 106 | M10x1.5 |82.55|12.7| 14.3 | 3.175 45

P160




ELECTRIC MOTOR-HOLLOW SHAFT TYPE

Dimensions

HHSO01 for pump i i
VP-F23~40
VP5-F20~40, o Q(‘ Tolerance
T ; D: +0.01~0.03
50T(219.05) | | 1 * 1{ o ;7
i T: +0.05~0.1
z . W: +0.03~0.05
et

Power

Output Frame No. of

(HP) No. Phase e

LZ

1 |1/2| 8oM 3 625 37 | 156 | 174 | 138 | 50 | 133 | 73 | 80 | 175 | - | 22 | 260 | 10 | 90 | M10x1.5 |95.02 |19.05| 21.7 | 4.8 16
2 1 9oL 3 70 | 42 | 179 | 198 | 149 (625|158 | 57 | 90 | 197 | - 22 | 270 | 10 | 90 | M10x1.5|95.02|19.05| 21.7 | 4.8 23
3 2 100L 3 80 | 45 | 196 | 225 | 162 | 70 | 175 | 65 | 100 | 210 | 245 | 22 | 300 | 12 | 90 | M10x1.5|95.02|19.05| 21.7 | 4.8 32
5 3 112M 3 95 | 47 | 228 | 234 | 167 | 70 | 178 | 82 | 112 | 232 | 266 | 22 | 331 | 12 | 90 | M10x1.5 |95.02 |19.05| 21.7 | 4.8 40
712] 5 1328 3 108 | 47 | 255 | 266 | 185 | 70 | 176 | 81 | 132 | 270 | 304 | 28 | 352 | 12 | 90 | M10x1.5|95.02|19.05| 21.7 | 4.8 52
10 [71/2] 132M 3 108 | 57 | 255 | 266 | 185 | 89 | 214 | 75 | 132 | 270 | 312 | 28 | 386 | 12 | 90 | M10x1.5|95.02|19.05| 21.7 | 4.8 75
1 - 90L 1 70 | 42 | 179 | 198 | 155 625|158 | 65 | 90 | 197 | - 28 | 300 | 10 | 90 | M10x1.5|95.02|19.05| 21.7 | 4.8 25
2 - 90L 1 70 | 42 | 179 | 198 | 155 625|158 | 65 | 90 | 197 | - 28 | 300 | 10 | 90 | M10x1.5|95.02|19.05| 21.7 | 4.8 28
3 | - | 112m 1 95 | 47 | 228 | 234 | 177 | 70 | 178 | 82 | 112 | 235 | 266 | 28 | 341 | 12 | 90 | M10x1.5|95.0219.05| 21.7 | 4.8 45
5 - 112M 1 95 | 47 | 228 | 234 | 177 | 70 | 178 | 97 | 112 | 235 | 266 | 28 | 371 | 12 | 90 | M10x1.5 [95.02 (19.05| 21.7 | 4.8 50

Dimensions
HHSO01 for pump

DVP-F12+12~F20+20,

HGP-3A Tolerance
ID: +0.01~0.03
S: H7
T: 4+0.05~0.1
W: +0.03~0.05

Frame No. of

A

No. Phase
Lz w
1/21/4| 80S 3 625| 37 | 156 | 174 | 138 | 50 | 122 | 61 | 80 | 175 | - | 22 | 244 | 10 | 106 | M10x1.5 |82.55|15.88| 17.6 | 4 12,5
1 |[1/2| 80M 3 625 | 37 | 156 | 174 | 138 | 50 | 133 | 67 | 80 | 175 | - 22 | 253 | 10 | 106 | M10x1.5 |82.55(15.88| 17.6 | 4 16
2 |1 90L 3 70 | 42 | 179 | 198 | 149 |62.5| 158 | 57 | 90 | 197 | - | 22 | 282 | 10 | 106 | M10x1.5|82.55|15.88| 17.6 | 4 23
3 | 2 | 100L 3 80 | 45 196 | 225 | 162 | 70 | 175 | 65 | 100 | 210 | 245 | 22 | 300 | 12 | 106 | M10x1.5 |82.55|15.88| 17.6 | 4 32
53| 112m 3 95 | 47 | 228 | 234 | 167 | 70 | 178 | 84 | 112 | 232 | 266 | 22 | 333 | 12 | 106 | M10x1.5 |82.55|15.88| 17.6 | 4 40
71| 5 | 132S 3 108 | 47 | 255 | 266 | 185 | 70 | 176 | 81 | 132 | 270 | 304 | 28 | 352 | 12 | 106 | M10x1.5 |82.55|15.88| 17.6 | 4 52
10 |71/2] 132M 3 108 | 57 | 255|266 | 185 | 89 | 214 | 75 | 132 | 270 | 312 | 28 | 386 | 12 | 106 | M10x1.5 |82.55|15.88| 17.6 | 4 75
12| - | 80M 1 625| 37 | 156 | 174 | 143 | 50 | 133 | 67 | 80 |175| - | 28 | 272 | 10 | 106 | M10x1.5 |82.55(15.88| 17.6 | 4 16
1| - 90L 1 70 | 42 | 179 | 198 | 155 |62.5| 158 | 65 | 90 | 197 | - | 28 | 297 | 10 | 106 | M10x1.5 |82.55|15.88| 17.6 | 4 25
2 | - 90L 1 70 | 42 | 179 | 198 | 155 | 625|158 | 65 | 90 | 197 | - | 28 | 297 | 10 | 106 | M10x1.5 |82.55|15.88| 17.6 | 4 28
3| - | 112m 1 95 | 47 | 228 | 234 | 177 | 70 | 178 | 84 | 112 | 235 | 266 | 28 | 343 | 12 | 106 | M10x1.5 |82.55|15.88| 17.6 | 4 45
5| - | 112m 1 95 | 47 | 228 | 234 | 177 | 70 | 178 | 99 | 112 | 235 | 266 | 28 | 373 | 12 | 106 | M10x1.5 |82.55|15.88| 17.6 | 4 50

P161




ELECTRIC MOTOR-HOLLOW SHAFT TYPE

Dimensions

R e
HHSO01 for pump .
A16~22, PVS8~22,
V15~18, HVP-FAI, - _ Tolerance
vQi5, PV2R1 % - 5 D: +0.01~0.03
Bl [/ o
I g;/ v, T. +0.05~0.1
. W: +0.03~0.05
\ H | ! L
2-/ a c AR AR

.' D 5 0. O M D O g D O 2

» . = . A AYA A A AL = BB ) =
4P| 6P LA LZ ID|S | T | W
1 1/2 80M 3 625| 37 | 156 | 174 | 138 | 50 | 133 | 67 80 | 175 - 22 | 257 | 10 | 106 | M10x1.5(82.55[19.05| 21.7 | 4.8 16
2 1 90L 3 70 42 | 179 | 198 | 149 | 62.5| 158 | 62 90 | 197 - 22 | 275 | 10 | 106 | M10x1.5 |82.55|19.05| 21.7 | 4.8 23
3 2 100L 3 80 45 | 196 | 225 | 162 | 70 | 175 | 65 | 100 | 210 | 245 | 22 | 300 | 12 | 106 | M10x1.5 |82.55[19.05| 21.7 | 4.8 32
5] 8] 112M 3] 95 47 | 228 | 234 | 167 | 70 | 178 | 84 | 112 | 232 | 266 | 22 | 333 | 12 | 106 | M10x1.5 |82.55[19.05| 21.7 | 4.8 40
71/2| 5 1328 3 108 | 47 | 255 | 266 | 185 | 70 | 176 | 81 132 | 270 | 304 | 28 | 352 | 12 | 106 | M10x1.5|82.55[19.05| 21.7 | 4.8 52
10 |71/2] 132M 3 108 | 57 | 255 | 266 | 185 | 89 | 214 | 75 | 132 | 270 | 312 | 28 | 386 | 12 | 106 | M10x1.5 |82.55(19.05| 21.7 | 4.8 75
1 - 9oL 1 70 42 | 179 | 198 | 155 | 625 | 158 | 70 90 | 197 - 28 | 306 | 10 | 106 | M10x1.5(82.55[19.05| 21.7 | 4.8 25
2 - Q0L 1 70 42 | 179 | 198 | 155 | 625 | 158 | 70 90 | 197 - 28 | 306 | 10 | 106 | M10x1.5|82.55[19.05| 21.7 | 4.8 28
3 - 112M 1 95 47 | 228 | 234 | 177 | 70 | 178 | 84 | 112 | 232 | 266 | 28 | 343 | 12 | 106 | M10x1.5|82.55[19.05| 21.7 | 4.8 45
5 - 112M 1 95 47 | 228 | 234 | 177 | 70 | 178 | 99 | 112 | 235 | 266 | 28 | 373 | 12 | 106 | M10x1.5 |82.55(19.05| 21.7 | 4.8 50

Dimensions

S
HHSO01 for pump ]
V23~42, A36~37,
PVS35~45, (| [ Tolerance
VQ25, KT6C ; w ID: +0.01~0.03
aa=I1F i
I y T: +0.05~0.1
/ B % W: +0.03~0.05
K
Power . . .
Output Frame No. of Pump Mounting Dimensions Weight
(HP) " No. Phase A (kg)
Lz

3|2 | 1128 | 3 |95 47 | 228|234 |167 | 70 | 171 | 60 | 112|235 | 270 | 22 | 290 | 12 | 146 M12x1.75/101.6 |22.23|25.08/ 635 | 32
53 |112M | 3 | 95 | 47 | 228|234 | 167 | 70 | 178 | 82 | 112|232 | 266 | 22 | 331 | 12 | 146 |M12x1.75101.6|22.23|25.08| 6.35 | 40
712| 5 | 1325 | 3 108 | 47 | 255 266|185 70 | 176 | 85 | 132|270 304 | 28 | 357 | 12 | 146 |M12x1.75101.6|22.23|25.08/6.35 | 52
10 [71/2) 132M | 3 | 108 | 57 | 255|266 | 185 | 89 | 214 | 82 | 132 | 270 | 312 | 28 | 390 | 12 | 146 |M12x1.75|101.6 |22.2325.08/ 6.35| 75
3| - | 12M | 1 | 95| 47 |228 234|177 | 70 | 178 | 82 | 112|235 | 266 | 28 | 341 | 12 | 146 |M12x1.75/101.6|22.23|25.08 6.35 | 45
5| - | 112M | 1 | 95 | 47 | 228 | 234|177 | 70 | 178 | 97 | 112|235 | 266 | 28 | 371 | 12 | 146 M12x1.75/101.6|22.23|25.08/ 6.35 | 50

P162




ELECTRIC MOTOR-HOLLOW SHAFT TYPE

Dimensions

HHSO01 for pump . ___.rr,__""'"“‘j_l
NOP, TOP ¥

= [+ ZRN\

e WMz ;44

/—m—’l
" I e 4
] e T, e e [

Tolerance
ID: +0.01~0.03
S: H7

T: +0.05~0.1
W: +0.03~0.05

Power
Output Frame No. of
(HP)

Pump Mounting Dimensions

Weight

No. Phase A AA AB AC AD B BB C H HD HE K L 2 ko)
LAl Lz 1D s T |w
12| 1/4 68 |M8x1.25| 47 | 14 | 16 | 4 | 125
112 68 |Mex125| 47 | 14 | 16 | 4 | 16
2 1 68 |Mexi25| 47 | 14 | 16 | 4 | 23
12| - 68 |Mex125| 47 | 14 | 16 | 4 | 16
1] - 68 |Mex125| 47 | 14 | 16 | 4 | 25
2 | - 68 |Mexi25| 47 | 14 | 16 | 4 | 28
HHSO01 for pump
50T >
@ \ Tolerance
. ID: +0.01~0.03
| 2| S: H7
-+ i T. +0.05~0.1
| W: +0.03~0.05

3./

Power

Output Frame No. of

No.

2 |1 90L
3 | 2 | 100S
51| 3 | 112mM
71/2| 5 | 1328
10 |71/2] 132M
2 | - 90L
3 | - | 112m
5 | - | 112M

Phase

- = S W W W W W

A

70
80
95
108
108
70
95
95

42
45
47
47
57
42
47
47

179
196
228
255
255
179
228
228

198
225
234
266
266
198
234
234

149
162
167
185
185
155
177
177

62.5
70
70
70
89

62.5
70
70

158
175
178
176
214
158
178
178

56
65
85
81
75
56
85
100

90
100
112
132
132
90
112
112

197
210
232
270
270
197
235
235

245
266
304
312

266
266

22
22
22
28
28
28
28
28

270
300
344
352
386
300
344
374

10
12
12
12
12
10
12
12

Lz w
90 | M10x1.5| 96 22 | 24 5 23
90 | M10x1.5| 96 22 | 24 5 32
90 | M10x1.5| 96 22 | 24 5 40
90 | M10x1.5| 96 22 | 24 5 52
90 | M10x1.5| 96 22 | 24 5 75
90 | M10x1.5| 96 22 | 24 5 28
90 | M10x1.5| 96 22 | 24 5 45
90 | M10x1.5| 96 22 | 24 5 50

P163




ELECTRIC MOTOR-HOLLOW SHAFT TYPE

Dimensions
HHSO01 for pump

L
HGP-1A (4BE)
| Tolerance
ID: +0.01~0.03
(_ e S: H7
% T: +0.05~0.1
) W: +0.03~0.05
B
R [&E__
S " S S
A om0 ]
e
O D H D O g D O
_ a A 0. O A AA AB A AD B BB » :
4P| 6P LA| LZ D | S | T W
1/2|1/4| 80S 3 |625| 37 | 156|174 | 138 | 50 | 122 | 56 | 80 | 175 | - | 22 [ 239 | 10 | 64 | M6x1.0 | 30 | 12 |13.7| 4 | 125
1 | 1/2| 8om 3 |625| 37 | 156 | 174 | 138 | 50 | 133 | 62 | 80 |175| - | 22 | 248 | 10 | 64 | M6x1.0 | 30 | 12 |13.7| 4 16
2 | 1| 9oL 3 70 | 42 | 179 | 198 | 149 (625|158 | 55 | 90 | 197 | - | 22 | 268 | 10 | 64 | M6x1.0 | 30 | 12 |13.7 4 23
3| 2| 1128 3 | 95| 47 | 228 | 234 | 167 | 70 | 171 | 57 | 112 | 235 | 270 | 22 | 287 | 12 | 64 | M6x1.0 | 30 | 12 | 137 4 32
12| - | 80M 1 |625| 37 | 156 | 174 | 143 | 50 | 133 | 62 | 80 |175| — | 28 |270| 10 | 64 | Méx1.0 | 30 | 12 |137| 4 16
1| - | ooL 1 70 | 42 | 179 | 198 | 155 | 625|158 | 63 | 90 | 197 | - | 28 | 297 | 10 | 64 | M6x1.0 | 30 | 12 |137| 4 25
2 | - | 9oL 1 70 | 42 | 179 | 198 | 155 | 625 158 | 63 | 90 | 197 | — | 28 | 297 | 10 | 64 | Méx1.0 | 30 | 12 |137| 4 28
3| - | 112m 1 95 | 47 | 228 | 234 | 177 | 70 | 178 | 82 | 112 | 235 | 266 | 28 | 347 | 12 | 64 | M6x1.0 | 30 | 12 | 137 4 45
ANt
HHSO01 for pump 5
L
HGP-2A, PA
(] ! Tolerance
7/ LN ID: +0.01~0.03
= Ch = }E i:%05~01
p— A o '
E=a } ﬁ-’ W: +0.03~0.05
L —
2 I I
e
Outp o No. o P p Mo g D 0
L = A AA AB A AD B BB D -
0 Pha .
4P| 6P LA| LZ D | S | T W
1/2|1/4| 80S 3 |625| 37 | 156 | 174 | 138 | 50 | 122 | 58 | 80 |175| - | 22 | 241 | 10 |63.5|M8x1.25 |50.77| 125 | 14 | 4 | 125
1 | 1/2| 8oMm 3 |625| 37 | 156 | 174 | 138 | 50 | 133 | 64 | 80 | 175 | - | 22 | 250 | 10 |63.5| M8x1.25|50.77| 125 | 14 | 4 16
2 | 1| 9oL 3 70 | 42 | 179 | 198 | 149 (625|158 | 57 | 90 | 197 | - | 22 | 270 | 10 |63.5| M8x1.25|50.77| 125 | 14 | 4 23
3| 2| 1o0L 3 80 | 45 | 196 | 225|162 | 70 | 175 | 65 | 100 | 210 | 245 | 22 | 300 | 12 |63.5| M8x1.25 |50.77| 125 | 14 | 4 32
5| 3| 112M | 3 95 | 47 | 228 | 234 | 167 | 70 | 178 | 84 | 112 | 235 | 266 | 22 | 333 | 12 |63.5 M8x1.25|50.77| 125 | 14 | 4 40
12| - | 8soM 1 |625| 37 | 156 | 174 | 143 | 50 | 133 | 64 | 80 | 175 | — | 28 | 272 | 10 |63.5 M8x1.25(50.77| 125 | 14 | 4 16
1] - | 9oL 1 70 | 42 | 179 | 198 | 155 | 625 158 | 65 | 90 | 197 | — | 28 | 295 | 10 |63.5 M8x1.25|50.77| 125 | 14 | 4 25
2 | - | 9oL 1 70 | 42 | 179 | 198 | 155 (625|158 | 65 | 90 | 197 | - | 28 | 295 | 10 |63.5| M8x1.25|50.77| 125 | 14 | 4 28
3| - | 112M 1 95 | 47 | 228 | 234|177 | 70 | 178 | 84 | 112 | 235 | 266 | 28 | 343 | 12 |63.5| M8x1.25 |50.77| 12.5 | 14 | 4 45
5 | - | 112M 1 95 | 47 | 228 | 234 | 177 | 70 | 178 | 99 | 112 | 235 | 266 | 28 | 373 | 12 |63.5| M8x1.25 |50.77| 125 | 14 | 4 50

P164




ONE WAY ROTATION OIL PUMP,
ELECTRO-MAGNETIC COOLANT PUMP

One way rotation pump

FEATURES:

1. The model 1A oil pumps are the most suitable not only for
various machine tools and industry machines, but also for
various automative and agricultural machinary engines which
are needed by the unit of hundreds or thousands. The special
type of the pump for fixtrue is also supplied by your requirement.

2. Relief valve is assembled on the top part of the pump. If you
need the valve, please marke your order by indicating with relief
valve, it is marked at the end of pump marking by symbol VB.

The standard pressure setting is 3 kg/cm®.

Specifications

Delivery (Ipm) Max. Pressure Max. Runing Port Size Weight

ROTATION

AT 1000 rpm (bar) speed (rpm) (pt) (kg) 3-70 A
ROP-10A 0.8 5 3000 1/8" 0.55
ROP-11A 15 5 3000 1/8" 0.55
ROP-12A 25 5 2000 1/4" 0.62
ROP-13A 45 5 2000 3/8" 0.82

Dimensions

1

&

-]

Port size =

D (pt)

ROP-10A 57 5 1.5 8 11 1/8
ROP-11A 57 9 11.5 8 11 1/8
ROP-12A 64 15 1.5 8 11 1/4
ROP-13A 79 27 14.5 5 14 3/8

Electro-magnetic coolant pump

FEATURES: WL-1

Patented design: No motor needed unique electro-magnetic power WE-1
system coolant is pumped using vibratory action cost 50% less than

conventional pumps takes up very little space easily portable.

Designed for small lathes, grinder, milling and drill.

Pressure: Closed tip under 1 bar. The flow rate of the oil or lubricant
used is directly proportional to its viscosity.

Specifications

Flow (Ipm) Dimension

Power Voltage Absorbent
M 1
odel “w) vy M

Turbine oil| Engine oil A B
#140 #90

84
WE-2 2 AC 110 2 10 1.10 T B —i
or rang

WL-1 13 AG 220 53 0.32 Fitting method
WL-2 98 0.42 Clip point

Y ] Aluminum

lc: pipe
* LATHE * DRILL * NC WORKING * MILLING * GRINDER ]r

Cutting Oil * TURBINE MACHINE Cutting Oil Slit face lubricant i
supply Cutting Oil Slit face lubricant supply supply g rter
supply supply =

P165




MANUAL OPERATED LUBRICATOR

How to order

LT-6- 3%

1 2 3
1 Model
2 Displacement cc/stroke  8A, 8B (see installation size)  6W, 8W (with pressure-relief)
3 Port size
LT-4 LT-6 LT-8A, 8B LT-6W LT-8WA, 8WB

;\\K X\?*] . -

1. The piston valve is open for oil inflow and store it.
2. The stored oil is being distributed to each outlet port through the check valve.
3. The unused oil is returning to the relief port after the oil released by piston valve and the check valve is closed.

Specifications

Displacement Capacity Max. Pressure Installation Size

(cc/stroke) (cc) (bar) (A x B) Port Size
LT-4 4 230 15 75 4 0or 6 mm 0.7
LT-6 6 350 15 85 x 85 1/8 PT 1.2
LT-8A 8 600 15 98 x 107 1/8 PT 16
LT-8B 8 650 15 100x 110 1/8 PT 1.6
LT-6W 6 350 30 85x 85 1/8 PT 12
LT-8WA 8 600 30 98 x 107 1/8 PT 1.6
LT-8WB 8 650 30 100x 110 1/8 PT 16

P166




MOTOR-TYPE ENGINE
OIL/GREASE OILER

1 Motor AC 110V/220V  50/60HZ  Single phase MSK-601: AC110V  MSK-602: AC220V
Overload fuse  3A

Application  For various machine lubrication

Operation of time controler (YTCB)  INT: For seting motor interval, OFF-TIME set is available for 1-99 minutes.
DIS: For seting pump working, OFF-TIME set is available for 1-99 seconds.
FEED: For manual oiling control (stop upon release)
RST: For manual oiling according to seconds set by "DIS" key.

4 Cautions & maintenance service

>

1. The power to be supplied must be same as specified Always fill oil tank through oil hole to avoid vacuum tank.

on machine. - . .
Prevent control circuit from contacting oil, water or any other

5.
2. During installation, follow the instructions for wiring to objects for good condition.

revent controler from damge.
P 9 6.  Always add oil according to instructions to prevent overflow.

3.  Earthing is necessary for safe reason. . .
9 Y Prevent machine from impact.

5 Machine functions

1. Pressure output is fulfilled by an adjustable constructure, applicable for every kind of
machine and available for relative prepressure supply/adjustment.

2. Immediate button is able to provide machine with reguired oil volume at beginning so
as to smoothly start the machine and reduce unnecessary abrasion.

3.  Time-control device is provided to carry out double-step adjustment between oil
supply and intermission.

YTCB M SK_ >:<.
POWER
—1—
FUSE (] ; ' :
MIN SEC | I
© 000 ] I
| i
1 1
A i
U 1]
i |
1 | DISTRIBUTING
H I VALVE
CONTROLLED BY YTCB CONTROLLED BY PLC . ! (SD TYPE)
re N s
YTCB power outputl e . e = ®
1 AC 4 R | i 00000,
power input @ ':C GRAY 1 T e
— \ T + \
CAPACITY
3X Tl 3 BLACK CAPACITY BLACK
L% BLUE
5/

P167




MOTOR-TYPE ENGINE OIL/GREASE OILER

Specifications

Without Time Control
Flow Voltage Power Oil Tank Max. Output Qil Viscosity Weight

(cc/min) (50/60HZ) Capacity Pressure (cst) (kg)

MSK-601 110V 00 #

60 40W 1.5L 100 bar 6.5
MSK-602 220V 0#

With Time Control

Flow Voltage Oil Tank Intermitent . . Max. Output Oil Viscosity Weight
Model  (cc/min) (50/60 HZ) POWe' Capacity off Time HuMnMingTime g csqyre =) (kg)
MSK-601C 110V 1~99 sec.
. (YTCB control) 00 #
MSK-602C 60 200V 40W 1.5L 1~99 min 1-99 times 100 bar 0# 8
(YCCB control)
Mounting types / Dimensions
A-TYPE B-TYPE unitmm
— QU (L-Bracket type) 1 (I}

i | I L} i : :

I | | [ | |

1 I I 1 Il I

il I I 1 I |

: ' | ] =

Ziall =

|
{

=z FILLING INLET
= 1/8PT
] 4-09 } q}
1 | : | h*
T L
e 156 I25 |£ 98 | 5
206 158
P i > -
EXHAUST QUTLET 1/8PT o [ 148 [ ] 31
I 1 I

Single cycle oil distributor

SD-6 SD-6S YSA-1

Model | A| B| C| D| E| F| G
SD-6,6S | 35 | 54 | 855| 15.6| 65.3| 10.1] 19

P168




COUNTER CONTROL BOX
FOR MSK-SERIES Yces

(= 4

POWER <f—‘“=\ uq?gEROUTPUT

(1.2) — SENSING SIGN
= (5,8)

FUSE
O O)
bl b
o | L

as~(| [0 6 © 6

¢ —

1 Power source adapter
1, 2: Power input 3, 4: Alarm power  5: Earth

2 Power out put

1, 2, 3: Motor power  4: Ccommon  5: A contact (normal closed) 6: B contact (normal open)

3 Operation

INT: For setting lubricating interval time, available from 1-99 minutes. 3. Alarm output circuit (Max.): 1A
CNT: For setting lubrcating frequency, available from 1-99 times. 4. Motor power (Max.): 3A
FEED: For manual lubrcating, push for discharge. 5. YCCB counter box is suitable for MSK series grease oiler
RST: For one cycle lubrcating, lubrcating frequency set by CNT. with SD-3%S distributor used, can precise control lubricating

1. Power: AC 110V/220V  50/60 HZ, single phase volume and prequency in each lubrication line. For machine

2. Overload fuse : 3A long machine life.

Unit:mm
142
4-p7
L 124 _ /
d] ==|
[ = % 'ﬂ I [k 106 =J_|
(=) )
=k OO ;
MIN NUM
INT CNT  FEED  RST
EB 16 | 100
& | -
] & +)
o~

YSA check box connecting

DRIVED BY MACHINICAL

The wire to output of YCCB:
4: C common

5: A contact (normal closed)
6: B contact (normal open)

P169




MOTOR OPERATED

INTERMITTENT AUTOMATIC

LUBRICATOR

How to order

KCMM-2 - 15 -6 - A1

1 2 3 4
1 Model KCMM-2: Normal type =~ KCMM-2A: With alarm system
2 Interval time 5, 10, 15, 30 minutes
3 Outlet port  4:4mm  6: 6mm
4 Voltage A1:AC110V  A2: AC220V
FEATURES:
1. Use the recommended oil only. (#M32 or #68)
2. The motor should be turned clockwise when looking
down through the upper side.
3. ltis fail to take off the locknut located at the upper side

of the instant feed button when making adjustment the
discharge amount of oil.

How to adjust discharge oil amount of automatic R *
intermittent lubricating pump: 2 mgz}um Standard
position
1. Fix the tip of piston rod (3%) by © screwdriver, and loosen locknut @O T 5.5cc
1. counter lockwise. — TS 777 45ce
2. Turn the connecting rod @ to set it at the standard position after loosening - \‘ 1 8.5cc
the locknut @) and fix it firmly in that position. ~ 2.5cc
3.  The graduation and discharge amount are shown in the diagram on the right.

KCMM-2F: With float switch

4. If the motor has not been used for long time, pull the
manual handle for 4 to 5 times before starting the motor,
don't try to force to push handle returns to its original
position when manual operation.

5. Clean the filter or replace it with a new one once a year

or more often.

Specifications

Interval Time Discharge Displacement Outlet Dia. . Weight
Model (minute) Pressure (bar) (cc/shot) (mm) Voltage Tank Vol. Effective Vol. (kg)
KCMM-2 5,10, 15, 30 25~3 25~55 o4 or g6 110V or 220V | 2000 cc 1800 cc 2.4
KCMM-2A 5,10, 15, 30 25~3 25~5.5 o4 or o6 110V or 220V | 2000 cc 1800 cc 25
KCMM-2F 5,10, 15, 30 2.5~3 25~55 24 or 06 110V or 220V 2000 cc 1800 cc 25
Holes for Unit:mm
f )} installation
(3 places)
Gl = S
T e ;_"_ i
Motor  Guiten L | 4|2
M . =l
ulv|ejoLfor Wiring | Q
ulv]efofoL Jeap n
f f l ‘ /.g _low level gil__
E— e .
Power Signal 1
input output R S

Drain plug

P170




ELECTRIC CONTROL
LUBRICATOR

3 Power voltage 01: 110V 02: 220V (50/60HZ)

5 With float switch (A, B contact)
7 With tank

Tank capacity (/) Tank capacity (/) Tank capacity (/) Tank capacity (/)
Tank Code Tank code Tank Code Tank code
Full Effective Full Effective Full Effective Full Effective
2P 2 1.8 4P 3.5 3.1 4A 3.5 2.8 8A 7.8 7.5
3P 2.6 23 3A 2.6 2.1 6A 6.2 5.1 128 11.5 9.8

Specifications

Motor (shield type)

Sensing Pressure

Woring (optional for 3FW, 3CFW)
Pressure
Voltage Current
AC110V or AC220V !
150W (50/60 HZ) AC250V 3A single 150 bar 12 bar 8 bar

Resisting type

Model Flow (Ipm) Volt Floating Switch Pres. Release Dev. Working Pres. (bar) Off Time Running Time
TM-301F 110V 0 1~10
PLC control PLC control
TM-302F 220V 0 X 1~10
0.24 or 0.34
TM-301CF 110V 0 X 1~10
1~99 min 1~99 sec
TM-302CF 220V 0 X 1~10

Pressure release type

Model Flow (Ipm) Volt Floating Switch Pres. Release Dev. Working Pres. (bar) Off Time Running Time
TM-301FW 110V 0 0 1~15
PLC control PLC control
TM-302FW 024 220V 0 0 1~15
TM-301CFW ' 110V 0 0 1~15
1~99 min 1~99 sec
TM-302CFW 220V 0 0 1~15

P171




ELECTRIC CONTROL LUBRICATOR

Description for control wiring

OPERATION WITH TIMER CONTROL

INT KEY: Intermittent time control key. Setting range 1~99 minutes.
DIS KEY: Running time control key. Setting range 1~99 seconds.
FEED KEY: Hand controlled oil discharge (Discharge will stop when the key is relased).
RST KEY: Hand discharge according to seconds set by DIS KEY.

Float Switch

FEED

ELECTRIC WIRING DIAGRAM
FOR TM-3F, FW

1, 3: Input power.
2, 3: Hand lubrication control.

Pressure Switch

4, 5: Floating switch. A or B contact. Max. current 250V / 0.1A.

AC
Powersource
R

INTERVAL  DISCHARGE

1
250V ~ 5A
T—CO 00—

2

Alarm

T3 T3 ALARM A

ViR SEC ouput __|, __ol CONTACT

INT  DIS FEED RST

5 1,

ELECTRIC WIRING DIAGRAM
FOR TM-3CF, CFW

1, 2: Input power.

3, 4: Alarm A contact output. Max. current 1A.
5 : Grounding

4, 6: Pressure sensor. A or B contact. Max. current 250V / 0.1A.

7 : Grounding

Dimensions

2 L ’ ™~ o -
1724304 (WITHOUT TIMER CONTROL) oo 1724204 (WITH TIMER CONTROL)
e g2 — Qi Inlet Port Wire " 124 Oil Inlet Port
Hole @ Pressure Eo.e Pressure
ij Gauge Fuse\/“iﬁmr = e Gauge
-t g g
1@ o7t et 196653 o7xe
Oil Inlet ORRet
. pZ
§
Filter Screen [ ] Filter Screen
Qil Drain Port Oil Drain Port . 1198 |
L5 A L5 v
(WITHOUT TIMER CONTROL) 1 (WITH TIMER GONTROL) |
A
IC Board 10
Wire G T
Fuse ©
Buzzer i
x
FlostSwich pteeoe 1 =—' | | Ml TN T\ 0
O Drain Port Filter Screen  praqq,re Regulation Button of Drhin Pu:'w Swilch  Fiter Screen  Pressure Regulation Button
L A o A
Tank Code | AxB (mm) |L (mm) | W (mm) | H (mm) Tank Code | AxB (mm) |L (mm) | W (mm) | H (mm)
T-3L 205 x 95 185 123 142 T-8L 336 x 110 320 173 172
T-4L 240x 110 220 130 154 T-10L 370x 110 320 180 150
T-6L 318 x 110 300 150 158 T-12L 386 x 110 360 230 152

P172




ELECTRIC CONTROL LUBRICATOR

stEtEc Ton  Houeew

Adjustable connectors

VA-(4~18) VB-(4~12) HEAARA
DB-(4A~12A) | ﬁﬁﬁﬁﬁo A8A0 @1 o8-0a F

) _ ©
[)E; (‘ll\f; 1:ZI\E;) CD <3;S2£CD CD E EEjCDCD CD CD CDC>
a5 ﬁﬁﬁﬁﬁ
C O

Rallalataf A eme

[ 1081 5 0 V1)

Constant volumetrical distributors
HA-(1~5Hole) 0.03°°~0.16°° HBL-(1~5Hole) 0.1°°~0.5

HB

on@30 e b D’ ’D O

HB

O

Hel] N @ D‘
= =

P173




ELECTRIC CONTROL LUBRICATOR

FEATURES:

1. Pressure output is adjustable to suit various machines
requiring proper pressure adjustment.

2. Equipped with an oil level sensor to detect the oil amount
in the tank. This provides fast response for proper
treatment.

3. An instant button allows for enough lubrication oil control
when the machine is just starting, preventing serious
friction.

4. Bottom oil suction complies with Pascal principle, which
not only upgrades oil outlet efficiency, but also helps to
remove air in oil hose.

APPLICATION INSTRUCTIONS:

1. The running of model TM-3F and 3FW can be controlled
by direct output from PLC or direct or indirect control
from external timer.

2. The models TM-3F and 3CF are available to equip with
VA, VB, DB-A or DB-AS type adjustable distributor and
resisting connector. They permit pressure adjustment
to a range of 3-5 bar. It is suggested to avoid too much
difference between connector flow specifications. The
suggested size combinations are (#0, #1, #2) and (#1,
#2, #3)

3. When model TM-3FW or 3CFW is equipped with pressure
release device, it is also available to use HA or HBL-
HBH type constant volumetric distributor. Upon request,
a pressure feedback sensor is available to confirm if
the circuit pressure reaches 15 bar standard pressure
or not. When using the pressure feedback sensor, it is
required to equip with a timer, so that a time delay will

NOTICES AND MAINTENANCE

1. Make sure your input power complies with that on the
pump.
2. When installing the pump, make wiring according

to the instruction manual to prevent damage on the
controller.

3. For safety's sake, the lubrication pump must be
properly grounded.

4. When filling oil into the tank, make sure the oil enters
through the filter screen to prevent oil circuit from
jamming.

5. Equipped with an oil pressure sensor for detecting the

following problems (8-12 bar for model TM-3FW and
TM-3CFW):

* Hose breakage:
Sensing by insufficient pressure in oil hose.

* Filter jammed:
Sensing by dirty oil or suction port jamming.

¢ Poor motor:
Sensing by insufficient motor speed.

¢ Insufficient oil pressure:
Sensing by old parts or insufficient output efficiency.

* No oil in tank:
Sensing by insufficient oil.

occur once the pressure switch is confirmed under
normal operation condition of timer. Instead, if pressure
can not reach the setting value within 60 seconds, it is
necessary to set alarm and turn power off. Then check
the problem accordingly.

. When model TM-3FW or 3CFW is equipped with

a volumetric distributor, it is necessary to use high
pressure hose to meet the high pressure operation.
This will ensure its outstanding performance.

. When the lubrication pump is used in various-

temperature areas, operator should pay attention to oil
viscosity variation due to temperature difference. Use
only correct grade of oil and pressure. For temperature
under 20°c, it is suggested to use ISO VG32 oil. For
temperature over 20°c, it is suggested to use ISO VG68
oil for proper viscosity.

. In case filter screen is jammed, clean it immediately to

ensure a proper filtration effect.

. Always keep the control circuit from oil or coolant or

contacting with any object to avoid damage.

. When filling oil into the tank, the oil amount should only

reach the oil level line to avoid over-flow.

. Keep the lubrication pump from bumping.

P174




OIL DISTRIBUTOR FOR ELECTRIC CONTROL

LUBRICATOR

Nos.of
port
DA-6, VA-6 6 48 36 16
DA-8, VA-8 8 64 52 32
DA-10, VA-10 10 80 68 48
DA-12, VA-12 12 9 84 64
DA-14, VA-14 14 112 100 80
DA-16, VA-16 16 128 116 9%
DA-18, VA-18 18 144 132 112
DB-4, VB-4 4 48 36 16
DB-5, VB-5 5 64 52 32
DB-6, VB-6 6 80 68 48
DB-7, VB-7 7 9 84 64
DB-8, VB-8 8 112 100 80
DB-9, VB-9 9 128 116 %
DB-10, VB-10 10 144 132 112
DB-12, VB-12 12 176 164 144
—Cc DB-4A (4AS) 4 48 36 16
DB-A ﬁ . DB-AS DB-5A (5AS) 5 64 52 32
ﬁ Eiﬁ ﬁ ﬁ ﬂ m DB-6A (6AS) 6 80 68 48
a® . R Sl DB-7A (7AS) 7 9% 84 64
-G agaale i DB-8A (8AS) 8 112 100 80
[T g 8 | DB-9A (9AS) 9 128 116 96
& & DB10A (10AS) 10 144 132 112
DB12A (12AS) 12 176 164 144
Proportional connector
PSS ” PST
- . Model PSS | PsT | PTS | PTT
\- / Displacement code o 1 2 3 4 5
M8 x 1.0 4oHex—" M8 x 1.0 M8 X197 onex Prie Ratio of flow 1 2 4 8 16 32
FLOW FLOW
IN M8x1.0 | Mex1.0 | PT1/8 | PT1/8
PTS PTT 23 Port size
8 ouT M8x1.0 | PT1/8 | M8x1.0 | PT1/8
Working pressure 1.5~20 bar
ot 1 AH_/ \Ma o ETR A)HB{/ \_PT e Oil viscosity ISO VG32~68 (40°C)

FLOW FLOW

Constant volumetrical distributor

P175

The inflowed oil in the distributor making the check valve open.

The oil inflow continually and make pressure rise also push the
piston valve move back then store oil and pressure.

The stored oil returning back to the low pressure inlet line when
pump stopped, it will cause check valve closed and the oil flow to
outlet port.

Model HA HBL

Numbers of port 1 2] 3] a5 1] 2]3[4]s

Displacement (cc) 0.03, 0.06, 0.10, 0.16 0.1,0.2,0.3,04,05

Min. working pressure (bar) 5 5
B | 24| 39| 54| 69| 84| 24| 39| 54| 69| 84

Dimensions (mm)

A 35| 50| 65| 80| 95| 35| 50| 65| 80| 95




